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EXCLUSIVE FOR CMA  SEASON 2
AKASH AGARWAL CLASSES HAS AWARDED
AIR1 witaA CAR

"In o wortd of COST AND MANAGEMENT ACCOUNT, AAC stand as the architect of
theousands of CMA students success story.

AAC is only Institute who has always taken a first step for producing successful CMA
students and making their parents proud.

First time in history of CMA AAC has conducted Two Successful award seasons for
the CMA students.

Now its your time to be the part of next AAC’s Award Function.....
# Be a proud AACIAN.....
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To acknowledge Hard work of AAC’S

Students, AAC presents the AAC’S

. | GRAND AWARD NIGHT
- Season 2

AKASH AGARWAL
- 1 .CLASSES

(ECToN W] 1NDIA’S ONLY EXCLUSIVE COACHING INSTITUTE FOR CMA
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AAC is the only institute who Exclusively guiding CMA students on the path te
excellence.

AAC’S CMA success stories speak for themselves. Join a community of achievers who
have excelled under the guidance of successful educators.

Reody to embark on a journey of excelience?

Enroll at Akash Agarwal Classes and be part of a legacy that celebrates success like
no other. Elevate your CMA preparation with oward-winning coaching, unmatched
faculty, and a community that celebrates every achievement.

# Be a proud AACIAN......
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"Beyond =Boundaries: Achieve, Celebrate,
Excel with Akash Agarwal Classes”
AAC’S GRAND AWARD NIGHT

Season 2

AKASH AGARWAL
CLASSES

(@i i%ii) TNDIA’S ONLY EXCLUSIVE COACHING INSTITUTE FOR CMA
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EXCLUSIVE FOR CMA  SEASON 2

The success baich of AAC

"Success Batch” - u specially crafted revision program brought to you by AKASH
AGARWAL CLASSES. With immense pride, we share the secret to our unprecedented
success: More than 1o All India Rankers in just one year produced by AAC with the help
of Sucecess batch & Consistence hard work for CMA students!

With the help of Success Batch you can Gain gccess to cutfing-edge study materials,
proctice exams, and comprehensive notes that will elevate your preparation to new
heights.

This Book which you got is alse a part of SUCCESS BATCH
T R



Transforming Aspirations into
Achievements, AAC is Exclusively for
CMA Excellence!

#% AKASH AGARWAL
® _ . _CLASSES

INDIA’S ONLY EXCLUSIVE COACHING INSTITUTE FORCMA

EXCLUSIVE FOR CMA  SEASON 2

Akash Agarwal Classes Has started a new pre-revision batch from 2023 named Ummed
bateh for CMA foundation & Super 50 Batch for CMA inter students on free on youtube.
In which AAC has covered so more than 500 questions in each subject which helped so
many students to gain cenfidence in CMA before Exam.

Message from Akash Agarwal Classes....
Dear Future CMA Professionals,
Are you ready to embark on a journey of academic excellence and career success? Akash
Agarwal Classes proudly presents an exclusive opportunity for all CMA aspirants - a
specialized program designed to unlock your full potential and guide you towards
attaining the esteemed CMA degree.
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AAC is only class Where Dedication gets
recognition!
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In our pursuit of nurturing brilliance and empowering dreams, we take immense pride
in introducing the "Grand Award Night season 2", This night was designed to honar and
reward the hard work and dedication of our exceptional students who have excelled in
their CMA exams.

Students who achieved on All India Rank in the CMA Inter Exam was awarded with
spectacular 251,000 cash prize. Their suceess story deserves to be celebrated, and AAC
is here to moke it unforgettable!

The journey to success is challenging, and conquering both groups of the CMA Inter
Exam is o testament to your perseverunce. We believe in acknowledging your
commitment, and that's why a commendable ¥31,000 cash prize awaits those who have
triumphed over both groups!

And for the AIR ¥ AAC has given a brand new Car...
€2 Your success is our pride! §2

— i




Zp | CMA STUDENTS AND TEAM AAC |
\ CELEBRATING SUCCESS OF CMA |
~ INTER CLEARED STUDENT IN GOA

FIRST TIME IN HISTORY OF CMA......
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e MEXT CAN BE YOU.

.| CMa STUDENTS AND TEAM |
AAC CELEBRATING SUCCESS |

\' / OF CM#A INTER CLEARED \ ’ /

STUDENT IN GOA

PROMISE MADE BY AKASH SIR IN
LAST SUCCESS BATCH IS DELIVERED
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Our students appreciation....

“HI St i youir successy batch student’
from Rajasthan ooy ke DT ko paper
o tho- apke MCQ, DR wimg apkes
thankyow alweyy for motivation and
suppovting us”

cma Aspirant Rohinj Sinha

“Sir, paper wageasy sir apke: |
Marathon re help kiye attempt karne |
ko, thank yow so- much”

Eo -ﬁ "¢ a3 |
M A,sp” ant !‘f_e? ti ihdr"la h

CMA Aspirant Mayank Puri

:

M am First of all need-to- thankyow
for Godayy paper. 10 way supey se
upar. .. yow are best mam:ibtha ey

lage poper cosiing fnvka...
thankyow yo- wuich mam”

“Hello mamny, I passed-this
atlempt with 328 mowks: I went
Tor expresy WMy snceve
apprecictionwto yow for
alwayy being ovailable to-
nal Singh

cA Aspirant M1

“How can I thankyou
sir.. no words Salory se
day lagto tha Lekin
wpne sikhawne ke baod:
I way falr Your frategy

completely worked. siv..
No- one can beat thiy

level ..your predictiony
up for Mot

CMA Aspirant Sagar



Our students appreciation....

“sir aap sirflaw gurwI nhi. DT ke bhi
mahow gurw ho.. Tharkyow God. blegzed me
with the best teacher in world: Concept
clavity, Revisions; siccess butohy
warathon, Mog,theery, praciical
everything... Thankyouw so- much’'

CMA Aspirant Anirudh

“Guyyjmtmapprecéaﬁowpo;t.l
| scored 68 Lwfin by just watching the
| revigion lecture twice and cleaved bot
- groupy inthe fint attempt. wir
L amaging mam thanks for such
| — incredilile work...”

“goodmorning mout:...L want to- Thank
whole AAC tean for the quality of
MAMQ’PFWMWO‘FWM

Thankyow so- maurch vy fna acha
s b revigiove keurwane ke liye..ur the
best maum saradoubt cleow hogya and.
sabr mein confidence aoraha
hai thankyow so much: aap best
ho man. loveyow

a“j al

CMA Aspirant ey

CMA Aspirant Priyanka

“hiomermy; I veally like
teaching of AAC....I
thought math iy o havd:
subect but ab-aap hoo
toh-darnhi-lagin.. . bt
cenfidence aaya hais
mathy ko leke:, billud bhi
bore nhi hotw lecture ke
time pe thankyow so-
nuich masAAC oy
grect . ..aapko jitna
thanks bolw uwtna ke
fromAwrengabad”




Words from
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Tear stidents,

Vou Viave emarked on a challevging and rewarding journey that will shape vour carcer and open doors
to excitivig epportunities.

As qour companion in Hais jourvey, T wawt +o share some words of advice and encouragement to vels
you vaviaate this rath suscessfully

1. Ewbrace the Learning Precess: The road +o becoming a CWMA is not easy, but remewmber that
learving 15 2 contivmous process. Embrace the subjects, reaulations, and professional ethics with
an open wind. Each challenge you overcome will makes vou stronger and wore knowledgeable,

2. Stay Committed and Distipliined: The CWA joitrney demands dedication and disciplive. There will
ve times wien vou feel overwhelmed, but remewber why you started and keep pushing forward.
Stay committed to vour studies and maintain 2 heatrly work-life balance.

%, Seck Guidavoe and Suppers: Don't hesitate +o seck auidance from us, whenever you feel stuck.
Their insightts and experiences can be a lot valuable in vour jourvey.

4, Persevere inthe Face of Challenges: At times, you wight face setvacks or encounter +ough
exawms. Stay resilient and persevere. Tt is v oversowing these obstacles that you grow both
personally and professionally.

5. Pevelor Seft Skills: Besoming a suscessfil CMA reduires ot only technical expertise but alse
strong communication, leadership, and wterpersonal skilis, Work on developing these seft shills
alovgside vour techmical mowledae.

¢. Iategrity and Ethics WMatter: As a future CMA, ntearity and ethics are of whwost iwportance.
Upreld Wigh ethical standards in all your professional dealings, and never compromise on yoar
priveiples.

7. BeResilient and Adaptable: The werld of flnance and acconnting is dynamic and ever-changing,
Be adaptable +o new techmologies, trends, and methodologies. Embrace change and see it as an
epportunity to grow,

@, Celebrate Yeur Achievements: Along the way, selebrate your achievements, no watter how simall
they may soewm. Recoaise your progress and use it as motivation 1o keep pushing forward,
Remember +hat the jeurney to becoming a CMA Ts as important as the destination. Emorace the
challenges, chnerish the learving experisvees, and stay passionate about yoiur chosen path, with hard
work, determination, and a Hhirst for knowledae, vou will achieve yeur goal and become o successful
CMA,

Wishing vou all the vest on your jourvey 7o excellence! AAC is atways there for vour help |
CA Shruti Agarwal



Cost accounting is the compass that guides busivesses m their parsuit of efficiency,
profitavility, and competitiveness. By dissecting the costs incurred during the
production process avd Tracing thewm across various activities, products, or services,
eost accounting offers invaluable insights that enabie nformed strategic choices.

This book of arcund 172 pages consisting of 14 Chapters And 246 Questions serves as
a comprehensive auide +ailored +o provide you with a profoand wderstanding of +he
fundamental principles and practical applications of cos+ actonnting.

It covers key topics such as Fundamentais of Cost Avcounting, Costing Methods, Cost-
Volume-Profit Analysis, Budgeting and Variance Analysis, Lost Allocation and Joint
Products ete.

This book has been brought toaether using TCMAT Wedule, Past Year Papers, Revision
Test papers and different reference books.

Key Features of this Book:
1. Covers both theory and practical sams,
2. Tabular presentation of Subject WMatter
3. Use of simple and coucise language for easy and quick understanding
4. Covers mstitute’s study material
5. Logical arrangement of +opics

Cost accoumting is ot Just about vumbers; it's about driving efficieney, optimizing
resoarses, and fostering growth, So, embark ov this journey with an induisitive
wind and a thirst for understanding, as we anravel the complexities of cost
accounting teaether.

Akash Agarwal classes



Akash Agarwal Classes

CMA INTERMEDIATE

Paper- 8 Cost & Management Accounting

- CHAPTER CHAPTER NAME: NO OF PAGE
NO: QUESTIONS NO:
Cost Sheet 13 1-1
Operating Costing 18 12-28
Material Costing 30 29-43
Labour Costing 23 44-52
Overhead 21 53-68
Job And Batch Costing 7 69-72
Contract Costing 15 73-84
Joint and By Product 8 85-90
Process Costing 18 91-103
Reconciliation of Cost and 8 104-110
Financial Accounts
Integrated and Non- 7 111-131
Integrated Accounting
Marginal Costing 42 132-149
Standard Costing 12 150-154
Budget and Budgetary 23 155-172
Contro!

.1
2
)
4
5
6
7
8
9
10

TOTAL 245

CONTACT: 8007777042/043
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Quesﬁ on 1

The Funsung Ltd. submits the following information for current year:-
Sales for the year 2,75,000 Direct labour
| Inventories at the Factory overhead was 60%
beginning: 7,000 of the
Finished goods direct labour cost

Work-in-progress 4,000
Purchases of materials | 1,20,000 Inventories at the end of
the year:

Work-in-progress

Finished goods

Materials inventory: Other expenses for the

at the beginning of the year:

| year Selling expenses 10% of

at the end of the year sales

Administrative expenses 5%
Of sales

| Required: Prepare a Statement of Cost and Profit & Loss Statement,

| Question 2 HOMEWORK SUM Date:

From the following information, prepare u statement showing the cost & the profit
per unit & in total:

1. Cost of materials @ Rs. 13 per unit.

2. Lahour cost @ Rs. 7.50 per unit.

8. Factory overheads are absorbed @ 60% of labhour cost.
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4. Administration averheads are absorbed @ 20% of factory cost.
5. Selling overheads are charged @ 2.50 per unit sold.

8. Opening stock of finished goods - 500 units @ 19.75

7. Closing stack of finished goods - 250 units

8. Sales ~10250 units at profit of 20% on sales.

Guestion 3
The books of Jonny Ltd. present the following data for the month of March;
1. Balence

1st Maich (Rs.) | 31st March (Rs.)
Raw material 8,000 8,600

Work-in progress | 8,000 12,000

Finished Goods | 14,000 18,000

2, Raw material purchased Rs. 36,000,

3. Direct iabour cost Rs. 16,000 (260% of factory overheads).

4. Selling Expenses Rs. 3,400

5. Administrative Expenses Rs. 2,600 (including Rs. 800 us abnormal eost).
6. Sules Rs. 75,000

Required:- Cost sheet for the month of March?
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GQuestion &

The Budget Controller of PCT (Exam.} Ltd. a Manufacturing Organisation
producing three products has compiled the following data for the preparation
of the annual budget for the next year.

Price /Kg. | Product A | Product B | Product C

Raw Materials Rs. _
RM 1 5 1 6 12
RM 2 2 6 - 14
RM 3 3 6 10 2
Direct Labour: Rate/Hour Hours Per
unit
Dept. 1 2 4
Dept. 2 4
Dept. 3 4 5
Factory Overheads Variable 8

Rs. / Unit

Sales Value (Rs. Lacs)
Opening Stock of Fished
Goods (units)
Fixed Factory Overheads
Rate Per Direct Labour Hour
Dept 1 Rs. 5 9 4
Dept 2 Rs. 3 3 4
Dept 3 Rs. 6 2 5
The following policies have been laid down for the budget year -
. Fixed Factory Overheads will be absorbed on Direct Labour Hour basis.
. Administration Gverheads are absorbed at the rate of 20% of Factory Cost.
. Selling and Distribution Overheads (one-third variable) are recovered at the

rate of 25% of the cost of production including Administration Overheads.
. 8elling Price Per Unit: Product 'A’ Rs. 231, Product 'B' Rs. 306, Product 'C’ Rs.

351
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5. Inventories of Finished Goods will be reduced by 25% at the end of budget
year

8. The Finished Goods lnventories are valued on margiral cost basis. The
marginal costs of the apening stocks in the beginning of budget year were:
Product ‘A’ Rs. 80, Preduct 'B' Rs. 120 and Product 'C Rs. 140.

Required: Prepare Statement of Product wise Total Cost and Profit for the
budget year.

Questions HOMEWORK SUM  Date:
From the foliowing information, prepare a statement showing the cost and profit
per unkt.

1. Direct material consumed Rs. 4,00,000
2, Direct lahour 40% of direct material
cost
' 8. Direct é)}p_enses ) _- 0% of dlrecf lubour cost
| 4. Factory overheads 25% of prime cost |
5. Adm. expenses have been absorbed @ Rs. 150 per 10 units produced.

6. Selling & distribution expenses have been applied @ Rs. 500 per 100 units
sold.

7. Opening finished Stock 800 units @ Rs. 85.50 per
unit

8. Closing finished Stock 400 units

9. Finished goods sold 16,400 units
10, Profit 1/8th of sdles
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Taki Taki Ltd. Provides you the following information:

Chakes Co R CMAINTER- COST SHEET

Production Capacity 33-1/3% 50%
Sales (units) 9,000 15,000
Production (units 10,000 15,000
Divect Material 1,10,000 1,65,000
Direct Labour 1,80,000 2,30,000
Production Overkeads (including depreciation) 1,10,000 1,25,000
Depreciation on Production Machinery 20,000 20,000
Administrative Expenses 20,950 20,950
(related with production 20,950 activity)

Selling & Distribution Expenses 38,000 50,000

were Rs.7,20,000.

dre expeeted to increase by 20%.

1. Variable labour cost becomes 50% higher for activity in excess of 19,000
units due to the necessity for overtime working.

2. The variable element of selling and distribution expenses is a function of
sales. All ather costs with a variable element ure a function of production
volume. During the previous year, All goods produced were sold @ Rs. 40

3. During the next year, Selling price is expected to decrease by 5%, Direct
Material price is expected to increase by Rs. 1 per unit with 5%
inefficiency (wasting allowance), Direct Wage rate is expected to increase
by 12-1/2% with 25% increase in productivity of variable labour input,
Fixed Production Overhecds and Fixed Selling and Distribution Overheads

Required: Prepare a Statement of Cost and Profit for the next year if Sales and
Output are expected to Increase hy (a) 1000 units, and (b) 50%
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Question 7

A manufucturing company has an installed capacity of 1,50,000 uaits per

annum. {ts cost strueture s given helow:

Particulars

RS

(i) Variable cost per unit

Muaterials

10

Labour (subject to @ minimum of Rs. 1,00,000 per monih)

10

Overhewds

)

{in) Fixed overheads per annum

1,92,300

(i}i) Semi-variable overheads per annum at 75% capaeity (it wil
increase by Rs. 4,000 per annum for increase of every 8% of the
capacity utilisation or any part thereof)

60,000

The capacity utilisation for the next year is hudgeted at 75% for first three

months,80% for the next six months and 90% for the remaining three months.

Requirved: If the company is planning to have a profit of 20% on the selling
price, calculate the selling price per unit for the next year.
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Question § ~

The following figures are extracted from the Trial Balance of Panky Ltd. on 31st

March:
Inventories: Rs. Rs.
Finished stock 80,000 |indirect labour 18,000
Raw materials 1,40,000 |Factory supervision 10,000
Work-in-process 2,00,000 | Repairs and upkeep-factory 14,000
Office appliances 17,400 Heat, light and power 65,000
Plant & machinery 4,60,500 | Rates and taxes 8,300
Buildings 2,00,000 | Miscellanecus factory expenses | 18,700
Sales 7,868,000 | Sales commission 33,600
Sales return & rebates | 14,000 Sales travelling 11,000
Materigls purchased 3,20,000 | Sales promotion 22,500
Freight incurred on 16,000 Distribution dept. Salaries & 18000
matericl expenses
Purchase returns 4,800 Office salaries and expenses 8,600
Divect labour 1,860,000 |!Interest on borrowed funds 2,000

Further details are available as follows:
(i) Closing Inventories: (il) Depreciation to be
~ provided

Finished goods 1,215,000 | Office appliances 5%
Raw materials 1,80,000 Plant and machinery 10%
Work-in-process 1,92,000 | Bufldings 4%
(if) Accrued expenses
Direct labour 8,000
Indirect lahour 1,200
Interest on borrowed funds | 2000

Distribution of the following costs:

Heat, light and power to factory, office and selling in the ratio 8:1:1. Rates and

taxes two-thirds to factory and one-third of office. Depreciation on buildings to
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factory, Office und selling in the ratio 8:L1.
With the help of the above information, you are required to prepare «

condensed Profit and Loss Statement of X Lid. for the pear ended 313t March
along with the schedules showing(i) Cost of sales (i) Selling and distribution
expenses (iiDAdministration expenses.

Question 8 " HOMEWORK SUM Date:
‘ From the following information, prepure a statement showing the cost and
profit.
Opening Closing
Raw Muatericls: Rs. 29,500 Rs. 36,000
[ Work-in-progress:
Materials 13,600 12,000
Wages 11,000 16,500
Works overheads 8,600 9,900
{ Finished Goods: 200 units @ Rs. 84 1600 units
| 1) Purchases of raw material Rs. ,90,000, Carriuge on pu rehases Rs. 1,500
| Sale of scrap of raw materials Rs. 5,000.
2) Wages Rs. 2,97,000. ,
| 3) Works overheads are absorbed @ 80% of direct labour cost.
| &) Administration ﬂverheads are absorbed @ Rs. 12 per unit produced.
| 5) Selling & distribution overheads are absorbed @ 20% of sales.
6) Sales - 7600 units @ at q profit of 10% on sales price.

Guestioh 10

Caleulate Conversion Cost ini each of the following alternative cases:

Case (a) Direct Labour Cost Rs. 3,00,000, Direct Expenses Rs. 2,00,000
and Factory Overheads Rs. 1,00,000

Case (b) Factory Cost Rs. 10,00,000 and Direct Material Cost Rs. 4,00,000
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Question 11

The books of Bala Manufacturing Company present the following data for the
month of April:

Direct labour cost Rs. 17,500 being 175% of works overheads.

Cost of goods sold Rs. 56,000 Exeluding Admin Expense

Inventory accounts showed the following opening and elosing balances

Particulars April 1 April 30
Rs. Rs.

| Raw materials 8,000 10,600
Works-in-progress 10,500 14,500
Finished goods 17,600 ‘ 19,000

Other data dre:
Selling expenses

Required: General and administration (i) Compute the value of
materials | expenses purchased, (1) Prepare a ||

cost Sales for the month statement showing the
various elements of cost and also

the profit earned.
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Question 12 HOMEWORK SUM Date:

From the following informatian, prepare a statement showing cost and profit per
unit:

Direct muterial Rs. 45,000

Direct lahour 33-1/3% of direct material cost.
Direct expenses 20% of direct material cost and direct labour cost.
Factory overheads 1/9th of prime cost.
Adm. & Expenses 25% of works cost
Seiling & Distribution Expenses 10% of cast of goeds sold.
Units produced 100

Units remain unsold 10% of units produced

Profit 1/6th of sales.

Question 13 HOMEWORK SUM Date:
Joker Ltd. Co. has a capacity te produce 1,00,000 units of the product every
month. 18 works cost at varying levels of productions Is as under:

Levels Waork cost per unit (Rs)
10% 400
20% 330

30% 380

40% 370

50% 340

60% 330

70% 340

80% 330

90% 320
100% 410
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lts fixed administration expenses umount to R$.1,50,000 p.m. and fixed
marketing expenses amount to Rs.2,50.000 p.m. respectively. The variabie seliing
costs amounts to Rs.30 per unit, A

It can market 100% of its output at Rs.500 per unit provided it incurs the
foilowing further expenditure :

() it gives gift items costing Rs.30 per unit of sale;’

(b) it has lucky draw every month giving the first prize of Rs.50,000; 2nd prize
of Rs. 25,000; 8rd prize of Rs.10,000 and three consolation prizes of Rs. 5,000
each to customers buying the product.

(e} It spends Rs. 1,00,000 on refreshiment served every month to it customers
(d) it sponsers a television programme every week at the eost of Rs. 20,00,000
per month. It can market 30% of its full capacity output at Rs.550 per unit
without Incurring any of the expenses referred to in (a) to (d) above. Prepare
cost sheets to compute the amount of profit at 30% and 100% capacity.
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Guestion 1

Caleulate total passengers km from the following infarmation:

Number of huses 8, number of days operating in @ month 25, trips made by each bus
per day 8, distance covered 20 km (one side), capacity of bus 40 passengers, normally
80% of capacity utilization.

Question 2

A lorry starts with a load of 24 tonnes of goods from station A. It unioads 10 tonnes at
station B and rest of goods at station C. It reaches hack directly to station A after
getting reloaded with 18 tonnes of goods at stetion C. The distance between A to B,

B to C and then from C te A are 270 kms, 150 kms and 325 kms respectively

Compute 'Absolute tonnes km,' and 'Commercial tones-kim'

QHESﬁOH 3

talli tremsport company has 20 vehicles, which capacities are as follows:
No of Vehicles Cupacity Per Vehicle
5 9 tonne

6 12 tonne
7 15 tonne
2 20 tonne

The company provides the goods transport service between stations 'A' to station 'B'
Distance hetween these stations is 200 kilometres. Each vehicle makes one round trip
per day an average. Vehicles are loaded with an average of 90 per eeat of capacity
ot the time of departure from station ‘A’ to station ‘B and at the time of return baek

- loaded with 70 per cent of capacity.
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]» 10 p_e; cent of vehicles are lald up for re}:c_lirs every_a_c_ay._ Thé_f'tiilfﬁiv‘ing
information are related o the month of October, 2013:

|
Salary of Transport Manager Rs. 30,000 !
Salary of 30 drivers Rs.4,000 each driver |
Wages of 25 Helpers R8.2,000 each helper |
| Wages of 20 Labourer Rs.1,500 each labourer
. | Consumable stores Rs.45,000 |
Insurance (Annual} Rs, 24,000 |
Road Licence (Annual) Rs.60,000
| | Cost of Diesel per litre Rs.35
. | Kilometres run per litre each vehicle 5 Km.
i Lubricant, Oil ete, Rs.23,500
Cost of replacement of Tyres, Tubes, other parts Rs. 1,25,000
Garage rent (Annual) | Rs.90,600 l
Transport Technical Service Charges Rs.10,000 f
|| | Eleetricity and Gas charges ‘| Rs. 5,000 |
| Depreciaticn of vehicles | Rs.2,00,000

There is a workshop attached to transport department which repairs these vehieles
| and other vehicles also. 40 per cent of transport manager's salary in debited to the
workshop. The transport department is charged Rs. 28,000 for the service rendered |
by the workshop during October, 2013. During the month of Octcher, 2013
operation was 25 days. |
You are required:
. (D Calculate per ton-km operating cost. |
- {ii) Find out the freight to be charged per ton-km, if the company earned a profit
__0f 25 per cent on freight.
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r Qﬁsﬁon 4

i
Munna compuany is considering three aiternative proposals for canveyance facilities |
for its sules personnel whe hus to do considerable travelling, approximately 20,000
kilometres every year. The proposals are as {olfows:

{1) Purchase and maintain its own fleet of cars. The average cost of a car is Re.
|

6,030,000 |
(2) Allow the Executive use his own car and relmhurse expenses at the rate of Rs 10 |
per kilometre and also bear  insurance costs. |
(8) Hire cars from an agency at Rs. 180,000 per yeur per car. The company will have |

to bear costs of petrol, taxes and tyres. !
The following further details are available: |
Petrol Rs. 6 per kin Repairs and Maintenance Rs. 0.20 per km t
!

|

Tyre Rs. 0.12 per km. Insurance Rs.1,200 per car per annum
Taxes Rs. 800 per cur per | Life of the car : 5 years with annua! mileage of 20,000
anaum kim.

Resule value R3.80,000 at the end of fifth year.
~ Work out the relative costs of three pmposals and rank them.

mnma=— |

Question 5

BEENA transport company has a fleet of three trucks of 10 fonnes capacity

each plying in different divections for transport of eustomer's goods. The trucks
pun loaded with goods end return empty. The distance travelled, number of trips ||

" made and the load carried per day by each truck are as under:

Truc] Oneway | No. of trips per da| Load carried per telp /day tonnes
No.| Distance

Kim

16

40
30
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[ The analysis of maintenance cost and the total distance travelied during the last two

Year | Total distance travelled Maintenance Cost Rs.
1 1,860,200 48,050
2 1,56,700 " 45,175

The following are the detalls of expenses for the year under review

Diesel Rs. 10 per litre. Each llire gives 4 km per litre of diesel
on an averdge :

Driver's salary R$.2,000 per month

Licence and taxes Rs. 5,000 per annum per truck

lnsurance Rs. 5,000 per annum for ail the three vehicles

Purchase Price per | Rs.3,00,000, Life 10 years. Scrap vaiue at the end of life

truck is Rs. 10,000

Oil and sundries Rs. 25 per 100 km run,

General Overhead | Rs. 12,084 per annum

The vehicles operate 24 days per month on an average.

Required

(i) Prepare an Annhual Cost Statement covering the fleet of three vehicles,

(ii} Calculate the cost per km. run,

(ith) Determine the freight rate per tonne kin. to yieﬁl_ a profit of 10% on freigh




CAAKASH N\ CA SHRUTI CMA INTER-
AGARWAL AGARWAL OPERATING CCSTING

Question § HOMEWORK SUM Date:
You have heen given  permit to run @ bus on a route of 20 km. long. The bus costs
you Rs. 8,00,000. it has to be insured @ 3% p.a. and the annual tax will be Rs. 10,000
Garage rent Is Rs. 10,000 p.m. Anaual repairs will be Rs. 10,000 and the bus is likely
to last for 5 years and at the end of which the scrap velue is likely to be Rs. 60,000.
The driver's salary will be Rs. 1,500 p.m. and the conductor's Rs. 1,000 tagether with

| 10% of the takings as commission (to be shared equally by both). Stationery will cosf
Rs. 500 p.m. The manager-cum-accountant's salary will be Rs. 3,500 p.m. Diesel and
oil be Rs. 450 per hundred km. The hus will make 8 round trips for earrying on the
average 40 pussengers on each trip. Assuming 15% proflt on takings, caleulate the
bus fare to be charged from each passengers. The bus will work on the average 25
days in a month,

I ‘;‘

Guegtion 7

I

|| A mini-bus, having a capacity of 32 passengers, operates hetween two places-'A" |
|| and ‘B The distance between the place ‘A’ and place 'B' is 80 km. The bus makes 10 |
| round trips in a day for 25 days in a month. On an average, the occupaney ratio is |

| 70% and is expected throughout the year. The details of other expenses are as
under:
| Amount {Rs.) i
i Insurance 15600 | Per annum o }
|| | Garage Rent 2,400 Per guarter sse |
| Road Tux 5,000 Per annum ng |
Repuirs 4,800 Per quarter er |
I Salary of operating staff 7,200 Per month X |
| Tyres and Tubes 3,600 Per quarter f)z ;
Diesel: (one litre is consumed for every 5 km) |13 Per iitre Y |
Oil and Sundries 22 Per 100 km run | OR
Depreciation 68,000 Per annum :;f |
taking is to be levied and bus operator requires a profit of 25% on total taking. :
Prepure operating cost statement on the annual basts and find out the cost per |
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i passenger kilo meter and one way {are
|| per passenger.

Question 8

|| on rent for elties Delhi, Agra and Jaipur to the tourists. To attract more tourists it
| || has launched a new three days tour package for Delhi-Juaipur-Agra-Delhi.
| Following ave the relevant information regarding the package

; Distance between Delhi and Jaipur (km) 274
|| Distanee between Delhi and Agra (ki) 242
| || | Distance between Agra and Jaipur (km) 238
| Price of diesel in Delhi Rs. 54 per litre
: j Price of diesel in Jaipur Rs. 56 per litre
| Price of diesel in Agra Rs. 58 per litre
Mileage of eab per litre of diesel (Km.) 18
| Chauffeur's salary Rs. 12,000 per month
| Cost of the cab Rs. 12,00,000
| | Expected life of the cab 24,00,000kms.
]’ Servicing cost Rs. 30,000 after every 50,000
I Rilometres run.
', Chauffeur's meal allowance Rs. 50 for every 200 kilometres of
| | completed
| Journey
| Other setup and office cost R8. 2400 per month

| | LALA Cabs has made tie-up with fitel service centres at Agra, Jaipur and Delhi to fill
diesel to its cabs on production of fuel pussbook to the fuel centre. Company has a

|| policy to get fuel filled up sufficient to reach next destination only.

|| You ave required to calculate the price inclusive of passenger tax @ 12.96% to be

1

|quoted for the package if company wants to earn profit of 25% on its net takings fe.

LALA Cabs Pvt. Ltd. is a New Delhi based cab renting company, provides cab factlity

I
|
[
!.
I
|
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exciuding pussenger tax.

|| Question 9
| | PEG iz a Public School having 25 buses each plying in different divections for the
| transport of its school students.
In view of large number of students avalling of the bus service, the buses work twe |
shifts dally both in the morning and in the afternoon. The buses are garaged in the |
sehool. The workioad of the students has been so arvanged that in the morning the
first trip picks up senior students and the second trip plying an hour later pick a up
Jjunior students. Similarly, in lorrylthe afternoon, the flrst trip takes the junior student |
and an hour later the second trip takes the senior students home. |
The distance travelled by each bus, one way is 16 km. The school works 24 days in «
month and remuins closed for vacation in May ard June. The bus fee, however, ig
payable by the students for all the 12 months in a year.
The details of expenses for the year 2013-2014 are as undet:

Driver's salary payable for all the 12 months. | Rs. 5,000 per month per driver
Cleaner's salary Rs.3,000 per month
(Satary puyable for all 12 months)
(One cleaner employed for all the five buses)
Licence fee, taxes, etc. Rs.2,300 per hus per ghnum
lnsurance Rs. 15,600 per bus per gnnum
Repcirs and maintenance Rs. 16,400 per bus per annum
Purchase price of the bus Rs. 16,50,000 each
Life of each bus 16 vears
| | 8crap value of buses at the end of life Rs. 1,50,000
| | [ Diesel cost Rs. 18.50 per litre

Each bus gives an average of 10 k. per litre of diesel. The seating capacity of each
bug is 60 students. The seating capacity is fully occupied during the whole year.
The school follows differential hus fees based on distance travelled as under:

Students picked up and Bus fee Percentage of students

dropped within the range of availing this faeility
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_EDUCATION 15 MIWEHR

distance from the school

—————

4 km 25% of Full 15%

8 km 50% of Full 30%

16 km Full 5359%

‘of 25 busges for a year.
(ity Work out average cost per student per month in respect of:

L Cost of the bus

Ignore interest. Since the hus fees has to be based on average cost, you are required

to
(DPrepare a statement showing the expenses of operating a single bus and the fleet

(a) Students coming from a distance of upto 4 km. from the school.
(b) Students coming from a distance of upto 8 km. from the school: and
_ (o) Students ecoming from a distance of upto 18 km. from the school.

Question 10
Mr. Funsung owns a bus which runs according to the following schedule:
a) Delthi to Chandigarh and back, the same day.

Distance covered : 250 km. ohe way.
Number of days run each month : 8
Seating capacity occupied : 90%

(b} Delhi to Agra and back, the same day.

Distance covered : 210 km. one way
Number of days run each month : 10
Seating eapacity occupied : 85%

(¢) Delhi to Jaipur and back, the same day.

Distance eovered : 270 kin. one way |
Number of days run each month : 6 -
Seating capacity occupied : 100%

Following are the other details:

Rs. 12,00,000
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j Salary of the Driver Rs.24,000 p.m.
Salary of the Conduetor - Rs.21,000 p.m
Salary of the part-time Acecountant | Rs.5,000 p.m.
Insurance of the bus Rs.4,800 p.a.
Dlesel consumption 4 km. per litre at Rs.56 per litre
Roud tax Rs. 15,915 p.a.
Lubricant oil Rs. 10 per 100 km.
Permit fee Rs.315 p.m
Repuirs and maintencnee Rs. 1,000 p.m.
Depreclation of the bus @ 20% p.a.
Seating capacity of the bus 50 persons

Pussenger tax is 20% of the total takings. Calculate the hus fare to be charged ‘[l
from each passenger to earn o profit of 30% on total takings. The fares are to |
i

be indicated per passenger for the journeys:

1) Delhi to Chandigarh
2) Dethi to Agra and
ipur

Quegtion 11

Tripathl transport company has heen given u 40 kilometre long route to run 5
huses, The cost of each bus is Rs. 8,50,000. The buges will make 3 round trips per
day caerying on an average 80 percent passengers of thelr seating eapacity. The
seating

capacity of each bus is 40 passengers. The huses will run on an averuge 25 days
in o month. The other informatian for the year 2013-14 are given below:

Gurage rent Rs.4,000 per month
Annual repairs and maintenance Rs.22,500 each bus
Salaries of § drivers Rs. 3,000 each per month
Wages of 5 conductors Rs.1,200 each per month
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P Manager's salary Rs.%,soo per month ]
1 Road tax, permit fee, etc. Rs.5,000 for a quarter
| Office expenses Rs.2,000 per month
/H Cost of diesel per litre Rs.33 |
|' Kilometre run per litre for each but 6 kilometres |
Annual depreciation 15% of cost |
i Annual Insurance 8% of cost !
|

| You are required to caleulate the bus fare to be charged from each passenger per
kilometre, if the company wants to earn profits of 83 1/3 percent on taking (total
_receipts fram passengers).

|
1L ots ! e e Ry

| B

Question 13 HOMEWORK SUM Date:

TOKYQ is a public schoo! having five buses each plying in diffevent directions for
the transport of its school students. In view of a larger number of students
availing of the bus service the buses work two shifts daily hoth in the morning
and in the afternoon, The buses are garaged in the sehool. The work-load of the
students has been so arranged that in the morning the first teip picks up senior
students and the second trip plying an hour later picks up the junior students.
Similarly in the afternoon the first trip takes the junior students und an hour
later the second trip takes the senior students home.

The distance travelled by each bus one way is 8 km. The school works 25 days in
a month and remains closed for vacation In May, June and December. Bus fee,
however, Is payable by the students for all 12 months in a year.

The detuails of expenses for a year are as under:

Driver's salary Rs.4,500 per month per driver
Cleaner's salary R8.3,500 per month

(8aiary payable for all 12 months) :
(One cleaner employed for all the five buses)
Licence fee, taxes, ete. R8.8,600 per bus per arnum
Insurance Rs. 10,000 per bus per annum Il

21
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Repairs and maintenance R8.35,000 per hus per annum
Purchase price of the bus Rs. 15,00,000 eqch

Life of each hus 12 years

Scrup value of buses ct the end of life Rs.3,00,000

Diesel cost Rs.45.00 per litre

Each hus gives an everage milenge of 4 km. per litre of diesel. Seating capacity

of euch bus is 50 students. The seating capacity is fully occupied during the

whole year, \

Students picked up and dropped within a range upto 4 km, of distance from the

school are charged half fare and fifty per cent of the students travelling in each

irip are in this category. lgnore interest. Since the charges are to be based on

average cost you are required to:

(DPrepare u statement showing the expenses of operating a single pus and the
fleet of five buses for u year. .

{i) Werk out the average cost per student per moath In respect of -

(A) students coming from a distance of upto 4 km. from the schoel and
(B) students coming from a distance beyond 4 km. from the school.

Question 13 HOMEWORK SUM  Date:
The foliowing information relates to a bus operator:
Cost of the bus Rs. 18,00,000

Ingurance charges 3% p.q.
Manager-cum vecountant's salary Rs. 8,000 p.m.
Annual Tax fs. 50,000
Garage Rent Rs. 2,500 p.m.
Annual repair & maintenance Rs. 1,50,000
Expected life of the bus 15 years
Scrap value at the end of 15 years Rs. 1,20,000
Driver's salary R3.15,000 p.m.
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Conductor's salary | Rs. 12,000 p.m.
Stationery Rs. 500 p.m.
Engine otl, lubricants (for 1200 km.) Rs. 2,500

Diesel and oil (for 10 km.) Rs. 52
Commission to driver and conductor 10% of collections
(shared equally) '

Route distance 20 km long

The bus will make 3 round trips for carrying on the average 40 passengers in each
trip. Assume 15% profit on collections. The hus will work on the average 25 days in
a month. Caleulate fare for passenger-km

Quesfign 14

| Alodging home Is belng run in a small hill station with 200 single rooms, The home |

. offers concessional rates during six off-season months in a year. During this

| period, haif of the full room rent is charged. The management's profit margin is

| targeted at 20% of the room rent. The following are. the cost estimates and other

details for the year ending on 31st March 2017,

[Assume o month to he of 30 days).

() Occupancy during the season is 80% while in the off-season it is 40%only.

(i) Total investment in the home is Rs.200 lakhs of whick 80% relate to buildings

and balunee for furniture and equipment.

|| (ii} Expenses:

- Staff salary (Exeluding room attendants) : R8.5,50,000

|| Repairs to building : Rs. 2,61,000

| Laundry charges : Rs.80,000

| interior : Rs.1,75,000
Miscelluneous expenses : Rs.1,90,800

(iv) Annual depreciation is to be provided for buildings @ 5% and on furniture and

equipment @ 15% on strdight line basis.

(v) Room attendants are paid Rs. 10 per room day on the basis of occupaney of the

rooms in a month.

23
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(vi) Monthly lighting charges are Rs.120 per room, except in {our months in winter
when it is Rs.80 per room and this cost is on the basis of full sccupaney for a
month. You are required to work out the room rent chargeable per day both during
the seuson and the off-season months on the basis on the foregoing information.

uestf HOMEWORK SUM Date;

i Lalli company runs a holiday home for its customers. For this purpose, it has hired
a building at a rent of Rs. 10,000 per month aleng with 5% of total taking. It has
three types of rooms for its customers, viz, single room, dounle rooms und triple
rooms. Following infermation is given:

| Type of suite | Numbe| Oeeupaney

| percentuge
Single room | 100 | 100%

; Double room{ 50 80%

| Triple rooms | 80 60%

The rent of double rooms is to be fixed at 2.5 times of the single room und that of
triple rooms as twice of the double rooms.
The other expenses for the year 2013 ave as follows:

Partlculars Amount (Rs.
8taff salaries 14,235,000
Room attendants' wages | 4,50,000
Lighting, heating and powe| 2,15,000
Repgirs and venovation | 1,23,500

Laundry charges 30,500
Interior decoration (008 Provide profit @ 20% on total taking
Sundries 1,53,000 and assume 360 days In a year.

You are required to caleulate the rent

to be charged for each type of suite.
|

a S
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Questmﬂ 16

From the following information, calclafe Putient

Assume 365 days in o year.The Rent of semi-deluxe word bed is to be fixed at 3 times
of the general ward bed and that of deluxe ward bed as twice of semi-deluxe ward
bed.Desired Profit = 20% on total cost

Calculate rent to be charged for each bed day for different types of wards if Total
operating cost = 1368 Lacs
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Question 17 |

Gaitonde Hospital runs an intensive Medical Care Unit. For this purpose, it has hived
| abuilding at a reat of Rs. 5,000 p.m. with the understanding that it would bear the
|| repairs und maintengnce charges also.
|| The unit consists of 25 beds and 5 more beds can be eomfortably accommodated!
when occasion demands.
The permanent staff attached to the unit are as follows:
1 Supervisor, at a salary of Rs.1,000 p.m.
2 Nurses each at a salary of Rs 600 p.m.
1 Ward boy.at ¢ salary of Rs.300 p.m.

Though the unit was open for the patienis all the 365 days in a year, scrutiny of
accounts In 20X1 revealed that only for 120 days In the year, the unit had the 100% |
occupancy rate and for arother 80 days it had on an average 80%
oceupancy rate. But there were occasions when the beds were full, extra beds were
hired from outside at charge of Rs. 5 per bed per day and this did not come to more
heds extra above the normal capacity on any one day. The total hire charges for the
heds incurred for the whole year amounted to Rs. 2,000,
i The unit engaged expert dociors from outside to attend un the patients and the fees
were paid on the basis of the number of patients attended and time spent by them
and on an average worked gut to Rs. 10,000 p.m. in 20X1. The other expenses for the|
year were as under:

Particulars Rs.
Repairs and Maintenance 14,450

Food supplied to patients 44,000
Monitor and other services for them 12,500
taundry charges for their bed linen 28,000
| Medicines supplied 73,500

General administration charges allocated to the unit | 48,550 |

|| patient, what is the profit per patient made by the unit in 20X1?

| 8

| (D) If the unit recovered an overall amount of Rs. 100 per day on an average from each
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S——

(i) The unit wants o work on a budget for the year 20X2, but the number of patients
|| requiring intensive medieal care is a very uncertain factor.

|| Assuming that same revenue and expenses prevail in20X2, in the first Instance, work
out the number of patient-days required by the unit to break even. |

uest HOMEWORK SUM Date:

A Muitinational company runs a Public Medical Health Center. For this purpose, it

has kired a building at a rent of Rs.10,000 per month with 5% of total taking.

Health center has three types of wards for its patients namely. General ward,

Cottage ward and Deluxe ward. State the rent to be to each bed-day for different

type of ward on the charged to each basis of the following information,

i .The rumber of beds of each type is General ward 100, Cottage ward 50, Deluxe
ward 30.

i The rent of cottage ward bed is to be fixed at 2.5 times of the General ward bed
and that of Deluxe ward bed as twice of the Cottage ward bed

ftf. The occupancy of each type of ward is as follows: General ward 100%, Cottage
ward 80% and Deluxe ward 60%.

But, in General ward there were occasions when beds are full, extra beds were
hired at a charges of Rs. 20 per bed
per day. The total hire charges for the extra beds incurred for the whole year

amount to Rs.12,000.

v. The Health eenter engaged a heart specialist from cutside and on an average
fees paid to him was Rs. 15,000 per

trip. He makes three trips in the whole year.
v. The other expenses for the year were as under:

(Rs.)
Salary of Supervisers, Nurses, Ward Boys 4,25,000
Repairs and Maintenance s 80,000
Food Supplied to Patients 40,000
Laundry Charges for thelr Bed Linens 80,500
Salary of Doctors 13,50,000
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Medicines Supplied 74,000
Cast of Oxygen, X-Ray efc. 48,500
(other than dirvectly borne for treatment of Patients)
General Administration Charges 63,000

vi. Provide profit @ 20% on total taking.
vil. The Health eenter imposes 8% tax on rent received
viil. 360 days may be taken in year
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Quegtion 1
The annual carrying cost of material X' is Rs. 3.6 per unit and its total carrying cost
‘ i Rs. 8,000 per annum. What would be the Economie order quantity for material ‘X,

if'there is no safety stock of material X?

Question 2

The Lalu Gardener s deciding on the economic order quantityfor two brands of
lawn fertilizerSuper Grow and Nature's own. The followinginformation is collected:

Fertilizer
Super Grow Nature's Own
Annual demand 2000 bags 1,280 buys
Relevant ordering cost per Rs. 1,200 Rs. 1,400
purchase order '
Annual Relevant carrying cost Rs. 480 Rs. 560
per hag

Required: .

(1) Compute £0Q for Super Grow and Nature's own.

(") For the EOQ, what is the sum of the total annual relevant ordering costs and
total annual relevant carrying costs for Super Grow and Nature's own?

(iii) For the O, compute the number of deliveries per year for Super Grow and

Nature's own.

Guestion 3

| Sundavi Ltd, manufactures o product X which requires iwo raw materials A and B
| in a ratio of 1:4. The sales department has estimated a demandof 5,00,000 units
for the product for the year. To produce one unit of finished product, 4 units of
‘ material is required.
Stock position at the beginning of the year is as foliows:
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Product X - 12,000 un’iis
Material A - 24,000 units
Material B-52,000 units
To place an order the company has to spend Rs. 15,000. The Company is
financing its working capital using a bank cash credit @ 13% p.a.Product X Is
sold at Rs. 1040 per unit. Material A & B is purchased at Rs. 150 and Rs.200
regpectively.
Required:
Compute Economie Order Quantity (E0Q):

a) If purchase ovder for the hoth materials is placed separately,

b) if purchase order for the both materials is not placed separately.

Question 4 HOMEWORK SUM Date:

(1) Compute £.0.9. end the total variable cost for the following:

Annual Demand 5,000 units

Unit price Rs. 20.00

Order cost Rs. 16.00

Storage rate 2% per annum

Interest rate 12% per anuum

Obsolescence rate 8% per annum

(iiy Determine the total variable cost that would result for the items if an incorrect
price of Rs. 12.30 is used.

Question 5 HOMEWORK SiiM Date:

Jaanu & Company buys its annual requirement of 36,000 unitg in & instailments.
Each unit costs Rs. 1 and the ordering cost is Rs. 25. The inventory carrying cost is
estimuted at 20% of unit value. Find the total annual cost of the existing inventory
policy. How much money can be saved by Economie Order Quantity
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Question 6

Kamini Limited produces product M which has a quarterly demand of 8,000 . ‘
units. The product requires 8 kg. quantity of material X' for every finished unit
of product. The other information are follows: |

Cost of material X’ : Rs. 20 per ky |
Cost of placing an order  : Rs. 1,000 per order I
Carrying Cost : 15% per annum of average inventory I

You are required: ;
(@) Caleulate the Economie Order Quantity for material 'X.

(b) Should the company accept an offer of 2 percent discount by the supplier,
if he wants to supply the annual requirement of material ‘X' in 4 equal
guarterly installments?

Question 7 .
Basanti § Company supplies plastic erockery to fast food restaurants ‘
inmetropolitan city. One of its products s a special bowl, disposable after initial |
use,for serving soups to its customers. Bowls are sold in pack 10 pieces at a I
price of Rs. 50 per pack.The demand for plastic bow! has been forecasted at a |
fairly steady rate of 40,000 packs every year. The company purchases the bow! |
direct from manufacturer atRs. 40 per pack within a three days lead time. The
ordering and related cost is Rs. 8 per order. The storage cost is 10% per annum
of average inventoryinvestment. |
| Reguired: |
|| 1. Caleulate Economic Order Quantity.
2. Caleulate number of orders needed every year. |
8. Caleulate the total cost of ordering and storage bowls for the year. |
4, Determine when should the next order to be placed. (Assuming that the '
company does not maintain a safety stock and that the present inventory |
level is 333 packs with a year of 360 working days. |
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Question 8 HOMEWORK SUM Duate:

Ghungroo Lid. produces a product which has a monthly demand of 4,000units. The
product requires u component X which s purchased at Rs. 20. Forevery finished
product, ane unit of component is required. The ordering cost is Rs.120 per order
and the holding cost is 10% p.a. Vou are required to caleulate:

(i) Economic order guantity.

(iD) If the minimum lo¥ size to be supphed is 4,000 units, what is the extra cost, the
company has to incur?

(i) What is the minimum carrying cost, the company has to ncur?

Quegtion 9

Jonny & company has the option to procure u particuiar matertal from two
sources:

Source | assures that defectives will not be more than 2% of supplied quantity.
Source Il daes not give any assurance, hut on the basis of past experience of

supplies recelved from it, it is observed that defective percentage is 2.8%.

The material is supplied in lots of 1,000 units. Source tl supplies the lot at a
price, which is lower by Rs. 100 as compared to Source |. The defective units of |
material can be rectified for use at o cost of Rs. 5 per unit.

You are reqmred to find outwhich of the two sources is mere economical.

Question 10 HOMEWORK SUM Date:

A Campany manufuctures ¢ special product which requires a component ‘Alphd’,
The following particuiars are collected for the year2016:

(iy Annual demand of Alpha 8,000 units

(i) Cost of plucing an order ' R3.200 per order

(i) Cost per unit of Alpha Rs. 400

(iv) Carrying cost p.a. 20%

The company has been offered a guantity discount of 4 % on the purchase
of'Alpha’ provided the order size is 4,000 components at a time.

Required: (i) Compute the economic arder quantity

(ii) Advise whether the quantity discount offer can he accepted
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Question 11

ROTAD! Limited has recelved an offer of guantity discount on its or materials as
under:

Price per ton Ovder Size (in ton)

Rs. 3,600 Less than 50

Rs. 9,380 50 and less than 100
Rs. 9,120 100 and less than 200
Rs. 8,880 200 and less than 300
Rs. 8,640 300 and ahove

The annual requivement for the material i3 500 tons. The ordering cost per
order is Rs. 12,500 und the stock hoiding cost s estimated at 25% of the
material cost per annum.

Required:

1. Compute EGQ.

2. Compute the most economical purchase level.

3. Compute EOQ if there are no quantity discounts and the price per ton is

Rs. 10,500.

Question 12
Laila & company manufuctures o product from o raw material, which is
purchased at Rs.80 per kg. The company incurs a handling cost of Rs.360 plus
freight of Rs.390 per order. The incremental carrying cost of inventory of raw
| material is Rs.0.50 per kg, per month. In addition, the cost of working Capita!
finance on the investment in inventory of raw material is Rs. 9 per kg. per
annum The annual production of the product is 1,00,000 units and 2.5 units are
obtained from ore kg of raw material.

Required

| (D) Calenlate the economic order quantity of raw materials.

- (iiy Advise, how frequently should orders for procurement be placed.

| (i} Iif the company proposes to rationalize placement of orders on quarterly
busis, what percentage of discount in the price of raw materials should be

negotiated?
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Question 13
The quarterly production of « company's product which has a steady markei is
20,000 units. Each unit of a product requires 0.5 kg. of raw material. The cost of |
placing one order for raw material is Rs. 100 and the Inventory carrying cost is
Rs. 2 per annum. The lead time for procurement of raw material is 36 days and a
safety stock of 1,000 kg. of raw materials is maintained by the company. The
company has heen able to negotiate the following discount structure with tne
raw matericl supplier.

Order quantity (kg.) | Discount (Rs)
Upto 6,000 ~ NIL
6,001-8,000 400

8,001~ 16,000 2,000
16,001 - 30,000 3,200

30,001 - 45,000 4,000

Required : (i) Caleulate the re-order point taking 30 days in a month.

(i) Prepare a statement showing the total cost of pracurement
and storage of raw material after considering the discount of the company
elects to place one, two, four o six arders in the year.

Puestion 14
SAKI SAK! Ltd. produces a product ‘Exe' using a raw material Dee, Toproduce one
unit of Exe, 2 kg of Dee is required. As per the sales forecastcondueted by the
company, it will able to sale 10,000 units of Exe in the coming year.
The foliowing s the Information regarding the raw material Dee:
(i) The Re-order quantity is 200 Rg. less than the Economic Order Quantity.
(i) Maximum consumptlan per day is 20 keg. more tngn the average
consumption per day.
| (ili) There is an opening stoek of 1,000 kg.
|| (iv) Time required to get the raw materials from the suppliers is 4 to 8 days.
(v) The purchase price is Rs.125 per kg.
There is an opening stock of 900 units of the finished product Exe. The rate of

3
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[ interest charged by bank on Cash Credit fucility is 13.76%.

. To place an order company has to tncur Rs. 720 en paper and documentation
work. From the above information find cut the followings in relation to raw

‘ material Dee:
{(a) Re-order Quantity

|‘ (b) Maximum Stock level

. (e) Minimwm Stock level

(d) Calculate the impact on the profitability of the company by not ordering

“ EOQ.[Take 364 days for a year)

| Guestion 15 | t |
A company uses three raw materials A, B and C for a particular produet for which
the following data apply :-

| Raw Usage | Re- Price | Delivery period (in weeks) | Re Minimu
| Materia | per order | per order | m level
; ! anit of | quantit | (hg) level | (kg)

| preduc |y (kg) | (Rs) (kg)

t (kg

| Minimu | Averag | Maximu
‘ m e m

10 10,000 |010 |1 |2 3 2.000 | ?

4 5,000 030 |3 4 5 4,750 | ¢

1¢G,000 | 015 |2 3 4 Z 2,000
1 |
| Weekly production varies from 175 to 225 units, averaging 200 units of the said |
\ produci. What would be the following quantities:- |
1 Minimum Stock of A?
2. Maximum Stock of B? |
3. Re-order level of C?

4. Average stock level of A?

6
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[ Question 16 |
Following details are related to @ manufacturing concern: i
Re-order Level 1,60,000 units |
Economic Order Quanity 90,000 i
MInimum Stock Level 100000 units J
Maximum Stock Level 180000 units |
Average Lead Time 8 days |
Difference between minimum lead time end Maximum lead time 4 days
Calewlate r

(i) Maximum consumptior per day (if) Minimum consumptionperday. |

| Question 17 1
}- From the details given helow, calculate: |
(1) Re-ordering level |
(i) Maximum level |
(i) Minimum flevel |
(iv) Danger level. |
Re-ordering quantity is to be caleulated on the basis of following information
Cost of placing a purchase order is Rs. 20 |
Number of units to he purchased during the year fs 5,000

Purchase price per unit inclusive of transportation cost s Rs. 50 l

Annual eost of storage per units is Rs. 5.

Details of lead time: Average- 10 days. Maximum- 15 days. Minimum- 5 days.
For emergency purchases- 4 days.

Rate of eonsumption:Average: 15 units per day,Maximum: 20 units perday |

g_ Question 18 HOMEWORK SUM Date:
A company manufactures 5,000 units of @ product per month. The cost of placing ||
an order is Rs. 100. The purchase price of the vaw material is Rs.20 per kg. The re-

order period is 4 to 8 weeks. The consumption of raw materiais varies from 100
kg 1o 450 kg per week, the average consumption being 275 kg.The carrying cost of ||

36




CA AKASH CA SHRUTL CMA INTER- MATERIAL g
AGARWAL AGARWAL COSTING

Inventory is 20% per annum.
You are required to calculate .

() Re-order guantity (i) Re~order level
(i) Maximum level {iv) Minimum leve!
(v} Average stock leve!

Question18 "HOMEWORK SUM  Date: |

Re-order quantity of material X is 5,000 kg; Maximum level 8,000kg.: Minimum
usage 50 kg. per hour, minimum re-order period 4 days: daily working hours in the

factory is 8 hours. You are required to ealeulate the re-orderlevel of material X'

Huestion 20

From the foilowing data for the year ended 31st December, 2021, caleulate the
inventory turnover ratio of the two items and put ferward your comments on
them.

Material A (Rs.) Material B(Rs.)
Opening stock 1.2.2021 10,000 9,000
Purchase during the year | 52,000 27,000
Closing stock 81.12.2021 | 6,000 11,000
e — : — — ——

| Question 21 HOMEWORK SUM Date:

The following data are available in vespect of material C for the yearended 31st
Muarch, 2021.

(Rs.)
Opening stock 90,600
Purchases during the year 2,706,000
Closing stock 1,10,000

Caiculate:
tnventory turnover ratio, and the number of days for which the average inventory

is held.

R
&L
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" Question 22
At what price per unit would Part No. A 32 be entered in the Stores Ledger, if the
following invoice was received from a supplier:

thvaoice (Rs.)
200 units Part No. A 32 @ Rs.5 1,000
Less:- 20% Discount | z00)
800
Add:- GST @15% 120
920
Add: Packing Charges (5 Non-returnable boxes) 50
970

(1} A 2 per cent cash discount will be given if payment is made in 30 days.
(i) Documents sustaining payment of ST is enclosed for claiming
_CENVATeredit.

-
— E——

Guestion 23

An invoice in respect of a consignment of chemicais A and B provides the
following information
Particulars | (Rs.)

Chemical A: 10,000 kos, at Rs. 10 per kg. 1,00,000
Chemical B: 8,000 kgs, at Rs. 18 per kg. 1,04,000
Basic Custom Duty @ 10% (Credit is not available) 20,400
Railway freight 3,840
Totel cost 2,28,240

A shortage of 500 kgs. in chemical A and 320 kgs. in chemical B is noticed due to
normal breakages. You are required to determine the rate per kg. of each
chemical, assuming a provision of 2% for further deterioration.
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Question 24
The following information is provided by Sundari industries for the fortnight of

April, 2021 Material Exe :
Stock on 1-4-2021 100 units at Rs. 5 per unit,

Purchuses

5-4-21 300 units at Rs. 6
8-4-21 500 units at Rs.7

12-4-21 600 Units at Rs. 8
lssues

8-4-21 250  units
10-4-21 400 uhits
14-4-21 5G0 units
The stock verifier of the company reported a shertage of 30 units on
X on account of shortage. On 20-04-2021, There happened fire in company which
resulted in loss of 20 units of material,
Required:
1. Caleulate using FiFO, LIFO & weighted average methods of pricing issues

a. the value of materials consumed during the ‘period
b. the value of stock of materials on 30-4-21.

Gyestion 25 HOMEWORK SUM Date:
Prepare a Store Ledger Account from the following transactions of TITU Company
Ltd. April, 2021
1 Opening balance 200 units @ Rs. 10 per unit.
5 Receipt 250 costing Rs. 2,000
8 Receipt 150 units costing RS.1,275
10 Issue 100 units
15 Receipt 50 units costing Rs. 500
20 Shortage 10 units
21 Recelpt 60 units costing Rs. 540
22 ssue 400 units
The issues upto 10-4-21 will be priced at LIFO and from 11-4-21 issues will be
priced at FIFO. Shortage will be charged as overhead.
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| || Question 26 HOMEWORK SUM Date:
The following are the details of receipts and issues of a materiai of stores in a
| manufacturing company for the period of three months ending 30thJune, 2020
Receipts:
Date Quantity (kg.) Rate per kg. (Rs.)
Apl‘il 10 1,600 5.00
April 20 2,400 4,80
May 5 1,000 5.10
May 17 1,100 520
May 25 8OO 5.25
| June 11 900 5.40
' June 24 1,400 5.50
There was 1,500 kg. in stock at April 1, 2020 which was valued at Rs. 4.80 per ky
Issues:
| Date Quuntity (Rg.)
‘ Apeil & 1,100
April 24 1,600
May 10 1,500
May 26 1,700
June 15 1,500
June 21 1,200
Issues are to be priced on the basis of weighted average method.The stock verifier
of the company reported « shortage of 80 kgs. on 315t May, 2020 und €0 kgs. on
30th June, 2020, The shortage is treated as inflating the price ofremaining
muterial on account of shortage.
You are required to prepare o Stores Ledger Aceount.
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Question 27 HOMEWORK SUM Duate:

The following information is extracted from the Stores Ledger

Material X- Opening Stock Nil

Purchases :

Jan.1 100 @ Rs. 1 per unit

Jan. 20 100 @ Rs. 2 per unit

Issues:

Jan. 22 60 for Job W 18

Jan. 23 80 for Job W 17 .

Complete the receipts and issues valuation by adopting the First-in-First
Out,Last-In-First Out and the Weighted Average Method. Tabulate the values
allocated to Joh W 18, Job W 17 and the closing stock under the methods
aforesald and discuss from different points of view which method you would
prefer. '

| Question 28 HOMEWORK SUM Date:

Andheri Ltd. is engaged in heavy engineering works on the basis of job order
received from industrial customers. The company has received a job order of
making turhine from a power generating company. Below are some details of
stores receipts and issues of copper wire, used in the munufacturing of turbine:
Feb. 1 Opening stock of 1,200 Kgs. @ Rs. 475 per kg.

Feb. 5 Issued 975 Rgs. to mechanical division vide material requisition no.
Mee 09/13

Feb. 6 Received 3,500 kgs. @ Rs. 460 per ky vide purchase order no. 158/2018
Feb. 7 Issued 2,400 kgs. to electrical division vide material requisition no.
Ele012/13

Feb. 9 Returned to stores 475 kgs. by electrical division against material
requisition no. Ele 012/13. .

Feb. 15 Received 1,800 kgs. @ Rs. 480 per Rkg. vide purchase order no 161/2013
Feb 17 Reiurned to supplier 140 kgs, out of quantity received vide purchase
order no. 161/2013

Feb 20 Issued 1,900 kos, to electrical division vide material requisition no.Ele
165/2013
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On 28th February, 2014 it was found that 180 kgs of wire was fraudulently
misappropriated by the stores assistant and never recovered by the
company.From the above information you are required to prepare the Stock
Ledger accountusing ‘Weighted Average’ methad of vaiuing the Issues.

Question 28

A chemical manufacturing unit uses ingredient A as basie materialThe cost of
raw material is Rs. 20 per kg. and input-output ratio is 120%. Due to a sudden
shortage in the market, the material becomes non-avallable and the
manufacturing unit is considering the use of uny of the following two substitutes
available:-

Material Input-output ratio Purchase price per Rg.
{Rs.)

B1 135% 26

B2 110% 30

You are required to recommend which of the above substitute is to be used. Also
indicate additional cost required to be incurred.

Question 30 ' HOMEWORK-SUM Date:

Pappu Limited produces product 'P'. It uses annually 60,000 units of o material
'‘Rex' casting Rs. 10 per unit. Other relevant information are:

Cost of placing an order Rs. 800 per order

Carrying cost 15% per annum of average inventory
Re-order period 10 days

Safety stock 800 units

The company operates 300 days in a year

You are required to caleulated:

1. Econemic Order Quantity for material ‘Rex'.

2. Re-order Level
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3. Maximum Stock Leve!
4. Average Stock Level
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uestion 1
| You are given the following information of a worker.
(i) Naume of worker :  Mr. Bunny
{ii) Ticket No. : 002
(it} Work sturted : 1~4-21 ut 8 a.am.
(iv) Work finished : B~4-21 at 12 noon
(v) Work allotted ¢ Production of 2,160 units

| (vi) Work done and approved : 2,000 units
(vii) Time and units allowed : 40 units per hour
(viif) Wage rate :  Rs. 25 per hour
(ix} Mr. Bunny worked 9 hours a day.
You are required to caleulate the remuneration of Mr. Bunny on the following
bhasis:

(i) Halsey plun and (i) Rowan plan

Guestion 2
Bango Limited is working by employing 50 skilted worker is considering the

‘ introduction of incentive scheme-either. Halsey scheme (with 50% bonus) or

| Rowan scheme of wage payment for inereasing the labour productivity ta cope up
the tncreasing demand for the product by 40%. It is believed that proposed
incentive scheme could bring ahout an average 20% increase over the present
earnings of the workers, it Could act as sufficient incentive for them to produce
more.
Because of assurance, the increase in productlvity has been observed as revealed
by the figures for the month of April
Hourly rate of wages (Guaranteed) Rs. 30
Average time for producing one unit by one warker 1.975 hours
at the previous performance

. (This may be taken as time allowed)

Number of working days in the month 24

Number of working hours per day of each worker _ 8
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[ touchmon i rowen
Actual production during the month . 6,120 units
Required

(1) Coleulate the effective rate of earnings nuader the Halsey scheme and the

Rowen scheme.
(2 Calculate the savings to the Bango Limited in terms of direct labour cost
per piece.
(3)  Advise Bango Limited about the selection of the scheme to fulfill their
gssurance.

Question 3

Two workers ‘Ranbir' and 'Deepika’ produce the same product using the same
material. Thelr normal wage rate is also the same. 'Ranbir' is paid honus
according fo Rowan scheme while ‘Deepika’ is paid bonus according to Halsey
scheme. The time allowed to make the product is 50 hours. ‘Ranbir' iakes 30 hours
while 'Deepika’ takes 40 hours to complete the product. The factory overhead rate
is Rs. 5 per persen-hour actually worked. The factory cost of product
manufactured by ‘Ranbir' Is Rs. 3,490 and for product manufactured by 'Deepika’
is Rs. 3,600.

Question 4

Stundard Time for a job is 90 hours. The hourly rate of guarantee wages is Rs. 50.
Because of the saving in time a worker A gets an effective hourly rate of wages of
Rs. 80 under Rowan premium bonus system. For the same saving in time, calculate
the hourly rate of wages a worker B will get under Haisey premium bonus system

assuring 40% to worker.

Question 5

Mr. Patlu executes a piece of work in 120 hours as against 150 hours allowed to
him. His hourly rate is Rs. 10 and he gets ¢ dearness allowance@ Rs. 30 per day
of 8 hours worked in addition to his wages. You are required to calculate total
wages received by Mr. Patlu under the following incentive schemes:
(i} Rowan Premium Plan, and (i) Emerson's Efficiency Plan




CA AKASH CA SHRUTI CMAINTER- LABOUR
AGARWAL AGARWAL COSTING

Question §
Guddu, Munna und Bablu are three industriai workers are three industrial workers
working in Sports industry and are experts in making cricket pads. Guddu, Munna
and Bablu are working in Mahi Sports, Virat Sports and Sikhar Sports companies
respectively. Workers are paid under different incentive schemes. Company wise
inceative schemes are as follows:
Company Incentive scheme
Mahi Sports Emerson's efflclency system
Virat Sports Merrick differential plece rate system
Shikhar Sport Taylor's differential piece work system
The relevant information for the industry is as under
Standard Working Hours 8 hours a duy
Standard output per hour (In units) 2
Daily wages rate Rs. 360
No. of working days in a week 6 days
Actual outputs for the week are as foilows:

Guddu Munna Bahlu

132 units 108 units 95 units

You are required to calculate effective wages rate and weekly earnings of all the
three workers.

GQuestion 7

in a factory the standard time allowed for completing a given task (50units), is 8
hours. The guaranteed time wages are Rs. 20 per hour. If a task 1s completed in
less than the standard time, the higi rate of Rs. 4 per unit is payable. Calculate
the wages of a worker, under the Gunit system, if he completes the task in (i) 10
hours; (i} 8 hours, and (iD) in & hours.

Also ascertain the comparative rate of earnings per hour under the three
situations.
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Question 8

Two workmen, Hardik and Virat, produce the same product using the same
material, Hardik is paid bonus according to Halsey plan, while Virat is paid honus
aceording to Rowan plan. The time allowed to manufacture the produet is 100
hours. Hurdik has taken 60 hours and Virat has taken 80 hours to complete the
product. The normai hourly rate of wages of workman Hardik is Rs. 24 per hour.
The total earnings of both the workers are same. Caleulate noemal hourly rate of
wages of workman Virat, '

Guestion 9

Caleulate the earnings of workers of workers Sonu, Titu and Sweety under
Straight Piece Rate System and Merrick's Piece Rate System from the following
particulars.

Norma! Rate per Hour Rs. 540

Standard Time per Unit 1 Minute

Output per day is as follows

Worker Sonu- 390 Units

Worker Titu - 450 Units

Worker Sweety - 800 Units

Working hours per day ave 8.

Question 10

Standard OQutput in 10 hours is 240 units, actual output in 10 hours is 264 units.
Wages rate is Rs. 10 per hour. Caleulate the amount of bonus and total wages
under Emerson efficiency Plan.




CA ARASH CASHRUTI CMAINTER-LABOUR
AGARWAL AGARWAL COSTING

Quegtion 11

The existing Incentive system of Bunty Limited is as under
Normal working week 5 days of 8 hours each plus 3 late
shifts of 3 hours each
Rate of Payment Day work: Rs. 160 per kour
Late shift Rs. 225 per hour
Average output per operator for 120 articles
49-hours week i.e, including 3 late shifts
in order to increase output and eliminate overtime, it was decided to switch on o ¢
system of payment by results. The following information is obtained:
Time-rate (as usual) Rs. 160 per haur
Basie time allowed for 15 articles 5 hours
Piece-work rate Add 20% to basic piece-rate
Premium Bonus Add 50% to time.
Reguired
(1) Prepare u Statement showing hours worked, weekly earnings, number
articles produced and labour cast per article for one operator under
following systems:
(ua) Existing fime-rate
(h) Straight piece-work
(c) Rowan system (d} Hulsey premium system
Assume that 135 articles are produced In a 40-hour week under straight
piecework, Rowan Premium system, and Halsey premium system ahove and worker
earns half the time saved under Holsey premium system.

Question 12

Caleulute the earnings of worker from the following information under Bedegux
system:

Siandard time for a product A-30 seconds plus relaxatian allowanee of 50%.
Standard time for a praduct 8-20 second plus relaxation allowance of 50%.
During 8 hour day for

Actual output of product for A 500 units.

Actual output of product B 300 units

Wage rate Rs. 10 per hour
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Question ,13 i o HOMEWDRK SUM it Date:

Bonus paid under the Halsey Plan with bonus at 50% for the time saved equals
the bonus paid under the Rowan System. When will this statement hold good?

(Your answer should eontain the proof).

Question 14 HOMEWORK SUM Date:
A skilled worker In Shakira Lid. is paid a guaranteed wage rate of Rs.30 per hour.
The standard time per unit for a particular product is 4 hours. P, a machine man,
has been paid wages under the Rowan Incentive Plan and he had earned an
effective hourly rate of Rs. 87.50 on the manufacture of that particular product.
Required:
What could have been his total earnings and effective hourly rate, had he been
put on Halsey lncentive Scheme (50%)?

Question 15 HOMEWORK SUM Date:

A skilled worker is pald a guaranteed wage rate of Rs, 120 per hour, The standard
time allowed for a job Is 6 hour. He took 5 hours to complete the job, He is puid
wages under Rowan Incentive Plan!

() Calewlate his effective hourly rate of earnings under Rowan Incentive Plan.

(i) If the worker is placed under Halsey Incentive Scheme (50%) and he wants to
maintain the same effective hourly rate of earnings, calculate the time in which he

should complete the job.

uestion 16 '
The standard hours of job X is 100 hours. The job has been campleted by Amar in

60 hours, Akbar in 70 hours and Anthony in 95 hours.
The bonus system applicable to the job is as follows:-

Percentdge of time saved io time Bonus
allowed (Slab rate)
Saving upto 10% 10% of time saved
From 11% to 20% 15% of time saved
From 21% to 40% 20% of time saved
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From 41% {6 100% 25% of time saved
The rate of pay is Rs.1 per hour, Calculate the total earnings of each worker and
also the rate of earning per hour.

Guestion 17

The present output detalls of a manufacturing department are as follows:
Average output per weeR 48,000 units from 160 employees
Saleable value of output Rs. 8,00,000
Contribution made by output

towards fixed expenses and profit Rs. 2,40,000

The Board of Directars plans to introduce more mechanisation into the
department at a capital cost of Rs. 1,60,000. The effect of this will be to reduce
the number of employees to 120, and increasing the output per individual
employee by 80%. To provide the necessary incentive to achieve the increased
output, the Board intends to offer a 1% increase on the piece work rate of Rs. 1
per unit for every 2%inerease fn average individual output achteved, To sell the
increased output, it will be necessary to decrease the seiling price by 4%.

Calculate the extra weekly coniribution resulting from the proposed change and
evaluate for the Board's information, the desirability of introducing the change.

Guestion 18

The Cost Accountant of Bahuball Ltd. has computed labour turnover rate for the
guarier ended 31st March, 2016 as 10%, 5% and 3% respectively under ‘Flux
method", 'Replacement method’ and ‘Separation method' respectively. if the number
of workers replaced during that quarter is 30, find cut the number of

(1) workers recruited und joined and (2) workers left and discharged

ion 19
From the following information, caleulate Labour turnover rate and Labour flux
rate:
No. of workerg as on 01.01.2021 - 7,600
No. of workers as on 31.12.2021 - 8.400
During the year, 80 workers left while 320 workers were discharged 1,500 workers
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were recruited during the year of these, 300 workers were recruited because of
exits and the rest were recruited in accordance with expansion plans.

Question 20 HOMEWORK SUM Date: |
Accountant of your company had computed labour turnover rates for the quarter |
ended 30th September, 2013 as 14%, 8% and 6% under Flux method, Repiacement
method and Separation method respectively. If the number of workers replaced
during 2nd quarter of the financlal year 2020-21 is 36, find the following:

(i) The number of workers recruited and joined; and

(i) The number of workers left and discharged.

. Qu 21 HOMEWORK SUM Date:

Human Resources Department of Aunty Ltd. computed labour turnover by
replacement method at 3% for the quarter ended June 2021. During the guarter,
fresh recruitment of 40 workers was made. The number of workers at the
beginning and end of the quarter was 990 and 1,010 respectively.

You are required to calculate the labour turnover rate by Separation Method and

| Flux Method.

Question 22

In a factory working six days in a week and eight hours each day, a worker is

paid at the rate of Rs.100 per day basic plus DA. @ 120% of hasic. He is allowed ||
to take 30 minutes off during his hours shift for meais-break and a 10minutes
recess for rest. During a week, his card showed that his time was chargeabie to:

Job X 15 hrs
JobY 12 hrs
Jobh Z 18 hrs

The time not booked was wasted while waiting for a job. in Cost Accounting how
would you allocate the wages of the workers for the week?
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Question 23

Both direct and indirect labours of ¢ department in a factory are entitled to
production benus in accordance with a group incentive scheme, the outline of
which is as follows:

(a) For any production in excess of the standard rate fixed at 16,800 tonnes
maonth (of 28 days) a general incentive of Rs. 15 per tonne is puld In aggregate.
The total amount payable to each separate group is determined on the hasis of
an assumed percentage of such excess production being contributed by it,
namely @ 65% by direct labour, @ 15% by inspection Sell@ 12% by maintenance
staff and @ 8% by supervisory staff,

(h) Mareover, If the excess production is more than 20% above the standard
direct labour also get a special bonus @ Rs, 5 per tonne (or all production in
excess of 120% of standard,

(c) Inspection staff are penulized @ Rs. 20 per tonne for rejection by customer in
excess of 2% of production,

() Maintenance staff ure also penalized @ Rs, 20 per hour for breakdown,
From the following particulars for a month, work out production bonus earned
by each group:

(a) Aciual working days: 25

(h) Production : 21,000 fonnes

(¢} Rejection by customer : 500 tonnes

(d) Machine breakdown: 40 hours
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The following information relates to the production department for ¢ certain

period in a factory:

Direct Materials consumed
Direct Wages

Production Overheads
Labour Hours

Machine Hours

For one Order No. 101 carried out in the department during the period, the

relevant data were:
Direct Material consumed
Direct Wages

Machine hours worked
Labour hours worked

Required: Prepare a Comparative Statement of Cost of this order by using the

following methods:

R3.75,000
R3.50,000
Rs.1,50,000
30,000 hours
25,000 hours

Rs.14,000
Rs.11,000
5000 hours
7000 hours

(i) Direct Material Cost Percentage; (ii) Divect Labour Cost Percentage;

(ifi) Prime Cost Percenfage: (iv) Labour Hour Rate; (v) Machine Hour Rate ’

Question 2

HOMEWORK SUM

lh an engineering company, the factory overheads are recovered on a fixed
percentage basis on direct wages and the administrative overheads ure absorbed
on a fixed percentage basis on fuctory cost. The company has furnished the
following data relating to two Jobs undertaken by it in a period

Date:

Job 101 Job 102
Direet Materials 54000 37500
Direct Wages 42000 30000
Selling price 166650 128250
Profit % on Total Cost 10% 20%
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Required:
(1) Computation of percentage recovery rates of factory overheads and
administrative overheads.

(ii) Caleulation of the amount of factory overheads, edministrative overheads and
profit for each of the twe jobs.

(i1)) Using the above recovery rates fix the selling price of joh 103. The additiona!
data heing:

Direct materials Rs. 24,000

Dirvect wages Rs. 20,000

Profit percentage on selling price 12-1/2%

Question 3

Pappu Ltd. manufactures pumps which pass through three departments- Foundry,
Machine shop and Assembiing. The manufucturing expenses are as foliows:
Foundry Machine Assembling Total

Direet wages Rs.10,000 Rs.50,000 Rs.10,000 Rs.70,000

Works 5,000 90,000 10,000 1,05,000
overhead

The factory cost of manufacturing of X' type of pump is prepared hy the
company as follows:

Rs. Rs.
Material
Direct wages - Foundry 20
Machine shap 40
Assembling 20
Works averhead (150% of direct wages)
Total cost
{t seems that there is some fullacy. Try to correct it.
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Question 4

The preliminary budget for a company with 4 departments was as under

Departments Direct Overheads | Apportioned Dirvect labour
Alloeation (Rs.) Overheads (%) hours
Dept.1 14200 10 60000
Dept.2 7200 30 200000
Dept.3 16400 20 120000
Dept4 22600 40 15000
Total 80400 176000 530000

lt was decided to establish a new department (5) and to slightly re-organise the

existing depurtments. The following alternations were agreed to in making o

revised budget:-

@) A Sum of Rs. 15,000/~ being additional overheads will be allocated directly
to department (5)

b) Am amount of Rs. 8600/-being overhead previously allocated directly to
department (3) will now be transferred to department (5)

¢) Rs. 30,000/- additiona! overhead expected 1o be incurred due to
re-organisation will be apportioned as follows:-

Department 1 2 3 4 5

Proportion(%) 10% 20% - 10% 60%

d) Revised direct labour hours are expected to be:

Department Hours

i 63,600

2 2,00,000

3 1,00,000

4 1,650,000

5 90,000
Total 6,19,600

You are required to calculate:-
i} The departmental divect lubour hour rates of overhead based on the

preliminary budget
i) The departmental direct labour hour rates of overhead based on the
revised budget. '
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ii)  The overhead chargeable at the revised rates to one unit of produet X for
which the following hours ave spent in each department:-
Department 1 3 4 5
Hours 6 4 8 3

Question 5

Sarfira manufucturers a small-secle enterprise produces o single product and

has adopted a policy to recover the production overheads of the factory by

adopting a single hlanket rate based an machine hours. The budgeted production

overheads of the fuctory are Rs. 10,08,000 and budgeted machine hours are

96,000. For « period of first six months of the financial year 2021-2022, following

information were extructed from the hooks:

Actual production overheads Rs. 6,789,000

Amount included in the production overheads

Paid as per court's order Rs. 45,000

Expenses of previous year booked in current year Rs. 10,000

Paid to workers for strike period under an award Rs. 42,000

Obsolete stores written off’ Rs. 18,000

Production and sales data of the concern for the first six months are as under:

Production

Finished goods 22,000 units

Works-in-progress (50% complete in every respect) 16,000 units

Sale:

Finished goods 18,000 units

The actual machine hours worked during the period were 48,000 hours, It is

revealed from the analysis of Information that of the under-absorption was due

to defective production policies and the balance was attributable to incrense in

costs, You are required:

() to determine the umount of under absorption of production over heads
for the period,

(fi} to show the aecounting treatment of urder-ahsorption of production
overheads, and to apportion the unabsorhed overheads over the items.
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Question 6

The total overhead expenses of a factory ave Rs. 4,46,380. Taking into account the
normal working of the factory, overhead was recovered in production ai Rs. 1.25
per hour. The actual hours worked were 2,93,104. How would you proceed to close
the hooks of accounts, assuming that besides 7,800 units produced of which 7,000
were sold, there were 200 equivalent units in work in-progress?

On investigation, it was found that 50% of the unabsorbed overhead was on
account of increase in the cost of indirect materials and indirect labour and the
remaining 50% was due to factory inefficiency. Also give the profit implication of
the method suggested.

Question 7

Daimier Ltd. is @ manufacturer of auto components and the details of its expenses
for the year 2020 are given below:

(Rs)
(1) Opening Stock of Material 1,50,000
(2) Closing Stock of Material 2,060,000
(8) Purchase of Material 18,50.000
(4) Direct Labour 9,50,000
(5) Factory Overheud 3,80,000
(6) Administrative Overhead 2,50,400

During 2021, the company has received an order from a car manufacturer where
estimates that the cost of material and labour will be Rs. 8,00.000 and

Rs. 4,50,000 respectively. Daimler Ltd. charges factory overhead as a percentage
of direct labour and administrative overhead as a percentage of factory cost
bused o previous year's cost. Cost of delivery of the companents at customer's
premises is estimated at Rs. 45,000

You are required to:

(i} Calculate the overhead recovery rates bused on actual costs for 2020,

(il) Prepare o detailed cost statement for the order received in 2021 and the
price to be quoted if the eompany wants to earn a profit of 10% on sales,
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Guestion 8 HOMEWORK 8UM Date:

In a manufacturing unit factary averhead was recovered at a pre-determined rate
of Rs. 25 per man-day. The total factory overhead expenses Incurred and the man-
davs actually worked were Rs. 41.50 lakhs and 1.5 lakh man-days respectively. Out
of the 40,000 units produced during a period, 30,000 were sold. There were also
30,000 uncompleted units which may be reckored at 66.66% complete, On
analysing the reasons, it was found that 40% of' the unabsarbed overheads were
due to defective planning and the rest were attributable to increase in overhead
costs. How would unabsorbed overhead be treated in cost accounts?

Question 9 HOMEWORK SUM Date:
Your company uses ¢ historical cost system and applies overheeds on the basis of
“pre-determined” rates. The following ave the figure from the Trial Balance us at
30th September, 2021:-

Manufacturing overireads Rs.4,26,544 Dr.

Manufacturing overieads appiied Rs.3,65,904 Cr,
Work-in-progress Rs.2,41,480 Dr.

Finished goods stocks Rs.2,30,732 Dr.

Cost of goods sold Rs.8,40,588 Dr.

Give two methads for the disposal of the unabsarbed overheads and show the
proftt Implications of each method.

Question 10 HOMEWORK SUM Date:

ln a factory, overheads of u particular department are recovered on the basis of
Rs. 5 per machine kour. The total expenses incurred and the actual machine hours
for the department for the month of August were Rs.80,000 and 10,000 hours
respectively. Of the amount of Rs.80,000, Rs.15,000 became payable due ta an
award of the Lahour Court and Rs.5,000 was in respect of expenses of the
previous year booked in the current month (August). Actual production was
40.000 units, of which 30,000 units were sold. On analysing the reasons, it was
found that 60% of the under-absarbed overhead was due to defective planning
and the rest was aitributed to normal cest increase. How would you treat the
under- absorbed overhead in the cost aecounts?
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Question 11
Hevoine Ltd is a manufacturing company having three production departments, A’
B'and 'C' and twe service departments ‘X' and ' The foliowing Is the budget for

December 2011:

Total | A B c X Y
{(R8) [(RS.) | (RS) | (R8) | (R8.) | (RS)
Direct Material 1000 | 2000 | 4000 | 2000 | 1000
Direct Wages 5000 | 2000 | 8000 | 1000 | 2000
Factory Rent
Power
Depreciation
Other Cverheads
Additional info
Area (sq. Ft.) 500 |250 |500 |[250 |500
Capital value assets (Rs. Lac) 20 |40 |20 [10 |10
Machine hrs 1000 | 2000 | 4000 | 1000 | 1000
Horse power of machine 50 |40 (20 |15 |25

A technical ussessment of the apportionment of expenses of service depariments
i as under

A B C X Y
Service X % 45 15 30 - 10
Service Y % 60 35 - 5 4

Required:

(1} A statement showing distribution of overheads to various departments.

(2) A statement showing re-distribution of service departments expenses to
produetion departments.

(3) Machire hour rates of the production departments ‘A", '8' and 'C.
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Guestion 12

Shakira Ltd, is @ manufacturing company having three production departments,
‘A", 'B' and 'C' and twe service departments X' and ‘Y. The following is the budget
for December 2013:

Total |A C X

(RS (RS.)
Direct Material 2000
Direct Wages 1000
Factory Rent

Power

Depreciation
Qther Overheads
Additional info
Area (sq. Ft)
Capital value assets 20 40 20 10 10
(Rs. Lae)
Machine hrs 1000 2000 4000 | 1000 1000
Horse power of muchine 50 40 20 15 25

A technical ussessment of the apportionment of expenses of service departments is
us under

A B C X Y
Service X % | 45 i5 30 - 10
Service Y% | 60 35 - 5 -

Requirved:

(i} A statement showinyg distribution of overheads to various departments.

(i) A statement showing re-distribution of service departments expenses of
production departments using Trial and error method.
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Question 13

A company has three production cost centres A, B and C and two services cost
centres X and V. Costs allocated to service centres are required to be apportioned
to the production centres to find out cost of production of different products. It Is
found benefit of service cost centres is also received by each other along with the
production cost cenires. Overheads costs as allocated to the five cost centres and
estimates cf henefit of service centres received by each of them are as under:

Cost Overheads cost as Estimates of benefits received from
Cenires allocated (Rs) services centres (%)

X Y
A 50000 20 20
B 40000 30 25
C 20000 40 S0
X 20000 - 5
Y 10000 10 =

Required: Work out final overhead costs of each of the production department
apportioned cost of service cenires using

(a) Continuous distribution method and

(b) Simultaneous equation method.

Guestion 14

Suppose the expenses of two production departments A and B and two service
departments X and Y are us under:

Amount (Rs) Apportionment Basis
Y A B
X 2000 25% 40% 35%
4 1500 = 40% 60%
A 3000
B 3200

Method.

Distribute the service department OH to production department by Step Ladder
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Question 15

Dum Dum Manufacturing Ltd., have three departments which are regarded as
praduction departments. Service departments' costs are distributed to these
production departments using the "Step Ladder Method" of distribution, Estimates
of fuctory overhead costs to be Incurred by each department in the fortheoming
vear are as follows. Data reguired for distribution is also shown agalnst each

: department:

| Deparitment | Factory Direct No. Of Area in
| overhead labour employees | sq.m.

hours

Production
X 183000 4000 100 30040
Y 64000 3000 125 1500
83000 4000 85 1500

P 45000 1000 10 500

‘ ) 75000 5000 50 1500
R 105000 6000 40 1000
8 30000 3000 50 1000

The overheads costs of the 4 services departments are distributed in the same
order i.e. P, @, R, S respectively on the following basis:

P Number of employees
Q Direct lahour hours
R Area in square metres
8 Direct lubour hours

You ure required to:

(@) Prepare a schedule showing the distribution of overhead costs of the four
| service depariments to the three production departments, and

by Calculate the overhead recovery rate per direct lubour three production
departments.
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Question 16

HOMEWORK SUM

charges for the currvent year.

Date:
Babli Company has the following account balances and distribution of direct

Total | Production Depts. Service Depis.
Machine Packing | General | Store &
8hop | Plant Maintenance

Allocated (Rs.) (Rs.) {Rs.) (Rs.) (Rs.)
Overheads:
Indireet labour 14,650 | 4,000 3,000 | 2,000 5,850
Maintenance 5,020 1,800 700 1,020 1,500
material
Misc. supplies 1,750 400 1,000 | 150 200
Superintendent's 4000 |- - 4,000 -
salary
Cost & payroll salary | 10,000 | - - 10,000 |-
Overheads to be apportioned :
Power 8,000
Rent 12,000
Fuel and heat 6,000
Insurance 1,000
Taxes 2,060
Depreciation 1,00,000

1,64,420 | 6,200 4,700 17,170 7.350

The following data were compiled by means of the factory survey made in the

revious year:

Floor
Space

Radiator
Sections

No. Of

Employees

invesiment
Rs.

H.P
hours

Machine Shop | 2,000 45 20 840,000 3,500
8q. fi.
Packing 800" 90 10 2,00,000 500
eneral Plant 400™" 30 3 10,000 -
Store & 1,600" |60 5 1,50,000 1,000
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Mainfé_na nee
Total

4800°" | 225 38 1,000,000 5,000

Expenses charged to charged to the stores and maintenance departments ave to
be distributed to the other departments by the following percentage

Maehine shop 50%; Packing Shop 50%; Packing 20%; General Plant 30%, Gereral
Plant averhead is distributed on the basis of number of employees.

a) Prepare an overhead distribution statement with supporting schedules fo
show computations and hasis of distribution including distribution of service
department expenses to producing department.

b) Determine the service department distribution by the method of continued
distribution. Carry through 3 cycles. Show all caleulations to the nearest rupee.

Question 17
Monty Manufactures Ltd. has three Production Departments P1, P2, P3 and two

Service Depurtments 81, and 82, details pertaining to which are as under,
P1 P2 P3 81 32
3000 2000 3000 1500 |185
3070 4475 2418 = o
60000 | 80000 | 100000 |50Q0 | 5000
80 30 oQ 10 -
Light points 10 15 20 10 5
Floor space (8q. ft.) 2000 |2500 | 3000 2000 | 500

The following figures extracted from the Accounting records are relevant
(Rs.)

Direct Wuges

Working hrs

Volue of machines (Rs)
H.P. of machines

Rent and Rates

General Lighting
Indirect Wages

Power

Depreciation on Machin
Sundries

es

5,000
600
1,935
1,600
10,600

9,695

The expenses of the Service Departments are aliocated as under:

P1

P2

3

51

82
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S1 20% 30% 40% = 10%
82 40% 20% 30% 10% ~
Find out the total cost of produet x which is processed for manufacture in
Departments P, P, and P, for 4, 5 and 3 hours respectively, given that its Direct
Material Cost is Rs. 50 and Direct Labour Cost is Rs. 30.

Quegtion 18

A machine was purchased from a manufacturer who claimed that his machine |
could produce 36.5 tonnes in a year consisting of 365 days. Holidays, breakdown
etc.. were normally allowed in the fuctory for 65 days. Sales were expected to be
25 tonnes during the year and the plant actually produced 25.2 tonnes during the
year. You are requirved to siate the following fiqures:

Rated Capacity.

Practical Capacity

Normai Capacity.

Actual Capacity.
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Questicn 19

From the fallewing data of a Textile factary machine-room, computer hourly
machine rate, assuming that the machine-room will work on 80%cupacity
throughout the year and that a breakdown of 10% is reasonable
There are three days holiday at Deepawali, two days at Holf and two days at
Christmas, exclusive of Sundays. The factory works 8 hours a day and 4 hours on
Saturday '
No. of Machines (each of same type) 40
Annucl Expenses (of 40 machines) (8)
Power 3120
Light 840
Saluries to Foreman 1200
Lubricating Oil 66
Repairs to machines 1446
Depreciation 785.60
Total 7257.60




CA AKASH CASHRUTI
AGARWAL AGARWAL
GQuegiion 20

particulars are available:

years Rs.5,000.

given above.

Question 21

CMAINTER- OVERHEAD

A machine was purchased on January 1, 2017, for 5 lakhs. The total cost of ail
machinery inclusive of the new machine was Rs. 75 lakhs. The following further

1. Expected iife of the machine 10 years. Scrapped value at the end of 10

-
.

2. Repairs and malntenance for the machine during the year Rs. 2,000.

3. Expected number of working hours of the machine per year 4,000 hours.
tnsurance premium annuaily for all the machines Rs. 4,500.

4. Electricity consumption for the machine per hour @ 75 paise per unit) 25
units. Area oceupied by the machine 100 sq. feet.

5. Ared occupied by other machines 1,500 sq. ft.

6. Rent per month of the departinent Rs.800.

7. Lightening charges (20 points for the whole department, out of which three
points are for this machine) Rs. 120 per month.

Compute the machine hour rate for the new machine on the basis of the data

A department has three machines. The figures indicate the departmental

expenses. -
Rs.
Depreciation of machinery 12,000
Depreciation of building 2,880
Repairs to machinery 4,000
Insurance of machinery 800
Indivect wages 6,000
Power 8,000
Lighting 800
Miscelianeous expenditure | 4,200

36,680

0,
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Amount (Rs) Machine 1 | Machine tl | Machine Ml
Direct wages {Rs.) 1200 2400 2400
Power tinits 30000 10000 20000
Number of warkers 4 8 3
Light Paints 8 24 48
Space sq. ft. 400 800 §00
Cost of Machine (Rs.) 300000 120000 180000
Hours worked 200 300 200

From the ubove information calculate :
(i) Simple machine hour rate,
(2] Compasite or comprehensive machine hour rate.
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Question 1

A factory uses a job costing system. The following cost data are available from
the baoks for the previcus year:

Direct material | Rs. 9,00,000 Selling and distribution Rs.5,25,000
overheads

Direct wages | Rs. 750,000 | Administrative overheads Rs.4,20,000
(related with production activity)

Profit Rs. 6,09,000 Factory overheads R$.4,50,000

(@)  Prepare a Cost Sheet indicating the prime cost, works cost, production cost,
cost of sales and sales value. \

(B)  in the next year, the factory had received an order for a number of jobs. it
is estimaied that the direct materials would he Rs. 12,00,000 and direct
labour would cost Rs. 7,50,000. What would be the price for these jobs in
the factory intends to earn the same rate of profit on sales, assuming that
the selling and distribution overhead has gone up by 15%. The factory
recovers factory overhead as a percentage of divect wages and
administrative and selling and distribution overheads as a percentage of
works cost, based on the cost rates prevalent in the previous year,

Question 2

Apni Motors Ltd. manufactures pistons used in car engines. As per the study
conducted by the Auto Parts Manufacturers Association, there will be a demand
of 80 million pistons in the coming year. Arnav Motors Ltd. is expected to have a
market share of 1.15% of the total market demand of the pistons in the coming
year. It is estimated that it costs 0150 as inventory-holding cost per piston per
month and that the set-up cost per run of piston manufacture is 3,500.

(1) What would be the optimum run size for piston manufucturing?

(i) Assuming that the company has a policy of manufacturing 40,000 plstons
per run, how much extra costs the company weuld be incurring as compared to
the optimum run suggested in (i) above?
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Question 3

The following information for the current year is obtained from the books and
records of o factory:

Completed Jobs | Work-in-
pl‘OgI"@SS
Raw materials supplied from stores 90,000 30,000
Wages 1,00,000 40,000
Chargeable expenses 10,000 4,000
Materials transferred to wark-in-progress | 2,000 2,000
| Materlals returned to stores 1,000

Factory overhead is 80% of wages and office averhead 25% of fuctory eost.
The price of the executed contracts during current year was Rs4,10,000.
Prepare
()  Consolidated Completed Jobs Accounts showing the profit made or loss
incurved § clso,
(i)  Consolidated Work-in-progress aecount

Question 4 HOMEWORK SUM Date:
The following hudgeted cost Information is availabie from the records of o
. manufucturing concern for a particuiar year: |
| {Rs. In lakhs)
Direet Material 81.20
Direct Wages
- Rolling Shop (1,20,000 haurs) 6.00
- Milling 8hop (2,40,000 hours) 1440
' Works Overheads
| - Rolling Shop 5.60
| - Milling Shop 14.40
‘ | Administration overheads (related 24.00
| with production activity)
| Selling Overheads 43.20

70
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The works overheads are recovered on the basls of labour hours, the
administration overheads on the basis of works cost and selling overheads on
the basis of cost of production.
You are required to -
(1) Prepare annuai cost statement so as to compute the budgeted cost of
sales.
(2) Compute Overhead Recovery rates.
(3) Compute total cost of a job which requires the following -
(a) Direet Material Rs.7,560.
(b) Labour Cost
- Rolling Shop 40 hours @ Rs.8 per hour.

- Miiling Shop 76 hours @ Rs.5 per hour.

Question § HOMEWORK SUM Date:
Majau Ltd. is committed to supply 24,000 bearings per annum to Y Ltd. on g
steady basis. {t is estimated that it costs 10 paise as inventory holding cost per
bearing per month and that the set-up eost per run of bearing manufucture is
Rs.324. E

(@) What would be the aptimum run size for bearing manufacture?

(b) What is the minimum inventory holding cost at opiimum run size?

(c) Assuming that the company has a policy of manufacturing 6,000 bearings
per run, how much extra costs would the company be incurring as compared to

the optimum run suggested tn (a} ?

Question 6 HOMEWORK 8UM Date:
In an engineering company, the fuctory overheads are recovered on fixed
percentage basis on direet wages and administration overheads are absorbed
on fixed percentage basis on factory cost. The company has furnished the
following data relating to two jobs undertaken by it in a peviod

Job 101 Job 102

Direct Material Rs. 54,000 Rs. 37,500

Divect Wages Rs.42,000 Rs.30,000
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| Seliing Price Rs.1,66,650 Rs.1,28,250

Profit percentage on Totul Cost | 10% 20%

Required:

(i} Computation of percentage recovery rates of factory and
administration overheads.

(i) Caleulation of amount of factory overheads, administration overheads
(related with production activity) and profit for each of the two jobs.

(iif) Using the abave recovery rates, fix the selling price of Job 103. The

additional data being :

Direct Material R3.24,000

Direet Wages Rs.20,000

Profit percentage on selling price 12 1/2%

Question 7 HOMEWORK SUM Date:

Component 'Pee’ is mude entirely in cost centre 100. Material cost 1s Spaise per
component and each component takes 10 minutes to produce. The machine
operaior I3 paid 72 paise per hour, and machine hour rate iz Rs. 1.50. The setting
up of the machine to produce the component 'Pee’ takes 2 hours 20 minutes. |
On the basis of this information, prepare a cost sheet showing the production
and setting up cost, both in total and per component, assuming that a hateh of:
(a) 10 components,

(h) 100 components, and

(c) 1,000 eomponents is produced.
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CONTRACT ALE (FOR 18T ACCOUNTING PERIOD) - FORMAT 1

AR
EDUCATION 1% POWER

Particulars Rs. | Particulars Rs.
To Material issued to site XXX | By Materials at site (Closing | XXX
Stoek)
To Wages incurred XXX | By Materinls veturned from XXX
{Paid +0/s - Prepaid) site i.e.returned to stores
To Direct Expenses XXX | By Bank Afe XXX
(Paid + O/s - Prepaid) (8ale of Materials)
To Depreciation on Plant XXX | By Costing P&L Afe XXX
§Equipment | {Loss on sale)
To Office §Admin Exp. Incurred XXX | By Cost of Contract XXX
(Paid + Ols- prepaid) (Works Cost) c/d
XXX XXX
To Cost of Contract XXX | By Work-in-progress XXX
(Warks Cost) b/d
To Notioral Profit id XXX | - Value of Work eertified XXX
(Like Saie)
XXX | = Cost of Work Uneertified XXX
(Like elosing stock)
XXX XXX
CONTRACT ALC (FOR 18T ACCOUNTMQ PERIOD) - FORMAT 2
Particulars Rs. | Particulars Rs.
To Material issued to site XXX | By Materlals at site (Closing | XXX
Stock)
To Wages incurred XXX | By Materials returned from XXX
(Paid +0/s - Prepaid) site i.e.returned to stores
To Direct Expenses XXX | By Bank Afc XXX
{(Paid + O/s - Prepaid) (Sale of Materials)
To Depreciation on Plant & XXX | By Costing P§L A/c XXX
Equipment (Loss on sale)
To Office §Admin Exp. Incurred XXX | By Work-in-progress XXX
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FOUCATION 15 FUWER

(Paid + Ols- prepaid)
To National Profit id Xxx| - Value of Work certified XXX
(Like Sale)
- Cost of Work Lincertified XXX
(Like elosing stock)
XXX XXX
CONTRACT ALC (FOR 2 YEAR)
Particulars Rs. Particulars Rs.
Ta Work-in-progress bld By Reserve agalnst WIP XXX
Value of Work Certified ... XXX
Cast of Work Uncertified ... XXX
Remaining Portion same as in
previous format
Mote: Fines & Penalties are not shown in the Contract Account
BALANCE SHEET (EXTRACT)
Liabilities Rs. Assets Rs.
Capital XxXx | Land & Bullding XXX
(Less: Depreciation)
Profit & Loss Ale XXX Plant & Equipment XXX
(Less: Depreciation)
Qutstanding Expenses XXX | Materials :-
Contractee's Cr. Bal. XXX At Stores.... XXX
At Site XXX

Work-in-progress :

Value of work certified ..,
XXX

Cost of work uncertified
XXX

Cash & Bank Balance

Prepaid Expenses
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Question 1 |
A contract to be completed in year 4 exhibits the following information: i
| Endof | Value of work Cost of work Cost of work not Cash
Year certified to date yet certified received
(Rs.) (Rs.) (Rs.) (Rs.) |
1 0 50,000 50,000 0
| 3,00,000 2,30,000 10,000 275,000 _ ||
3 8,00,000 6,603,000 20,000 7.50,000 ‘
The coniract price is Rs. 10,00,000 und the estimated profit is 20%. You are ,.
required to calevlate how muck profit should have been credited to the Profit and |
__Loss AC the end of years 1,2 and 3. 3 il

e ———————————————————————————————————

] Question 2
| The following expenses were incurred on a contract : |
I (Rs) [
Material purchased 6,00,000
Material drawn from stores 1,00,000
Wages 2,25,000 |
Piant issues 75,000 |
Chargeable expenses 75,000 |

Apportioned indirect expenses 25,000 |
The contract was for Rs. 20,00,000 and it commenced on January 1, 2011. The
value of the work eompleted and certified upto 30th November, 2011 was Rs. |
13,00,000 of which Rs. 10,40,000 was received in cash, the balance being held
back as retention money by the contractee. The value of work compieted
subsequent to the architect's certificate but before 31st December, 2011 was ‘
R$.60.000. There were also find on the materials of the value of |
Rs 40,000. It was estimated that the value of plant as at 315December, 2011 was Rs |
| 30,000

Prepare Contract Account
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| Question 3 |
A Construction company undertook a contract at an estimated price of Rs. 108 |
lakhs, which includes a budgeted profit of Rs. 18 lakhs. The relevant data for the |
year ended 31.08.2014 are as under: |
Particulars {Rs. 000) |
Materials issued to site 5,000
Direct wages paid 3,800 |
Plant hired : 700 |
Site office cosis ' 270 |
Materials returaed {from site 100 |
Il Direct expenses 500
Work certified 10,000
| Work not certified 230
“ Progress payment received 7,200

|| A special plant was purchased speelfically for this contract at R5.8,00,000 and
after use on this contract till the end of 31.02.2014, it was valued at Rs 5,00,000. |

|| This cost of materials at site at the end of the yeur was estimated at R$.18,00,000.
Direct wages weerued as on 31.03.2014 was Rs. 1,10,000, |

Required I
Prepare the Contract Account for the year ended 31st March, 2014 ha |

Question & |
A contractor commenced a bullding contract on October 1, 2010. The contract |
price is Rs.4,40,000. The following datu pertaining to the contract for the year |'
| 2011-2012 has been compiled from his books and is as under:

——,——————

.' (Rs.) ‘
| April 1, 2011 Work-in-progress not certified 55,000 |
Materials at site 2,000 |

2011-12 Expenses incurred |

1 Materials issued 1,12,000 |
| Wages paid 1,08,000 .'.
Hlre of plant 20,000 .‘_

Other expenses 34,000




|
|
|
|
n
'|

CAAKASH . CMAINTER- CONTRACT 3.
AGARWAL 7 AGARWAL 7 COSTING_ _ / G =
e : S —————
March 31, 2012 Materials at site 4,000
Work-in-progress : Not certified 8,000
Work-in-progress : Certified 4,05,000

The cash received represents 80% of work certified. It has been estimated that
further costs to complete the contract will be Rs. 23,000 including the matevials at
site as on March 31, 2012

Required
Determine the profit on the contract for the year 2011-12 on prudent basis which

hus to be credited to Costing P/L Ale.

Question 5 :

Brandy Construction Ltd. commenced a contract on April 1. 2010 total contract
was for Rs. 17,50,000. Actual expenditure in 2010-11 and estimated expenditure in

2011-2012 are given below

2010-2011 2011-2012

{Actual) (Rs.) (Estimated) (Rs.)
Muterials issued 3,00,000 2,00,000
Labour : Paid , 2,00,000 2,50,000
Qutstunding at end 20,000 30,000
Plant purchased 1,50,000 -
Expenses : Paid 75,000 1,50,000
Prepaid ot end 15,000 -
Plant returns to store (historical cost) 50,000 1,00,000

- (on Dec. 31 2011)

Material at site 20,000 50,000
Work certified 8,00,000 FULL
Work uncertified 25,000 -
Cash received 6,00,000 FULL

The plant is subject to annual depreciution @ 25% of WDV Cost. The contract is
likely to be completed on Dec 31, 2011. Prepare the Contract A/c for the year 2010-
11 & also determine the estimuted profit on the contract.
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Question 6

M/s. Fraud Construction Company Ltd. took a contract for Rs. 80,00,000 expected |
to be completed in three years. The foilowing particulars relating to the contract

are ovailable:

CA SHRUTI
AGARWAL

CMA INTER- CONTRACT

COSTING

2011 (Rs.)

2012 (Rs.)

2013 (Rs.)

Materials

6,75,000

10,50,000

9,00,000

Wages

620,000

9,00,000

7.50,000

Cartage

40,000

90,000

75,000

Other expenses

30,000

75,000

24,000

Cumulative work certified

13,560,000

45,00,000

60,00,000

Cumuiative work uncertified

15,000

75,000

Plant costing Rs. 3,00,000 was hought at the commencement of the contract,
Depreciation was to be charged at 25% per unnum, on the written down value
method. The contractee pays 75% of the value of work certified us end when
certified, and makes the final payment on completion of the contract,

You ave required to make o cantract account and contractee account as they
would appear in each of the three years. Also show how the work-in-progress and |

|__other items should appear in the haiance sheef. |

Gluestion 7

PeriPeri Engineers are engaged in construction and erection of a bridge under a
long-term contract. The cost ncurred upto 31.03.2014 was ds under

Particulars Amount (R8.) in lakrhs
Fabrication Costs:
Divect Materials 280

Direct Labour 100

Overheads 60
440
Erection Cost to date 110
530
The contract price is Rs 11 crores and the cash received an account till 81.03.2014
was Rs. 6 croces. The technica! estimate of the contract Indicates the following
degree of completion of work.
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Fabrication - Direct Material - 70%.
Direct labour and Overheuds 80% Erection ~ 40%.

CMAINTER- CONTRACT
COSTING

You are required to estimate the profit that could be taken te Costing Profit and

]' Loss Account against this partly completed contract as at 31.03.2014.

Quegﬂog 8

Pattala House (P) Ltd. Is engaged in building two regidential housing projects in
the city. Particulars related to two housing projects are as below:

Particulars HP-1 (Rs.) HP-2 (Rs.)
Work in Progress on 1" April 2013 7,80,000 2,80,000
Materials Purchased 6,20,000 8,10,000
Land purchased rear to the site to open an office | - 12,00,000
Brokerage and registration fee patd on the above | - 60,000
purchuse

Wages paid 85,000 62,000
wages guistunding as on 313t March, 2014 12,000 8,400
Donation paid to lecal clubs 5,000 2,500
Plant hire charges paid for three years effecting 72,000 57,000
{from 1st April 2013

Vaiue of materials at site as on 31st March, 2014 47,000 52,000
Contract price of the projects 48,00,000 36,00,000
Value of work certified 20,50,000 16,160,000
Work not certified 1,90,000 1,40,000

A concrete mixture machine was bought on 1st April 2013 for Rs. 8.200 used for
180 days in HP-1 and for 100 days in HP-2 Depreciation is provided @ 15% p.a(
this machine can be used for any other projects). As per the contract agreement
contractee shall retain 20% of work certified as retention money,
Prepare contract account for the two housing projects showing the profit or loss

_on each project for the year ended 314 March, 2014,
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Question 9
Morni Construction Lid. obtained a contract No. B-37 for Rs. 40 lakhs. The

following balances and information relate to the contract for year ended 31st
March, 2014:
Particulurs 1.4.2103 (Rs.) 142014 (Rs.)
Work in progress
Work certified 9,40,000 80,00,000
Work uncertified 11,200 32,000
Materiais at site 8,000 20,000
Accrued wages 3,000 3,000

Particulars Amt (Rs.)

Materials issued from store 4,00,000

Materials directly purchased 1,50,000

Wages paid §,00,000

Architect's fees 51,000

Piant hire chorges 50,000

Indirect exnenses 10,000

Share of generul overheads for B-37 18,000

Materials returned to store 25,000

Materials returnied to supplier 15,000

Fines und penaities paid 12,000
The contractee pays 80% of work certifled in cash. You are required to prepare:
(iy Contruciee's Account showing clearly the amount of profits transferred to
Profit and Loss Account

(if) Balance Sheet

Quesfion 10 HOMEWORK SUM
TeAmo Limited obtained a contract forRs. 50 laes. The following details are
available in respeei of this contract for the year ended March 31, 2014:
Particulars Rs.
Materials purchased 1,680,000
Materials issued from stores 5,00,000
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Wages and salaries paid 7,00,000
Drawing and maps 80,000
Sundry expenses 15,000
Electricity charges 25,000
Plant hire expenses 60,000
Sub-contract cost 20,000
Materials veturned to stores 30,000
Material returned to suppliers 20,000
The following balances relating to the contract No. 999 for the year ended on

March 31,2013& March 31, 2014 are available

Question 11 HOMEWORK SUM Date:

Compute a conservative estimate of profit on a contract (which has been 950%
complete) from the following particulars. Calculate the proportion of profit to be
taken to Costing Profit & Loss Account under various methods and give your
recommendation

{Rs.)
Totul expenditure to date 4,50,000
Estimated further expenditure to complete
the contraet (including contingencies) 25,000
Contract price 6,12,0600
Work certified 5,50,800
Work uncertified 34,000
Cash received 4,40,640

Question12 HOMEWORK SUM Date:
M'S8 Rocky Constructions undertook a contract at a price of Rs.171.00 lacs. The
relevant data for the year ended 31st March, 2014 are as under:

Particulars Amt (Rs.)
Material igsued at site 7,700
Direct Wages paid 3,300
Site office cost 550
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Material return to store 175
Work certified 12,650
Work uncertified 225
Progress Payment Received 10,120

Prepaid site office cost as on 31-03-2014 50
Direct wages outstanding as on 31-03-2014 100
Materlal at site as on 31-03-2014 110
Additional tnformation:
(¢) A plant was purchased for the contract at Rs. 8,00,000 on 01-12-2013.
(h) Depreciation @ 15% per anhum is to be churged.
() Material which cost Rs. 1,30,000 was destroyed by fire.
Prepare:
(i) Contract Account for the year ended 31st March, 2014 and compute the
profit to be taken to the Profit & Loss Account.
(ii) Account of Contractee.
(i) Profit & Loss Account showing the relevant items.
(iv) Balance Sheet showing the relevant items.

GQuestion 13 HOMEWORK SUM Dute:

Sunny Constructions Limited has entered info a big contract at an agreed price
of Rs. 1,50,00,000 to an escalation elause for material and labour as spent aat
on the contract and corresponding actual are as follows:

Material Standard Actual
Quantity Rate per Quantity Rate per

Ton Ton

(Tons) (Rs.) (Tons) (Rs.)

A 3,000 - 1,000 3,400 1,100

B 2400 800 2,300 700

C 500 4,000 600 3,800
D 100 30,000 90 31,500

Labour: Hours Hourly Rate | Hours Hourly Rate
(Rs.) (Rs.)




CAAKASH CASHRUTI CMA INTER- CONTRACT
AGARWAL Y AGARWAL P 4 COSTING

11 60,000 15 26,000
L2 40,000 30 38,000
You are required to:

(i) Give your anaiysis of admissible escalation claim and determine the final
contract price payable.

(i) Prepare the contract account, if the all expensés other than material and

labour related to the contract are Rs. 13,45,000

-

Question 14 HOMEWORK SUM Date:

A contracter prepares his accounts for the year ending 31% Dec each year.

He commenced a contract on 1st April, 2011

The following information relates to the contract as on 31st December 2011
(Rs.)

Material issued 2,51,000

Lahour charges - b5,85800

Salary to Foreman 81,300

A machine costing Rs. 2,680,000 has been on the site for 146 days its working life
is estimated at 7 years and its final scrap value at Rs. 15,000. A supervisor, who
is paid Rs. 8,000 p.m. has devoted ene-half of his time

contract. Ali other expenses and administration charges amount to

Rs. 1,36,500 .'

Material in hand at site costs Rs. 35400 on 31st December, 2011. The contract
price is Rs. 20,00,000. On 31st December, 2011 two-third of the contract was
completed. The architect issued certificates covering 50% of the contract price,
and the contractor had been pald Rs. 7,50,000 on aceount.

Prepare Contract A/c and show how much profit or loss should be included in
financial accounts to 31st December, 2011,
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Question 15 HOMEWORK SUM Date:

A contract is estimated to be 80% complete In its fi
certified. The contractee pays 75% of value of work

certified and makes the final payment on the completion of contract
Following information is available for the first vear:

rst year of construction as
certified as and when

(Rs.)

Cost of work-in-progress uncertified

8,000

Incomplete contract

Profit transferred to Costing P & L Afe at the end of year- 1 on | 12,000

Cost of work to date

88,000

Calculate the value of work-in-progress certified an

d amount of contraet price.
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Question 1
2 products A and B are manufactured using sume process & total cost incurred
cost in producing both products ig Rs. 6,00,000.

1|

Product A B

Linits manufactured 10000 units 20000 units

Selling price per unit at split off point (Rs.) Rs. 10 per Rs. 20 per

Coleulate Joint cost of each product using physical unit method and sale velue at |

separation point method?

Question 2
Suppose 2 products A and B are manufactured using same process & thelr jolnt
cost is Rs. 6,00,000.

Units manufactured 10000 units 20000 units

Selling price per unit after further Rs. 70 per Rs. 63 per
proeessing (Rs.) unit unit

Additional processing cost after split off 200000 300000
point {R8.) |

Caleulate Joint cost of each product using Net realizable value methad?

s
-
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Questlon 3

Humpty Dumiy Ltd. operates a simple chemical process to convert material into

three separate items referred to here as X, ¥ and 2. All three products are

separated simultaneously at a single split-off point.

Product X & ¥ are ready for sale mmediately upon split off without to processing

or any additional cost hut Product Z ean be soid only after fin processing

X - 386 units sold for Rs. 1,500 per unit

Y-587 units sold for Rs. 1,125 per unit

Z - 761 units sold for Rs. 750 per unit

The total joint manufacturing costs for the year were Rs. 6,25,000. An additional

cost of Rs. 3,10,000 was spent to finish product Z.

There were no opening and closing inventories of X, ¥ & Z.

Required:-

(a) Caleulate joint cost of each product using Constant gross margin % NRV
method?

Question 4

Find out the cost of joint products A, B and C using average unit cost method
from the following data:
Pre-separation Joint Cost Rs. 60,000
Production data:

Products Units Produced

500
200
300
1000
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Question 5

Find out the cost of joint products A and B using contribution margin method
from the following dute:

Sales

A: 100 kg @ Rs. 80 per kyg.

B: 120 kg @ Rs. 30 per kg.

Joint eosts

Marginal cost Rs. 4400

Fixed cost Rs. 3,900

Question 6 HOMEWORK SUM Date:
The Jimmy Oil Company purchases crude vegetables oil. It does refining of the
sume. The vefining process resuits in four produets at the split off point: M, N, O
and P.

Pe6roduct O is fully processed at the split off poaint. Product M, N and P can be
individually further refined into ‘Super M', ‘Super N' and ‘Super P'. In the most

recent month (March, 2014), the output at split off point was:
Product M 3,00,000 gallons
Product N 1,00,000 gallons
Product O 50,000 galions
Product P 50,000 gailons

The joint cost of purchasing the crude vegetables oil and processing it were

Rs.40,00,000.

Sunshine had no heginning or ending inventories. Sales of Produet O in March, |

2014 were Rs.20,00,000. Total output of products M, N and P was further

refined and then sold. Dutarelated to March, 2014 are as follows:

Further Processing Costs to
Sales Make Super Products
Super M Rs. 80,00,000 Rs. 1,20,00,000
Super N’ Rs. 32,00,000 f15. 40,00,000

Super P Rs. 36,00,000 Rs. 48,00,000
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Sunshine had the option of selling products M, N and P at the split off point. This
alternative would have yielded the following sales for the March, 2014
production:

Product M = Rs. 20,00,000

Product N = Rs. 12,00,000

Product P = Rs. 28,00,000

You are required to answer;

1.How the joint cost of Rs. 40,00,000 would be allocated between each produet
under each of the following methods (a) sales value at split off: (b) physical
output (gallons); and (c) estimated net realizable value?

2. Could Sunshine have increased its March, 2014 operating profits by making
different decisions about the further refining of product M, N or P? Show the
effect of any change you recommend or operating profits.
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| Question 7 HOMEWORK SUM Date:

A company produces two jolnt product X and Y, from the same hasic materials.
The processing is completed in three departments.

Materials ave mixed in Department 1. At the end of this process X and ¥ get
separated. After separation X is completed in the Department ! and Y is finished
in Department . During a period 2,00,000 kg. of raw material were pracessed in

30% hecomes ¥ and 10% normally lest in processing. In Department 1l 1/6th of the
guantity received fram Department Is lost in processing. X is further processed in
Department !t at a cost of Rs. 1,80,000.

ln Department Uil further new material added to the material received from
Department 1 and weight mixture is doubled, there is no quantity loss in the
department. Further processing cost (with material cost) in Depariment 1H is
Rs.1,50,000

The details of sales during the year are:

Product X Product Y
| Quantity sold (kg.) $0,000 1,215,000
Sales price per kg (Rs.) 10 4

There were no opening stocks. If these products sold at split-off-point. The price
" of X and Y would be fis. 8 and Rs. 4 per kg respectively.

| Reguired:

| (1) Prepare d statement showing the apportionment of joint cost to X and Y

| proportion of sales value at spiit off point,

(71) Prepare a statement showing the cost per kg of each product Indicating joint
cost, processing cost and total cost separately.

‘ (i) Prepare a statement showing the product wise profit for the year.

| (iv) On the hasis of profits before and after further processing of product X and
‘ ¥ give your comment that products should be further processed or not.

Department |, at a total cost of Rs. 8,75,000, and the resultant 60% hecomes X and ||
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Question 8 |
A company manufactures one main product (M1) and two by-products B1 and Ba.

For the month of January 2013, following details are available:
Total Cost upto separation Point Rs. 2,12,400

Particulars M1 81 Bz

Cost gfter separation Rs. 35,000 | Rs. 24,000

No. of units produced : 1,800 3,000

Selling price per unit RS. 40 Rs. 30

Estimated net profit as pereentage to 20% 30%
sales value

Estimated selling expenses as 20% 15% 15%
percentage to sales value

There ave no beginning or closing tnventorles.

Prepare statement showing:

i Allocation of joint cost; and

ii. Product-wise and overall profitabllity of the company for January 2013.
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Question 1
MC Put, Ltd. praduces a product "SKY" which passes through two processes, viz.

Pracess-A and Process-B. The details for the vear ending 318t Mareh, 2014 are as
follows:

Process - A Process - B
40,000 Units Introduced at a cost of Rs. 8,60,000 -
Muterial Consumed Rs. 242,000 2,25,000
Direct Wages Rs. 2,58,000 1,80,000
Manufacturing Expenses Rs. 1,96,000 1,28,720
Qutput in Units 37,000 27,000
Normal Wastage of Input 5% 10%
Serap Value (per unit) Rs. 15 20
Selling Price (per unit) Rs. 37 61
Additional information:
{w) 80% of the output of Process-A, was passed on to the next pracess and the
halance was sold. Theentive output of Process-B was sold.
{b) Indirect expenses for the year was Rs. 4,48,080
(c) It is assumed that Process-A and Process-B are not responsibility center
Required:
{i) Prepare Process-A and Process-B Account
(i) Prepare Profit § Loss Account showing the net profit / net lass for the year

Guestion 2

RST Limited processes Product Z through two distinet processes- Process 1 &
Process 1. On conversion, it is transferred to finished stock. From the following
information for the year 2011~12, prepare Process |, process H & Finished stock
Process i process H
Raw matericl used 7,500 units -
Raw muterial cost per unit Rs. 80 -
Transfer to next process/ finished stock 7,050 units 8,525 units
Normel loss (on inputs) 5% 10%
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Direct wages Rs. 1,85 750 | Rs. 1,25,250
Direct expenses 60% of Direct | 65% of Direct
wages wages
Manufaciuring overheads 20% of Direct | 15% of Direct
wages wages
Realisable value of scrap per unit Rs. 12.50 Rs. 37.50

6,000 units of finished goods were sold at a profit of 15% on cost. Assume that
there was no opening or closing stock of work-in-progress.

Question 3 HOMEWORK SUM Date:
A product passes through three processes. The output of each process is treuted
as the raw material of the next process to which it is transferved and output of
the third process is transferred to finished stock.

——— _—l

1% Process 2" Process | 3™ Process
Materials issued 40,000 20,060 10,000
Labour 6,000 4,000 1,000
Manufacturing overhead 10,000 10,000 15,000

10,000 units have been issued to the 18t process and after processing, the outpui
. of each process is as under;

Quiput Normal Loss
1% Process 9750 units 2%
2n Process 9400 units 5%
3% Process | 8000 units 10%

| No stock of materials or of work-in-progress was left at the end. Calculate the
| cost of the finished articles .,

Question 4 HOMEWORK SUM . Date: }
A product passes from Process and Process II. Materials issued to Process |
amounted to Rs. 40,000, LabourRs. 30,000 and manufacturing overheads were
R8. 27,000. Normal loss was 3% of input as estimated. But 500 more units of
output of Process | were lost due to the carelessness of workers. Only 4,350 units
of output were transferred to Process Il. There were no opening stocks, input raw
material issued to Process | were 5,000 units, |
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You are required to show Process account.

Question 5 HOMEWORK SUM Date:
A product passes thraugh two processes A and B. basic raw material was 8,000
units @ Rs. 9 per unit

During the year 2013, the input to process A of Other information for the year is
as follows:

Process A | Process B
Output units 7,600 4,800
Nermai (088 % to input) 5% 10%
Serap value per unit (Rs.) 2 10
Direct wages {Rs.) 12,000 24,000
Direet expenses (Rs.) 8,000 5,000
Seliing price per unit (Rs.) 15 25

Total overheads Rs. 17400 were recavered as percentage of direct wages. Selling
expenses were Rs.5,000. Thege are not allocated to the processes. 2/3 of the
output of Process A was pussed process and the balance was sold. The entire
output of Process B was sold.
Prepere Process A and B Accounts

Guestion 8 HOMEWORK SUM Date:
A product passes through three processes A, B and C. The normal wastage of
each proeess Is as follows:

Process A - 8 percent, Process B-5 percent, Process C - 8 percent.

wastage of Process A was sold at 25 p. per unit, that of Process B at 50 p. per
unit and that of Pracess C at Re. 1 per unit. 10,000 units were issued to Process A
in the heginning of October, 2008 at a cost of Rs. 1 per unit. The other expenses
were as follows:

. Process A (Rs) | Process B (Rs) | Process C (Rs)
Sundry Material 1,000 1,500 500
Lahour 5,000 5,000 8,500
Direct Expenses 1,050 1,188 2,008
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Actual Output was
Process A 9,500; Process B 9,100; Process C 8,100 units.

Prepare the Process Accounts, normal loss account, abnormal Loss and

abnormal Gain Account.

Question 7

The following details are available of Process X for August 2013

1) | Opening work in progress 8,000
units
Degree of completion and cost
Material 100% Rs. 63,900
Labour (60%) Rs. 10,800
Overheads (60%) Rs. 5400
2) | Input 1,82 000 units at Rs. 7,56,900
3) | Labour paid Rs. 3,28,000
4) | Over heads incurred Rs. 1,64,000
5) | Units scrapped
Degree of completion
Materiai 100%
Labour and overhead 80%

8) | Closing work-in-process

18,000 units |

Degree of completion

Material

100%

Labour and overhead

70%

7) | 1.58,000 units were eompleted and transferred to next
process

8) | Normal loss is 8% of total Input including opening work In

process

9) | Serap value Is Rs. 8 per unit to he adjusted in direct
material cost

You are required to computer, assuming that average method of inventory is used.

L Equivalent produetion andii. Cost per unit
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ion

Following information is available regarding Process A for the month of

Dctober 2013

Production Record

()Qpening work in progress
(Material: 100% complete, 25% complete for labour§
overheads)

40,000 Uiniis

(i) Uinits Introduced

1,80,000 Units

(i) Units Completed

1,50,000Units

fv) Units in-process on 31.10.2013

70,000 Units

(Material: 100% complete, 50% complete for lubour§ overheads)

Cost Record

(Rs.)

Opening work in progress

Material

1,00,000

Labour

25,000

Overheads

45,000

Cost incurred during the month:

Material

6,640,000

Lahour

5,565,000

Overheads

8,25,000

Assure that FIFO method is used for WIP laventory valuation
Required:

.. Statement of Equivalent Production

it Statement showing Cost for each element

iii. Statement of apportionment of Cost

iv. Process A Aecount
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(1)

Opening Work-in-Progress

8,000 units at Rs.
75,000

Degree of Completion: Material

100%

Lahour and Overhead

60%

(i)

input 1,82,000 units at

Rs. 7.37,500

{iif)

Wages paid

3,40,600

(iv)

Overheads paid

1,70,800

)

Units scrapped

14,000

Degree of Completion: Material

160%

Wages and Overheads

80%

(iv)

Closing Work - in- Progress

18,000 units

Degree of Completion: Material

100%

Wages and Overheads

70%

(vii)

Units completed and transferred to next process

1,568,000

(viii)

Normal loss 5% of total input including opening

wip

(ix)

Scrap value is Rs. 5 per unit to be adjusted out of

direct material cost

You gre required to compute on the basis of FIFQ
(DEquivalent Production
(inCost Per Unit

(it)Value of Units transferred to next process.

Question 10

HOMEWORK SUM

Daite:

Opening work-in-progress 1,000 units (6% complete): Cost Rs. 1,100. Linits
introduce during the period 10,000 units; Cost Rs. 19,300. Transferred to next
process - 9,000 units. Closing work-in-progress. 800 units (75% complete).
Normal loss s estimated at 20% of total input including units in process at the
beginning. Serap realize Rs.1 per unit. Seraps are 100% complete.

Compute equivalent production and cost per equivalent unit. Also evaluate the
output solve this by Average Cost Method
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Question 11 HOMEWORK SUM " Date:

From the following Information for the month ending October, 2013, prepare
Process Cost accounts for Process Ull. Use First-in-fist-out (FIFO) method to
value equivalent production:-

Direct materials added in Process Nl 2,000 units at Rs.25,750
(Opening WIP)

Transfer from Process !
Transferred to Process IV
Clasing stock of Process !
Units serapped

Direct material added in Process {l!
Direct wages

Production Overheads

53,000 units at Rs. 4,11,500
48,000 units
5,000 units
2,000 units
Rs. 1,97,600
Rs. 97,500
Rs. 48,800

Degree of completion:

Opening Stock

Closing Stoek

scrap

Materials

80%

70%

100%

Labour

60% -

50%

70%

Overheads

60%

50%

70%

The normal loss in the process was 5% of production and serap was sold at

Rs. 3 per unii.
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. Question1?  HOMEWORKSUM  Date |

ABC Limited manufactures a product ZX' by using the process namely RT. For the
month of May, 2014, the foilowing data are available:

Process RT
Material introduced (units) 16,000
Transfer to next process (units) 14,400
Work in process:
At the beginning of the month (units) (4/5 completed) 4,000
At the end of the month (units) (/3 completed) 3,000
Cost records
Work in process at the beginning of the manth
Material
Conversion cost Rs. 30,000
Cost during the month : materials , Rs. 29,200
Conversion cost : Rs. 1,20,000
Rs. 1,60,800

Normal speiled units are 10% of good finished output transferred to next
process. Defects in these units are identified in their finished state. Material for
the product is put in the process atthe heginning of the cycle of operation,
whereas labour and other indirect cost flow evenly over the year. It has no
realizable value for spoiled units,

Regquired:

. Statement of equivalent production {Average cost method);

{i. Statement of cost and distribution of cost

ifi. Process accounts

Question 13 HOMEWORK SUM Date:

XP Lid. furnishes you the following information relating to process I
i. Opening work-in-progress - NIL

i, Unis Introduced 42,000 units @ Rs. 12

ifi .Expenses debited to the process:

{Rs.)

Direct material 61,530
Labour8s,g20
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Overheud 1,76,400

iv. Normal loss in the process = 2 % of input.
v. Closing work-in-progress - 1,200 units
Degree of completion -
Materials 100%
Labour 50%
Overhead 40%
vi, Finighed output - 39,500 units
vii. Degree of completion of ubnormal loss:
Material 100%
Labour 80%
Qverhead 0%
viii. Units scraped as normal loss were sold at Rs. 4.50 per unit.
ix. All the units of abnormal loss were sold at Rs. 9 per unit.
Prepare:
(a) Statement of equivalent y_;mducﬁon
(h) Statement showing the cost of finished goods, abnormal loss and closing
wark-in-progress
(¢) Process !l aecount and apnormai loss account.

Question 14 HOMEWORK SUM Date:
Followlng details are related to the work done in Process ‘A’ XYZ Company during
the month of March, 2015:
(Rs.)
Opening wark-in progress (2,000 units)
Materials 80,000
Labour1s,000
. Overheads 45,000
Materials introduced in Process 'A’ {38,000 units) 14,80,000
Direct Labours,59,000
Qverheuds 10,77,000
Units serapped: 3,000 unlts
Degree of completion :
Materials 100%
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| tabour and overheads  80%
| Closing work in progress 2,000 units

Degree of completion

Materials 100%

Labour and overheads  80%

urtits finished and transferred to Process 'B: 35,000 units

. Normul Loss

5% of total input including opening work-in-progress

Scrapped units fetch Rs. 20 per piece

You are required to prepare

1. Statement of equivalent production

2 Statement of cost

3. Statement of distribution cost, and

4. Process 'A' Account, Normal Loss Account Normal Loss Account and Abnormal
Loss Accaunf

Question 15  HOMEWORK SUM Date:
A Company produces a component, which passes through two processes. During
| the month of April materials for 40,000 components were put into Process of
. which 30.000 were completed & transferred to Process {l. Those not transferred to ||
Process Il were 100% complete as to materials cost and complete as to labour ||
‘ and overheads cost. The Process | costs incurred were as follow

. Direct Materials Rs. 15,000
Direct Wages Rs. 18,000
Factory Overheads Rs. 12,000

Of those transferrved to Process il, 28,000 units were completed and iransferred
} to finished goods stores

| There was a normal loss with no salvage value of 200 units in Process IL There
were 1,800 units Remained unfinished in the process with 100% complete as to
materials and 25% complete as regard to wages and overheads. No further
process material costs occur after introduction at the first process until the end
of the second process, when pratective packing is applied to the completed

| components. The process and packing

costs incuired at the end of the Process il were:
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Packing Materials Rs. 4,000

Direct Wages Rs. 3,500

Factory Overheads Rs. 4,500

Required:

(i) Prepare Statement of Equivalent Production, Cost per unit and Process ! Ale,
(ii) Prepare statement of Equivalent Production, Cost per unit and Process |l Ale.

Gluestion 16
A product passes through three processes X, V' and Z The output of process X' &

V' i3 transferred to next process at cost plus 20 per cent each on transfer price

and the output of process ‘7’ is transferred to finished Stock at a profit of 25 per
eent on transfer price. The following information are available in respect of the
current year ending on 31st March-

Process- X | Process- X | Process- X | Finished
(Rs.) (Rs.) (Rs.) Stock (Rs.)
Opening stock 15,000 27,000 40,000 45,000 |
Material 80,000 65,000 50,000 -
Wages 1,25,000 1,08,000 52,000 -
Manufacturing 96,000 72,000 66,500 °
Overheads
Closing stock 20,000 32,000 39,000
| \nter process profit | NIL 4,000 10,000 20,000
‘ included in Opening
stoc yp 52 e 4
Stock in processes is valued at prime cast. The finighed stock is valied at the price
at which it is received

from process Z Sules of the flnished stock during the period was Rs. 14,00,000.

You are reguired to prepare:

(i) Pracess wccounts and finished stock account showing profit element at each
stage.

(if) Costing Profit and Loss vecount.,

{iiiy Show the relevant items in the Balance Sheet.

)
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| Question 17

October2014

HOMEWORK SUM
A Ltd, produces product AXE which passes through two processes before it is
completed und transferved to finished stock. The following data relate to

~ Date:

Process | Process {l | Finished
(Rs.} (Rs.) Stock (Rs.)
| Opening stoek 7,500 9,000 22,500
Divect material 15,000 15,750 -
Direct wages 11,200 11,250 -
Factory overheads 10,500 4,500 -
Closing stock 3,700 4,500 11,250
Inter process profit included in | - 1,500 8,250
opening stock

during the period are Rs. 1,40,000

element at each stage.

Output of Process  is transferred to Process I at 25% profit on the transfer price.
Output of Process il is transferred to finished stock at 20% profit on the transfer

price. Stock in process is valued ai prime cost.
Finished stock is valued at the price at which it is received from process ll. Sales

Prepare Process cost accounts and finished goods account showing the profit

QHBSTFOH 18

February, 2014
Production Record
Units in process us on 01.02.2014

New units introduced
Unlts completed
Units in process as on 28.02.2014

Cost Records:

Following information is available regarding process A for the montk of

(All materials used, 25% complete for labour and overhead)

(All materials used, 33-1/3% complete for iabour and overhead)

4,000

16000 ||
14,000
6,000
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Work-in-process as on 01.02.2014 (Rs.)

Materials 6,000

Labour 1,000

Overhead 1,000

Cost during the month

Material 25,6800
Labour 15,000
Overhead 15,000

55,600

Presuming that average method of inventory is used, prepare
i. Statement of Equivalent Production

ii. Statement showing cost for each element

lii. Statement of Apportionment of cost.

iv. Process Cost Account for Process A

4
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[ Question 1 '
The Profit and Loss Accounis of Hutiya Lid. for the year ended 318t March, 2007 is

as follows: |

Particulars Rs. Particulars Rs.
4,80,000 8,60,000
To Muaterials 3,60,000 | By Sales 1,50,000
To Wages 240,000 | By Closing Stock
To Factory Expenses 1,20,000 | By Work-in-progress:
To Gross Profit Materials 30,000
Wages 18,000
fuctory Exp. 12,000 60,000
12,606,000 12,00,000

To Administration
Expenses (related with 60,000 | By Gross Profit 1,20,000
production activity) By Dividend received 6,000

To Net Profit
66,000

1,26,000 1,26,000
Ag per the costing records the indirect factory overheads have been absorbed at
50% of wages and administrative overheads at Rs. 15 per kg. During the year 6,000
kgs. were manufactured and 4,800 kgs. were sold.

Prepare a statement of cost and profit as per Cost Accounts and reconcile the
costing profit with the financial profit.
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‘ Gluestion 2 ]
? The Following figures have been extracted from the Financial Accounts of a |
| Manufacturing Firm for the first year of its operation:
‘ Rs.
Direet Material Consumption 50,00,000
| Direct Wages 30,00,000
| Factory Overheads 18,00,000
Adminisirative Overheads related with production aetivities 7,00,000
Selling and Distribution Overheads 9,860,000 |
Bad Debts 80,000 |
Preliminary Expenses written of 40,000 |
Legal Charges 10,000 |
Dividends Received 1,00,000 |
Inierest Received on Deposits 20,000
Sales (1,20,000 units) 1,20,000 l
Closing Stocks: |
Finished Goods (4,000 units) 3,20,000 ;
Work-in-progress 240,000
The cost uecounts for the same period reveai thut the direct material consumption
was Rs. 56,00,000. Factory Overheods are recovered at 20% on Prime Cost.
Administration Overheads are recovered at Rs. 8 per unit produced. Selling end
Distribution Overheads are recovered at Rs. 8 per unit sold.
Required: Prepare the Profit und Loss Statement both as pev financial records and |
as per cost records. Reconcile the profits as per the two records. |

Question 3

The following information is available from the financial books of a eompany
having a normal production capacity of 60,000 units for the curvent year ended on
31 st March.

() Sales Rs. 10,00,000 (50,000 units).

(i) There was no opening and closing stock of finished uaits.

| (iii) Diveet Material and Direct Wages cast were Rs. 500,000 and Rs. 2,50,000
respectively
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{iv)  Actual Factory Expenses were Rs. 1,50,000 of which 60% are fixed,

{v) Actual Administrative Expenses related with production activities were
Rs. 45,000 which are completely fixed.

(vi} Actuai 8elling and Distribution Expenses were Rs. 30,000 of which 40% are
fixed

(vii} interest and dividends received Rs. 15,000,

You are reguired to:

(@) Find out profit as per financial books for the current year ended on 31st
March.

(h) Prepare Statement of Cost and Profit as per cost accounts for the current
year ended on 31st March, 2018 assuming that the indirect expenses are
absorbed on the basis of normal production capacity, and

(c) Prepare a statement reconciling profits shown by financial and cost books

4  HOMEWORK StUM Date:
The following information is available in the financial accounts of o
manufacturing company for the year ending on 31* March.

Rs.
Direct Material Consumption 3,55,000
Direct Wages 3,60,000
Manufucturing expenses 2,45,000
Office &Administrative Overheads related with production 240,000
activities

8elling and Distribution Overheads 2,00,000
Donation and charity : 20,000
interest on debentures 48,000
Preliminary expenses (written off) 20,000
Provision for income - tax : 75,000
Interest received on deposits 25,000
Saies: 1,80,000 units 16,20,000
Closing stock of finished goods: 30,000 units 1,50,000

The Cost accounts reveals:
.. Manufucturing overheads recovered at 80 percent on direct wages,

-  CONT:8007777042/043 "
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ii. Office and administrative overheads recovered at 25 percent on fuctory
cost.

iil, Selling and distribution overheads at Rs. 1.00 per unit sold.

iv. Closing stock of finished goods valued at cost of production.

You are required to:

(1) Prepure Profit and Loss Account showing net proftt in financial accounts,

(ii) Prepare a statement showing profit in the cost accounts.

(1ii) Prepare a statement reconciling the profits disclosed as per above
(1) and (i)

Duestion 5

A manufactaring eompany has disclosed net toss of Rs. 48,700 as per their cost
aecounting records for the current year ended 31st March. However their financiol
accounting records disclosed net profit of Rs. 35400 for the same period. A
scrutiny of data of both the sets of books of aceounts reveaied the following
information:

Particulars Rs.
Factory overheads under absorbed 30,500
Administrative overheads over ahsorbed 65,000
Depreciation charged in financial geeounts 2,25,000
Depreciation charged in cost accounts 2,70,000
Iheome - tax provision 52,400
Transfer fee {credited in financial accounts) 10,200
Obsolescence loss charged in financiai acecounts 20,700
Notional rent of own premises charged in cost accounts 54,000
Value of opening stock:
(a) in cost aceounts 1,38,000
{b} in financiul cecounts 1,15,000
Value of closing stock:
{a) in cost aceounts 1,22,000
{b) in financial vecounts 1,12,500
Prepare a Memorandum Reconciliation Account by taking costing loss as base.

O |~{djen|H ||
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| From the following information (1) determine the profit as it would be shown by

\ financial accounts:

TRADING AND PROFIT AND LOSS ACCOUNT

cost accounts; and (i) prepare a statement reconciling It with profit shown by

| Dr. For the current year Ended on 31st March Cr.

| Particulars Rs. Particulars Rs.
Materials Consumed 2,00,000 | Sales (1,00,000 units) 4,00,000
Direct Wages 1,00,000

' |_Indirect Expenses (Works) 60,000

| Admin Expenses related with | 18,000

|| _production activities

‘ Seilling and Distribution 12,000 .

'} Expenses

‘ Net Profit 10,000

4,00,000 4,00,000

| The normal output of the factory is 1,50,000 units. Works expenses of a fixed

| hature are Rs. 36,000. Admin expenses ave for all praetical purposes constant.
| Selling and distribution expenses are constant to the extent of Rs.6,000, and the

I balance varies divectly with sales.

Question 7

The following is the Trading and Profit and Loss Account of Gangster Limited:

, Dr.
- Cr.
Particulars Rs. Particulars Rs.
To Material Consumed | 28,01,000| To Net Profit for the 48,75,000
year
To Direct Wages 12,05,750 | By Finished Goods 1,30,000
Stock (1,000 units)
Te Production 8,92,250 | By Waork-in - Progress:
| Overheads
| To Administration 1 8,10,375 | Materials 55,250
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Overheads related with '!
praduction activities |
To Selling and Dist. 3,68,875 | Wages 26,000
Overheads
To Preliminary 22,750 Production Overhead 97,500
Expenses written off 18,250
To Goodwill written off 45500 | By Dividends received 390,000 | |
To Fines 8,250 By interest on bank 65,000 '.

deposits |
To interest on 13,000
Mortgage : l
To Loss on Sale of 18,250 |
Machine .
To Tuxation 1,95,000 ,
To Net Profit for the 3,83,500 |
VBC“"

- 55,567,500 55,57,500

Gangster Limited manufactures o standard unit.

The Cost Accounting records of Omegu L. Shows the following:

(1) Production Overheads have been charged to work - n - progress at 20% on
Prime cost.

(ii) Administration Overheads have been recovered at Rs.8.75 per finished ;

Unit. l,

(iii)Selling and Distribution Overheads have been recavered at Rs. 13 per Unit sold. |

(iv) The under or Over - abserption of Overhecds has not been transferred to, "

Costing P/L Account. |

Required: |

i. Prepare a proforma Costing Profit and Loss Account, indicating net profit

ii. Prepare Control accounts for Production Overheads, Administration
Overheads and Selling and Distribution Overheads.

ifi. Prepare a statement reconciling the profit disclosed by the cost records

with that shown in Financlal accounts
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Question 8 HOMEWORK SUM ¢ Date;

The following figures are available from financial uccounts for the curvent year
ended 81st March;

Particulars Rs. Particulars Rs.

Direct Material 2,50,000 Legal Charges 5,000

Consumption

Direct Wages 1,00,000 Dividend Received 50,000

Production Overheads 3,80,000 Interest on Deposit | 10,000
received

Administration Overheads 2,50,000 Sales 7,00,000

related with production 1,20,000 units

activities :

8elling and Distribution 4,80,000 Closing Stock:

Bad Debts 20,000 Finigshed Stock - 1,20,000
40,000 uniis

Preliminary Expenses 10,000 Work-in-progress 80,000

(written off) 10,000 units

The cost accounts reveal:

Direct Material Consumption: Rs. 2,80,000.

Production Overhead recovered at 20% on Prime Cost.

Administration Overhead at Rs. 8 per unit of production

Selling and Distribution Over head at Rs. 4 per unit sold.

The under or over absorption of overheads has not been transferred to Costing

P&L A/C

Required: Prepare:

{a) Costing Profit and Loss Account.

() Financial Profit and Loss Account

(c) Statement reconciling the profits diselosed by the Costing Profit and Loss
Account and Financial Profit and Loss Account

(d) Preduction Overheads Afe, Administration Overheads Account and Selling
& Distribution Overheads A/C
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CAAKASH CA SHRUTI CMA INTER- INTEGRATED AND
AGARWAL AGARWAL NON INTEGRATED ACCOUNTS

Stores Ledger Control Account
Particuiars Amt Particulars Amt

To balanee b/d XXX | By WIP Ledger Contral Afe XXX
(issued for production)
To GLA A/c (Material Purchased) | XXX | BY faetory OH control A/e XXX
By Adm. PH Control A/c XXX
By selling OH eontrol Ale XXX
BY GLA A/e (Insurance claim) | XXX
By Cesting P & L A/e XXX
{Loss on fire)
By GLA Afe {return to stores) | XXX

By balance c/d XXX

XXX XXX

There happened fire on material worth Rs. 10,000 and insurdance company gave
only Rs. 8,000
171 T — .Dr. 8,000 (GLA A/c)
P&LAN e Dr. 2,000 (Costing P & L Afc)
To Raw material Afc 10,000 (Stores ledger control A/e)

es Control Account
Particulers Partictlars Amt

To GLA Ajc {Wages paid) By WIP Ledger Control Ale XXX
(wages Incurred for production)
By factory OH control A/e XXX
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(indirect wages for factory)

By Adm. PH Control A/c XXX
(indirect wages for Adm. office)
By selling OH control Aje XXX

(Indirect wages for selling office)

XXX

Factory/ Production Overheads

Partiealars Amt Particulars Amt

To Stores Ledger Control Afe XXX | By WIP Ledger Control Afe XXX
(Indirect material) (OH Recovered)

XXX | By costing P&L XXX

Ta wages control Afe (Indirect
wages)

{OH under recovered)

To GLA Afc XXX
(Factory overhead incurred)
To Costing P&L A/C XXX

XXX

wIP Led&er Control A/c

Particulars Anit Particulars Amt

To balance b/d XXX | By F§ Ledger Control Afc XXX
(FG T/F to warehouse)

XXX | By baiance e/d XXX

To Stores Ledger Control Afe
(Raw material issued to factory)

To wages control A/e
(wages for produetion)

XXX

To factory OH control Afc
(OH factory)

To GLA A/c {purchase material
directly by factory)
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To GLA Ale
(Direct exp. Charged)

XXX

XXX

Admin Overheads Control A/c

Particulars Amt Particulars Amt
To Stores Ledger Control Afe XXX | By ¥G Ledger Control A/e XXX
(Indivect material) (OH recovered)

Te wages control A/c XXX | BY costing P& LA/c XXX
(indirect wages) (OH Under- recovered)
To GLA Afc (Admin OH ineurred) | XXX

To costing P & L Afe
{OH Over- recovered)

XXX

FG Ledger control A/e

{OH Recovered)

Particulars Amt Particulars Amt
To baiance b/d XXX | By cost of Sales A/e
(cost of sold goods)
70 WIP ledger control Aje (F§ | XXX | By balance ¢/d
transferred to warehouse)
To admin OH Control Afc XXX

XXX

Selling & Distribution overheads control aecount

Particulurs Amt Particulars
Te Stores Ledger Control Afe XXX | By cost of sales Afc XXX
(Indirect materiai) (OH recavered)
Te wages contral A/c XXX | BYcosting P&LA/c XXX
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(indirect wages) (OH Under- recovered)
To GLA Afe XXX
{(Admin OH incurred)
To cosiing P & L Ale
(OH Over- recovered)
XXX XXX
Cost of sales account
Particulars Amt | Particulars Amt
To FG ledger control Ale (FG T/F | XXX | By costing P & L a/c (on sale of XXX
from warehouse to showroom) finished goods) uctual cost of sales
To selling OH control A/e XXX XXX
(OH recovered)
XXX

Costing Profit & Loss Account

Purticulars

Amt Particuiars

Amt

To cost of saies a/c

XXX | By GLA Afe (Sules)

XXX

To Stores Ledger Control Afe

XXX | BY Factory OH Control Afc (Over | XXX

recovered OH)

To Factory OH Control A/c
(Under recovered OH)

XXX | BY Admin OH Control Afc
(Over recovered OH)

XXX

To Admin OH Conirol Ale
(Under recovered OH)

By selling OH Contral Afe
(Over recovered OH}

XXX

To selling OH Control A/e
{(Under recovered OH)

XXX

To GLA A/c {Net Profit)
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XXX

XXX

GLA Account

Particulars Amt Particulars Amt
To costing P & L Afc (Sules) XXX | By balance ¢/d XXX
To stores ledger control {return | XXX | By stores ledger control Afe XXX
to stores) (Purchased)

To halance c/d XXX | By wages control A/e XXX

(wages incurred)

BY factory OH contral Aje

XXX

By Admin OH controi Afe

XXX

BY selling OH contral Afc

XXX

BY costing P & L Afc (profit)

XXX

BY WIP Ledger Controf Afc
(Matevial purchase directly by
factary

XXX

BY WIP Ledger controt Afe
(Direct exp. Charged)

XXX

XXX

Trial Balance

Particulors

DR

Stores ledger control Aje

WIP Ledger

FG Ledger control A/c

GLA Afe
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Question 1

Pass the journal entries in the cost books (non-integrated system) for the
following transactions:

(1) Materials worth Rs. 25,000 returned to stores from job,

(1) Gross total wages paid Rs. 48,000. Employer's contribution to PF and State
Insurance amount to Rs.2,000. Wages analysis book detalled 40% Direct Labour
and Indirect Labour to be distributed as 50% towards Production, 20% towards
Administration and 30% towards Selling and Distribution.

Question 2

The balance in the cost ledger of manufacturing company on 1st January was;

Rs.

Stores Ledger Control Account : 7,000
Work in Progress Ledger Control Account 12,300
Finished Goods Ledger Control Account 2,000
General Ledger Adjustment Account 21,800
You are glven the following information for the current year:

Purchase of Material 40,000
Direct Factory Wages 80,000
Manufacturing Expenses 34,600
Setling and Distribution Expenses 5,400
Material issued to Production 37,200
Manufacturing Expenses Recovered 34,440
Selling and Distribution expenses Recovered . 5,320
Saies 1,50,000
Stock of Finished Goods at December 315t 4,700
Work in progress at December 14,700

You are reguired to show the account in the cost ledger for the above year, io
prepare the costing Profit & Loss A/c for the year & extract the Trial Balance
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Solution to Question 2

Rs. Coneept No. | Debit
Stares Ledger Control Account 7,000
Wark in Progress Ledger Contral Account 12,800
Finished Goods Ledger Control Account 2,000
General Ledger Adjustment Account 21,800

Purchase of Material 40,000
Direct Fuctory Wages 60,000
Munufacturing Expenses 34,600
Selling and Distribution Expenses 5400
Material Issued to Production 37,200
Manufucturing Expenses Recovered 84,440
Seiling und Distribution expenses 5,320
Recovered

Sales 1,50,000
Stock of Finished Goods at December 315t 4,700
Work in progress at December 14,700

Stores Ledger Control Account
Particulars Amt Particulars

Ta halance h/d By WIP Ledger Controi Afe
To GLA Afe By balance cfd

Wages Control Account

Particulars Amt Particulars
To GLA Afc By WIP Ledger Control Afc
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Manufacturing OH Contral Ale

Particulars Amt Particulars Ant
To GLA A/e By WIP Ledger Control Afe
BY costing P& L

wipP Ledger__gonfm! Ale

Particulars Amt Particulars Amt
To balance b/d By G Ledger Control A/c
To Stores Ledger Contrel Afc BY balance ¢/d

To wages control Afe
To fuctory OH control Afc
To manufacturing OH

FG Ledger control Ale

Particulars Amt Particulars Amt
To balance b/d By cost of Sales A/c

TO WIP ledger contral Alc BY balance c/d

Selling & Distribution overheads control account
Particulars Amt Particulars Amt

To GLA Ale By cost of sales A/e
BY costing P & L Afe

Cost of sales neeoun

Particulars Amt Particulars Amt
To FG ledger control Afe By costing P & L a/c
7o seiling OH control Afe
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Costing Profit § Loss Account

Purticulars

Amt

Particulars

To cost of sales a/c

By GLA Afc (Sales)

To Manufacturing OH Control Afe

To selling OH Control Afe

To GLA Afc (Net Profit)

g@ Account

Particulars

Amt

Particulars

To costing P & 1 A/c

BY balance e/d

To bail ¢/d

By stores ledger control Afc

By wages control Ajc

BY factory OH control Afe

By Admin OH control Afe

BY selling OH control Ajc

BY costing P & L A/e (profit)

Trial Bolance

Particulars

DR

Stores ledger controi Alc

WIP Ledger

FG Ledger control A/c

GLA Afc
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Question 3 HOMEWORK SUM Date:
The following halances are shown in the Cost Ledger as 1% January
.DR. (Rs) CR (Rs.)

Finished goods Control Account 2,000

Work in progress econtrol Account 4,000

Store ledger control Account 10,000

Cost Ledger Control Account ~ -ceee-ns 18,000

16,000 16,000

Transaction for the year ended 31 December were as follows;

Purchase of Material 59,000
Purchase of Material directly by factory 3,600
Return to Suppliers Stores 400
Wages/Salary Paid ol
Direct | 41,000

Factory Indirect 9,000
Adminisivative Staff 7,800

Selling & Distribution 4800 62,600
Expenses (Direct) 4,400
Production Expenses 10,200
Administration Expenses (production related) 8,200
Selling & Distribution Expenses 5,200
Material Issued to Production 61,000
Material Lost by fire in the Store 800
Stores issued to Maintenance account 2,600
Production Overhead recovered 22,000
Administration Overhead recovered from Finished Goods 15,800
Selling and Distribution overhead recovered from cost of sales 10,400
Finished Goods Produced 1,32,000
Cost of Goods Sold 1,40,000
| Sales 1,60,000
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Rs. Concept No. | Debit | Credit
Stores Ledger Control Account 10,000
Work in Progress Control Account 4,000
Finished {oods Contral Account 2,000
Cost ledger controi Account 18,000

Purchase of Material 59,000
Purchase of Materiul Directly by Factary | 3,600
Return 1o supplier stores 400
Wages/ Salaries Paid:
 Direct 41,000
Factory indirect 9,000
| | Admin Staff 7,800
Selling & Distribution 4,800
62,600
Expenses (Direct) 4,400
Production Expenses 10,200
Administration Expenses 8,200
Selling & Distribution expenses 5,200
Material issued to production 61,000
Materia! lost by five in the store 800
Stores issued to maintenance account 2,600
Production Overhead recovered 22,000
Administration overhead recovered from | 15600
finished goods
Selling & Distribution OH recovered from 10,400
cost of sales
Finished Goods produced 1,32,000
Cost of goods sold 1,40,000
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Sales

1,60,000

Stores Ledger Control Account

Particuldars Amt Particulars Amt
To balance b/d By WIF Ledger Control Afe
To GLA Afe BY factory OH control Afc

By Costing P & L Afe (Loss on fire)

By GLA Afc (return to stores)

By balance c/d

Wages Control Account

Particulars

Amt

Particulurs

Amt

To GLA AJe (Wages paid)

By WIP Ledger Control Aje

BY Production OH control Alc

By Adm. PH Conirol Afc

By selling OH control Afe

Factory/ Production Overheads

Particulars

Amt

Particulars

Ami

To Stores Ledger Control A/c

By WIP Ledger Control Afc

To wages control Afc

To GLA A/e

TO Costing P&L A/C

WIP Ledger Control Alc

Particulars

Amt

Particulars

Amt

To balance b/d

By FG Ledger Contro! Afe
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Ta Stores Ledger Control Afc

BY balance c/d

To wages coatrol Afe

To fuctory OH control Afe

To GLA Alc

To GLA (Direct)

Admin Overheads Control Alc

Particulars

Amt

Particulars

To wages contral Afe

By FG Ledger Control Ajc

To GLA Afe

BY costing P & L A/c
(OH Under- recovered)

FG Ledger controi A/c

Particulars

Amt

Particulars

Te halance h/d

By cost of Sales A/c

TO WIP ledger contro! Afe

BY halance e/d

To admin OH Coatrol a/fe

Seiling & Distrihution overheads control account

Particulars

Amt

Particulars

To wages control Afc

By cost of sales Afe

To costing P &L Aje
(OH Over- recovered)
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CMAINTER- INTEGRATED AND
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Particulars

Amt

Particulairs

To F ledger control Afc

To selling OH control Afe

By costing P & L a/c

Costing Pro

Lo ceoun

Particulars

Amt

Particulars

Amt

To cost of sules ajfe

By GLA A/e (Sales)

To Stores Ledger Control Afc

By Production OH Control Afc
(Over recovered OH)

To Admin OH Control Afc
{Under recovered OH)

By selling OH Control Ajc

To GLA Afe (Net Profit)

GLA Account

Particulars

Amt

Particulars

Amt

{6 costing P & L A/e (Sales)

BY balance e/d

To stores ledger control

By stores ledger control Afe

To balunce ¢/d

By wages control Afe

BY factory OH control Afe

By Admin OH control Alc

BY selling OH control Afc

BY costing P & L A/e (profit)

BY WIP Ledger Control Aje

BY WIP Ledger conirol Afc
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Trigl Balance
Particulars DR

Stores ledger contrel Afc
WIP Ledger

FG Ledger control Afc
GLA Afe

Question 4 _ ~ Date:
As of 31 March the following balances existed in a Firm's Cost Ledger which is
maintained separately an a double entry basis-

Account Head Debit Rs.| Credit Rs.
Stares Ledger Control A/C 8,00,000 |-
Wark~in-Progress Control Ale 1,50,000 |-
Finished Goods Control A/C 2,50,000 |-
Manufacturing Overhead Control Afe | - 15,000

Cast Ledger Control A/C - 5,85,000
Total 7,00,000 |7,00,000

During the next guarter, the following items arose -
Transaction Rs. Transaction Rs.

Finished product (at cost) | 225,000 | Cost of goods sold 1,75,000

Manufacturing OH incurred | 90,000 Materials issued to 1,35,000
production

Raw material purchased 1,25,000 | Sales returned (at cost) 9,000

Factory wages 40,000 | Materials returned to 13,000
suppliers
Indirect labour 20,000 | Manufacturing GH charged | 85,000
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—

You are required to prepare the following

to production

Cost Ledger Control Afc,

Manufacturing Overhead Control Afe

Stores Ledger Control Ale

Wages control Afe

Work in progress conirol Afe

Cost of Sales A/e

Finished Stock ledger control Afe

Trial Balance at the end of the quarter

Solution t¢ Question 4 :-

Following table is just for understanding the concepts (Not for exam)

Rs. Concept No. | Debit Credit
Stores Ledger Contro! Account 3,00,000
Work in Progress Control Account | 1,50,000
Finished Goods Control Account 2,50,000
Cost ledger control Account 8,85,000
Finished product (at cost) 225,000
Manufacturing OH 90,000
Raw Materiul Purchased 1,25,000
Factory Wages 40,600
Indirect Labour 20,000
Cost of goods sold 1,75,000
Materials issued to production 1,385,000
Sules Returned (at cost) 9,000
Materials returned to supplier 13,000
Manufacturing ON charged to 85,000
production
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Stores Ledger Control Account

Particulars

Amt

Particulars

To hailance h/d

By WIP Ledger Control Afe

To GLA A/e

BY GLA Afc

By balance e/d

Wages Control Aecount

Particulars Amt

Particulars

To GLA Alc

By WIP Ledger Control Afc

BY manufucturing OH control Afe

By Adm. PH Contral A/c
{indivect wages {or Adm. office)

By seliing OH control Afe (indirect
wages for selling office)

Factory/ Production Overheads

Particulars

Amit

Particuiars

To Stores Ledger Control Afc
{lndirect material)

By WIP Ledger Control Afc (OH
Recovered)

To wages control Ade (indirect
wages)

BY costing P § L (OH under
recovered)

To GLA A/e (Fuctory overhead
incurred)

TO Costing P§L A/C
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WIP Ledger Control Afc

LDUCATEON 15 POWLR

Particulars

Armt

Particulars

Amt

Te haiance b/d

By F§ Ledger Control Afc
(FG T/F to warehouse)

To Stores Ledger Control Afe (Raw

material issued to factory)

BY balunce c/d

To wages control Afe
(wages for production)

To factory OH conirol A/c
(OH fuctory)

To GLA A/c (purchase material
directly by factory)

To GLA A/c (Direct exp. Charged)

FG Ledger control Ale

Particulars Amt Particulars Amt
To balance b/d By cost of Sales Afe
(cost of sold goods)

TO WIP ledger controi Afe
(FG transferred to warehouse)

BY balance e/d

To admin OH Control Afe
(OH Recovered)

Selling & Distribution gverheads control account

Particulars

Amt

Particalars

Amt

To Stores Ledger Control Afe
(Indirect material)

By eost of sales Afc
(OH recovered)

To wages control Afe

{(indirect wages)

BY costing P & | Afe
(OH Under- recovered)
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To GLA A/e (Admin OH incurred))

To costing P & L Afe
(OH Over- recovered)

Cost of sales account

Particulars

Amt

Particulars

To FG ledger control Afe
(FG T/F from warehouse to
showroom)

By costing P & L a/c
(on sale of finished goods)
actual cost of sules

To selling OH contral Afc
(Ot! recovered)

Costing Profit & Loss Account

Particulars

Amt

Particulars

To cost of sales a/c

By GLA Afc (Sales)

To Stores Ledger Control Afe

BY Fuctary QH Control Afc
(Over recovered OH)

To Factory OH Control Afe
(Uinder recovered ORH)

BY Admin OH Contrel Afc
(Over recovered OH)

'To Admin OH Control Ale
(Under recovered OH)

BY seiling OH Control Afe
(Qver recovered OH)

To selling OH Control Afe
(Under recovered OH}

To LA A/c (Net Profit)
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GLA Account

Particulars

Amit

Particulars

To eosting P & L Afe (Sales)

BY balance e/d

To stores ledger control (return
to stores)

By stores ledger control Afc
(Purchused)

To balance ¢/d

By wages control A/c (wages
incurred)

BY factory OH control Afe

By Admin OH control Afe

BY selling OH control Afe

BY costing P & L Afc (profit)

BY WIP Ledger Control Aje
(Material purchase directly by
factory

BY WIP Ledger control Ajc

(Direct exp. Charged)

Trial Balance

Particulars

oR

Stores ledger control Afc

WIP Ledger

FG Ledger control Afc

GLA Alc
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Gluestion 5

| After the annual stock taking you come to know of some significant discrepancies
between book stock & physical stock. You gather the following information
ttem Stock card Stares ledger Physical check | Cost/ Unit

linits Linits Units Rs.
A 600 B 560 (214)
B 380 380 385 4}

Pass necessary journal entries to record the ubove situation under different
circumstances

Question 6 HOMEWORK SUM Date:
Journalise the foliowing transuctions assuming cost and financial accounts

Particulars Amount (Rs.)
i) Materials issued
Direct ‘ 3,25,000
Indirect 1,15,000
i) Allocation of wages (25% indirect) 8,50,000
iii} Under/Over absorhed overheads:
Factory (Over) 2,50,000
Administration {production related) (Under) 1,75,000
(iv) Paymeni to Sundry Creditors 1,50,000
(v) Collection from Sundry Debtors 2,00,000
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Question 1
following information are available for the year 2020 and 2021 of PEG Limited:
Year 2020 , 2021
. Sales Rs.32,00,000 Rs.57,00,000
Profit/(Loss) (Rs. 3,00,000) Rs.7,00,000
Calculate - (a) P/V ratio, (b} Total! fixed cost, and (c) Sales required to earn a
| Profit of Rs 12,00,000. :

| Question 2
- The ratio of variable cost io sales is 70%. The break-even point oceurs at 60% of
 the capacity sales. Find the capacity sales when fixed costs are Rs.90,000. Also

___compute profit at 75% of the capacity sales

Question 3

JOJO Ltd sells its product at Rs. 15 per unit. in a period, If it produces and sells
8,000 units, it incurs a loss of Rs. 5 per unit. If the volume is raised to 20,000 units,
it earns a profit of Rs. 4 per unit. Caleulate break-even point hoth in terms of
rupees as well as in units, :

Guestion 4 (Nov 2007)
A company produces single produet which sells for Rs. 20 per unit. Variable cost
i8 Rs. 15 per unit and Fixed overkead for the year is.Rs. 6,30,000

Required:

(@) Calculate sales value needed to earn a profit of 10% on sales.

(h) Calculate sales price per unit to bring BEP down to 1,20,000 unis.

(c) Calculate margin of safety sales if profit is Rs. 60,000
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Gluestion &
L Lalit Ltd. reports the foilowing cost structure at capacity levels:

(100% capacity) (75% capacity)
2,000 units 1,500 units
Production overhead | Rs. 3 per unit Rs. 4 per unit
Production overhead 1! Rs.2 per unit Rs.2 per unit

If the selling price, reduced by direet material and labour is Rs. 8 per unit, what
unit, would be its hreak-even point?

| =

GQuestion 8

By noting “P/V will increase or P/V will decrease or P/V will not change”, as the

case may be, state how the foliowing independent situations will affect the P/V

ratio:

(DAn increase in the physical sales volume:

(i) An Increase in the fixed cost;

(itl) A decrease in the variahle cost per unit;

(v} A decrease in the contribution margin;

(v) An increase in seiling price per unit;

(vi) A decrease in the fixed cost;

(vii} A 10% increcse in hath seiling price and variable cost per unit:

(viil) A 10% increase in the selling price per & 10% decrease in the physical sales
volume

(ix) A 50% increase in the variable cost per unit and 50% decrease in_cost.

Question 7
The following information is given by Guddu Ltd.

Margin of safety = Rs. 1,87,500
Total Cost 128.1,93,750
Margin of Safety = 3,750 units
Break even Sales = 1,250 units ;
Required |
| Calculate Selling Price Per unit, Profit, P/V Ratio, BEP 8ales (in Rs.) and Fixed Cost |
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Question 8

You are given the following data:
Sales Profit
Year 2020 Rs. 1,20,000 Rs.8,000
. Year 2021 Rs. 1,40,000 Rs.13,000 ’
Find out-
(i) P{V ratio,
(if) B.E. Point,

(ifiy Profit when sales are Rs. 1,80,000,
(iv) 8ales required earn a profit of Rs. 12,000,
{v) Margin of safety in year 2014,

Question 9

Jethalal Ltd maintains margin of safety of 37.5% with an overall contribution to
sales ratic of 40%. lts fixed costs amount to Rs. 5 lakhs.
Caleulate the following:
i. Break-even sales
fi. Total saies
iil. Total variable cost
iv. Current profit
v. New margin of safety in Rs. if the sales volume is increased by 7 1/29%.

Question 10

Majnu company had incurred fixed expenses of Rs. 4,50,000, with sales of Rs.
15,00,000 and earned a profit of Rs. 3,00,000 during the first half year. in the
second half, it suffered a loss of Rs. 1,50,000

Caleulate
(i) The profit-volume ratio, break-even point and margin of safety for the
first half :
(i) Expected sales volume for the second half year assuming that selling
price and fixed expenses remained unchanged during the second half
vear.

(iii) The break-even point and margin of safety for the whole year.
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Question 11 HOMEWORK SUM Date:

1. If margin of safety is Rs. 2,40,000 (40% of sales} and P/V ratio i3 30% of Shila
Ltd, caleulgte its

(f) Break even sales, and (if) Amount of profit an sules of Rs.9,00,000

2. 8affron Ltd. has earned a contribution of Rs.2,00,000 and net proftt of
Rs.1,50,000 of sales of R5.8,00,000. What is its margin of safety?

Question 12 HOMEWORK SUM Date:

Tripathi company earned a profit of Rs. 30,000 during the year 2021, If the
marglnal cost and selling price of the product ave Rs. 8 and Rs. 10 per
respectively, find out the amount of margin of safety.

Question 13 HOMEWORK SUM Date:
i (Rs.)

(i) Ascertain profit, when sales = 2,00,000
Fixed Cost = 40,000
BEP = 1,600,000
(ii) Ascertoin sales, when f{ixed cost = 20,000
Profit = 10,000
BEP = 40,000

Question 14 (MAY 2008) HOMEWORK SUM Date:
A company has fixed cost of Rs. 90,000, Sales Rs. 3,00,000 and Profit of

Rs. 60,000.
Required:
(H8ales volume if' in the next period, the company suffered a loss of
Rs. 30,000,
(i) What is the margin of safety for a profit of Rs. 90,0007

Question 15 HOMEWORK SUM Date:

You are given the following data for the year 2021 of Gotya§ Co, Ltd
Variable cost 80,000 60%

Fixed cost 30,000 30%

Net profit 10,000 10%

Sales 1,00,000 100%
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Find out (a) Break-even point, (b) PV ratio, and (¢) Margin of safety.

Question 15 HOMEWORK SUM Date:
You are given the following particulars calculate:
(a) Break-even point
{b) Sales to earn a profit of Rs. 20,000

i. Fixed cost Rs. 1,50,000

ii Variable cost Rs. 15 per unit
fi. Selling price is Rs. 30 per unit

Question 17 HOMEWORK Sum Date:

The P/V Ratio of Babli Ltd. is 50% and margin of safety is 40%. The company sold
500 units for Rs. 5,00,000. You are required to caleulate:

(i) Break-even polint, and

(i) Sales in units to earn a profit of 10% on sales

Question 18 HOMEWORK SUM Date:
Lootera Ltd, manufactures a produet "N-joy". in the month of August 2014, 14,000
units of the product "N-joy" were soid, the details are as under

(Rs.)
Sale Reventie 2,52,000
Direct Material 1,12,000
Direet Labour 49,000
Variable Overheads 35,000
Fixed Overheads 28,000

A forecast for the month of September 2021 has been carried out by the General

manger of Lootera Lid. As per the forecast, price of direct material and variabie

overhead will be increased by 10% and 5% respectively.

Required to caleulate:

(@)  Number of units to be sold to maintain the same quantum of profit that
made in August 2021

(b) __ Margin of safety in the month of August 2021 and September 2021.
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Question 19 HOMEWORK SUM Date:

If PfV ratio is 60% and the Margingl cost of the product is Rs. 20.What will be the
selling price?

Question 20 |
Bahurao Ltd is having a proposal to purchase two machines X and Y, the cost |
structure for the products with these two machines is as follows:- |

Particular Machine X Machine ¥ |
Variable Cust per untt RRs. 6.00 Rs. 4.00

Fixed Cost Rs. 2,00,000 Rs. 3,00,000
Selling Price per unit Rs. 10 Rs. 10

What is cost indifference point? Which machine should be preferred and when ?

| | Question 21 il
| || Two firms Lalag& Co. and Lailig Co. sell the same product in the sume market. Their
budgeted profit and loss account for the year ending 31 march, 2021 are as

follows:-
Particulurs Lala & Co. (Rs.) Lalli& Co. (Rs.)
Seles 5,00,000 8,00,000
Variable Costs 4,00,000 4,00,000
Fixed Costs 30,000 70,000
Net Profit 70,000 1,30,000
Required:

1. Caleuiate at which sales volume both the firms will earn equal profit.
2. State which firm is likely to earn greater profits in condition of: |

¢ Heavy demand for the product
| b. Low demand for the product. Give reasons ]

QHES! ion 22

Coke, Pepsi and Slice are three similar plants under the sume management who
want them to be merged for better operation. The details are as under:

Particulars Plant Cake at Plant Peps! at Plant Slice at
100% (Rs. in 70% (Rs. in 50% (Rs. in
Lakhs) Lakhs) Lakhs)
Turnover
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;f | variable 200 210 75

' Cost

| Fixed Cost 70 50 62
Required:-

| @) Compute the eapacity of the merged plant for break-even

. b) Compute the profit of the merged plant at 75% capacity

- o) Computie the capacity utilization of the merged plant to earn a profit of
Rs.28 lakhs

Question 23 HOMEWORK SUM Date:
There are two similar plants under the sume management. The management

desires te merge these plants.
The fellowing particulars are availabie:-

Particulars Factory 1 Factory 2
Capucity operation 100% - 80%
Sales Rs. 300 Lakhs| Rs. 120 Lakhs
Variable Costs Rs. 220 Lakhs | Rs. 90 Lakhs
Fixed Costs Rs. 40 Lakhs | Rs. 20 Lakhs

You are required to caleulate:-

What would be capacity of the merged plant to be operated for the purpose of
break-even and

What would be the profitability on working at 75% of the merged eapacity ?

[; Gluestion 24
BBC Ltd sold 2,75,000 units of its product at Rs. 37.50 per unit, Variable costs are
Rs. 17.50 per unit (manufacturing costs of Rs. 14 and selling cost Rs. 3.50 per uni),
Fixed costs are incurred uniformly throughout the year and amount to Rs.
35,00,000 (including depreciation of Rs. 15,00,000), there are no
| beginning or ending inventories.
Required:
| a) Estimate breakeven sales level quantity and cash breakeven sales level
| Quantity.

b} Estimate the P/V ratio.
| ¢} Estimate the humber of units that must be sold to earn an income (EBIT) of

Rs. 2,50,000

‘ ___d) Estimate the sales level uchieve an after-tax income (PAT) of Rs. 2,50,000,
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Assume 40% carporate Income Tax rate.

I

Questfnn 25

maonth

Sales mix in value comprises of :

Kukoo Ltd, Manufactures and sells four products A.B.C and D. The total budgeted
sales (100%) are Rs. 6,00,000 per month. The Fixed Casts are Rs. 1,59,000 per

Product

Present %

Proposed %

A

33.33%

25%

B

41.67%

40%

C

16.67%

30%

D

8.38%

5%

The operating cost as a % of selling prices are:-
A-B0%, B-68%, C-80% and D-40%
Calculate break even sales for the compuny for both these periods.

Gluestion 26
MMC Ltd. Manufactures three products P, § and R. The unit seiling prices of these

products are R5.100, R8.80 and Rs.50 respectively. The corresponding unit variable |
cost are R8.50, R840 and Rs.20 the proportions (quantity wise} in which these
products are manufactured and sold are 20%, 30% and 50% respectively. Total
fixed cost are Rs.14,80,000.

Given the ahove information, you are requived to work out the overall break-even
quantity and the product-wise break-up of such quantity.

Question 27 HOMEWORK SUM Dute:
The produet mix of a Bhopa Ltd. is as under:
Products

M N

Units

54,000

18,000

Selling price

15.7.50

Rs.15.00

Variable cost

Rs.8.00

Rs.4.50

Find the break-even polats in units, if the company discontinues praduct M and
replace with product 0. The quantity of product O is 5,000 units and its selling
price and variable costs respectively ure Rs.18 and Rs.9. Fixed Cost is

__\\

y
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Rs. 15,000

| Question 28 HOMEWORK SUM Date:

A Company sells two products, Barfi and Heroine. The sales mix is 4 units of Barfi
and 3 units of Heroine. The contribution margins per unit are Rs. 40 for Barfi and
Rs. 20 for Heroine. Fixed costs are Rs. 6,16,000 per month. Compute the break-

even polnt.

| Question 29

Mogambo Limited sells its product at Rs. 30 per unit. During the quarter ending on
31 March, 2021, it produced and sold 16,000 units and suffered a loss of Rs. 10 per
' unit. If the volume of sales is raised to 40,000 units, it can earn a profit of Rs. 8
per unit.

You are required to caleulate:

| () Break Even Point in Rupees.

| (i) Profit if the sale volume Is 50,000 units.

| (i) Minimum level of producticn where the company needs not to close the

| production ifunavoidabie_ﬁg:__ed cost is Rs. 1,50,000.

Question 30 HOMEWORK SUM Date:
Mr. Selmon has Rs. 2,00,000 investments in his business firm. He wants a 15 per
cent return on his money. From an analysis of vecent cost figures, he finds that his
variable cost of operating is 60 per cent of sales, his fixed costs are Rs. 80,000
per year. Show computations to answer the following questions:
() What sales volume must be obtained to break even?
(i) What sales volume must be obtained te get 15 per cent return on
investment?
(iii) Mr Salman estimates that even if he closed the doors of his business, he
would incur Rs. 25,000 as expenses per year. At what sales would he be
hetter off by locking his business up?

n
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Question 31 HOMEWORK SuUM Date:
Maximum Production capacity of Munni Ltd. is 28000 units per month. Qutput at
different levels along with cost data is furnished below:
Particulars of Activity Level
Costs 18,000 units 18,000 units 20,000 units

Direct Material Rs.12,80,000 Rs.14,40,000 R$.16,00.000
Direct labour Rs.17.80,000 R2.19,80,000 R8.22.00,000

Total factory R8.22,00.000 R5.23,70,000 R$.25,40,000
overheads

You are required to work out the selling price per unit an activity level of 24,000
units hy censidering profit at the rate of 25% on sales.

Gluestion 32 HOMEWORK SUM Date:

An automohile manufacturing company produces different models of Cars. The
budget In respect of mode! 007 for the month of March, 2015 s es under:
Budgeted Qutput 40,000 Units

" Rs. In lakhs Rs.In lakhs

Net Realization | 700

Variable Cost

Materials

Labour

Direct expenses 440

Specific Fixed Costs

Allocated Fixed Casts 203.50

Totul Costs 842.50

Profit 57.50

Sales 700.00

(i) Profit with 10 percent increase in selling price with a 10 perceat reduction
in sales volume.

(1)) Volume to be achieved to maintain the origina! profit after a 10 percent rise
in material costs, at the originally budgeted selling price per unit.
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Question 33 HOMEWORK SUM Date:
Laila Limited started its operation in the year 2021 with total production capacity
of 2,00,000 units. The following information, for two years are made available to

you:

Year 2020 Year 2021
Sa?es (units) 80,000 1,20,000
Total Cost (Rs.) 34,40,000 45,60,000

There has been no change in the cost structuve and selling price and it is
anticipated that it will remain unchanged in the year 2015 also. Selling price is
Rs. 40 per unit,

Caleulate

I. Variable cost per unit.

i, Profit Volume Ratio.

ifi. Break-Even Point (in units)

iv. Profit if' the firm operates at 75% of the capacity!

Question 34 HOMEWORK SuM DATE:

Bald Ltd. is operating at 80 % capacity and presents the following information:
Break-even Sales Rs.400 crores

P/V Ratio 30 %

Margin of Safety Rs. 120 eroves

Management has decided to increase production to 95 % capacity level with the
following modifications: -'

() The selling price will be reduced by 10%.

(i) The variable cost will be increased by 2% on sales

(iii) The fixed costs will increase by Rs. 50 crores, including depreciation on
additions, but excluding interest on additional capital.

Additional capital of Rs. 100 erores will be needed for capital expenditure and
working capital.

Required: '

() Indicate the sales figure, with the working, that will be needed to earn

Rs. 20 erores over and above the present profit and also meet 15% interest
on the additional capital.

(it) What will be the revised Break-even Sales, P/V Ratio and Margin of Safety.
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Question 35 o
Guddu Ltd, manufacture end sales its product R-9. The following fiqures have been
| collected from cost records of last year for the product R-9

Liements of Cost Variable Cost portion Fixed Cost

Direet Materiul 30% of Cost of Goads Sold v -
Direct Labour | 15% of Cost of Goods Seld ) -
Factory Cverhead | 10% of Cost of Goods Sold R$.2,30,000

Administration Overhead 2% of Cost of Goods Sold Rs 71,000
production activity
Seliing & Digtribution 4% of Cost of Sales Rs.68,000

Overhead

Last Year 5,000 units were sold ot Rs.185 per unit. From the given data find the
followings:

[(a) Breuk-even Sales (in rupees)

((h) Profit earned during last year

(¢) Margin of safety (in %)

(d) Profit if the seles were 10% less than the actual sules.

s S G e e T e T TR

[ 7B - TRANSFER PRICING 7

IF Question 34

A manufacturing company has two divisions-X and Y. Divigion X is mainly
engaged in production of an electronic devices and Division ¥ packs and lubels
the Product and sells it in market. Division X supplies 25,000 units of the
product per month to Y for packing and labeliing. Division X incurs Rs.16 as the
variabie cost for the product fixed cost of Rs.8,40,000 per year. investment

in fixed assets is R5.9,60,000. The division plans to have 12% return on fixed
assets as normal profits. Division Y incurs Rs.10 per produet as variahle
expenses for packaging and marketing .

(i) Find the Transfer Price per unit of the product that Division X can charge for
Transfer to V.
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- (1) What will be profit of Division ¥ if it can sell all the products in the market
at Rs.80 per unit?

(it)) If Division Y can sell only 15,000 units of the product per month and asks
Division X to supply only 15,000 units, what will be the effect on the

] Trangfer Price and the profits of the divisions?

|
!

Solution 87
(iy  Computation of Transier Price:

To be charged by X’ to 'Y’

Variable Cost per unit : 16
Fixed Cost per Unit (8,40,000/3,00,000) 2.80
Return per Unit (9,60,000 x 12%)/3,00,000 0.384
13.184

(i Computation of Profit of Division Y’

Transfer Price 19.184

Variahle cost - |10

] 29.184
Contribution and Profit per Unit = (30 - 29.184)

: = 50.815

Monthly Profit .| = 25,000 x 50.186
= 12,70,400

Yearly Profit - | =3,00,000 x 50.188
= Rs$.1,52,44,800

Transfer Price :
Variable cost per unit 16
Fixed Cost per Unit (840,000/ 1,80,000)

Return per Unit (9,60,000 x 12% )/1,80,000

Variable Cost for Packaging and Marketing

Contribution and Profit per Unit
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(80 - 31.81)

uestion 38

A company has two divisions, manufacturing and assembly. At a normal volume
of component YPY per vear, production cost per unit are:

Direct materials 40

Divect labour 20

Variahle factory overhead 12

Fixed fuctory overhead 42
The manufucturing divisior has been manufucturing and selling 2,50,000
components per year to outside buyers for Rs.136 each. However, the division
can manufacture 3,50,000 components per year. The assembly division has been
buying the components from outslde suppliers for Rs.130 each. The assembly
division has offered to purchase 90,000 units of component YPY from the
manufacturing division at the rate of R8.104 per unit. Should the manager of
Electrical Division accept the offer? Will an interval iransfer he of any benefit
to the company?

Solution 38

There is surplus capacity in manufaeturing division. So, the relevant cost for
production will be variable cost only amounting to Rs.72 per unit (40 +20 + 12).
This will result in a profit Rs.28,80,000 [(104 - 72) x 90,000].

Therefore, manufacturing division should accept the offer. Internal transfer

will be heneficial to the company. The company is paying Rs.130 for the
component which can be made internally at an incremental cost Of Rs.72.

The company will save Rs.52,20,000. [(130 - 72} x 80,000].

Gluestion 38

Material costs, labour costs and variable overhead costs and Rs.125, Rs.150 and
Rs.50 per unit respectively. if the fixed expenses {or 20000 units are
Rs.6,40,000 and required rate of return is 25% on transfer price, then find out
the transfer price per unit.
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Solutign 39
Adding Desired return 25% on transfer price (1/3 of cost) = 357 x 4/3 = 476
Particulars | Rs.
Per unit variable cost (125 + 150 + 50) : 325
Add : Fixed expenses per unit (Rs.6,40,000/20,000 32
| | Total cost per unit « 357

, Question 40

The following information relates to budgeted operations of Division P of a
Manufacturing campany.

Particulars Amount in Rs.
| | Sales- 50,000 units @ Rs 8 4,00,600 .
| | OLess: Variable Costs @ Rs.6 per unit 3,00,000
Contribution margin 1,00,000
Less: Fixed Costs 75,000
Divigional Profits 25,000

The amount of divisional investments is Rs.1,50,000 and the minimum desired
rate of return on the investments is the cost of capital of 20%.
‘ Caleulate
(i) Divisional expected ROI and
(ii) Divisional expected RI

Solution 40

(DDROI = Rs.25,000/1,50,000 x 100 = 16.7%
(iDR! = Divisional Profits - Minimum desired rate of rehirn
= 25,000 - 20% 0f 1,50,000 = (Rs.5000)
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r BQuestion 41

|| A company fixes the inter- divisional transfer prices for Its products on the

|| bhasis of costs plus an estimated return on investment in its divisions, The

.i relevant portion of the hudget for the Division X for the year 2015-16 is given

if

|

|

nelow : |

| | Pariiculars Amount in Rs. i
]’ Fixed Assets 5,00,000 ;
|| | Current Assets (other than debtors) 3,00,000 i
| | Debtors 2,00,000 |
| | Annual fixed cost for the division 8,00,000 |
| | Variabie cost per uait of product 10 i
| | | Budgeted volume of production per year (units) | 4,00,000 ,'
| | Desired Return on lavestment 28% |

You are required to determine the transfer price for Division X. 1

Solution 41 1
Computation of Transfer Price per unit for divigion X
Particulars Amount in Rs.
Variable cost 10
Fixed cost (8,00,000/ 4,00,000) 2
Total cost i 12
Add: Degired return (10,00,000 X 28%) + 4,00,000 0.70 |
Transfer Price . 12.70

| Question 42
| XVZ Ltd has o system of assessment of Divisional Performance on the basis of
residuai income has two Divisions, Alfu and Beta. Alfa has annual capacity to
manufucture 15,00,000 numbers of special components that is sells to autside
customers, but has idle capacity. The budgeted residual income of Beta is
Rs.1,20,00,000 while that of Alfa is R8.1,00,00,000. Other relevant detuils
extracted from the budget of Alfa for the current years were as follows:
Partieulars
Sale (outside customers)

12,00,000 units @ 180 per unit
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I Tvariable cost per unit Rs.160
| Divisional fixed cost Rs.80,00,000
|| Capital employed Rs.7,50,00,000
| Cost of capital 12%

. Beta has just received a special order for which it requires components similar to
- the ones made by Alfa. Fully aware of the idle capacity of Alfa, beta has asked

. Alfa to quote for manufactures and supply of 3,060,000 aumbers of the
| components with a slight modification during final processing. Alfa and Beta

- agree that this will involve an extra variable cost of Rs.5 per unii.

. You are required to calculate,
The transfer price which Alfa should quote to Beta to achieve its hudgeted
residual income. ’

Solution 42
Compuiation of contribution per labour from extetnal hour from external sales:
X Y Z

Market price (Rs.) 48 46 40
Variable cost (Rs.) 33 24 28
Contribution 15 22 12
Labour hours required Camen 4 2
Contribution per labour hour (Rs.) 5 5.50 6
Priority i i !

Computation of transfer price when
The capacity is 3800 hours
Hours required for Z=300 x 2 = 800
Y =500 x 4 = 2000
X =800 x 3 = 2400
= o000
The existing capacity is not sufficient to produce the units to meet the external
Sales. in order to transfer 300 units of ¥, 1200 hours are required
in which Division A will give up the production of X to this extent.
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Variable cost of ¥

(+) contribution lost by giving up productior of X to the
Extent of 1200 hours = 1200 X 5 = R3.6000

«» Opportunity cost per unit = (6000/300)

Required transfer price

(c) If the capacity is 5600 hours:

Variable cost

(+) contribution lost by giving up X to the Extent of 600
haurs (heing opporiunity cost) = 600 x 5 = R8.3000

- Opportunity eost per unit = (3000/300)

Required transfer price
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Question 1

Material price variance

material by Rs. 10.
You are required to calculate:

(i) Matevial Usage Variance

(D Actual quantity and Actual price of materials used.

Foilowing are the details of the product Panoti for the month of April2013

| Standard quantity of material vequired per unit 5 kg
Actual output 1000 units
Actual cost of materials used Rs.7,14,000

8. 51,000(Fav)

Actual price per kg of material is found to be less than standard price per of

| (iff) Material Cost Variance.

| Question 2

Besharam Manufacturing Concern furnishes the following information:-

Standard | Material for 70 kg finished 100 kg. | 100 Kg
roducts
Price of material Rs.1 per k.
Actual: Qutput 2,10,000 kg.
Material used 2,80,000 ky.
Cost of Materials Rs 2,52,000

You are required to caleulate
(1) Material Usage Variance
(2) Material Price Varlance
(3)Material Cost Vamance

Question 3

The standard cost of a chemical mixture Is as follows: 40% material A at Rs 20
per kg.60% material B at Rs 30 per kg. A standard loss of 10% of input is
expected in production. The cost records for a period showed the following
usage: 90 ky material A at u cost of Rs.18 per kg.110 kg material B at a cost of
Rs.34 per.

The quantity produced was 182 kg. of good producf

Calculate all material variances.

N
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Question 4 HOMEWORK SUM Date:

Sanju Ltd. presents the following information for November, 2013:

Budgeted production of product P = 200 units.

Stundard consumption of Raw materials = 2 kg. per unit of P.

Standord price of material A = Rs. 8 per kg.

Actually, 250 units of P were produced and material A was purchased at Rs. 8
per kg and consumed at 1.8 kg per unit of P. Calculate the Material Cost
Variances.

Question 5 HOMEWORK SUM Date:
The standard mix to produce ane unit of product is as follows:
Material X 80 units @ Rs. 15 per unit = 500
Material Y 80 units @ Rs.20 per unit = 1,600
Material Z 100 units @ R2.25 per unit = 2,600

240 units 5,000
During the month of April, 10 units were actualy produced and consumption was
as follows:

Material X 640 units @ Rs.17.50 per unit= 11,200
Material y 950 units @ Rs.18.00 per unit= 17,100

Material Z 870 units @ Rs.27.50 per unit= 23,825
Caleulate all material variances.

Guestion &
The standard lahour employment and the actual labour engaged in a40 hours
week for a job are as under:

Category of Standurd Actual
Workers

No.Of [ No. of Wage Rate | No. Of No. of Wage Rate
workers | per hour (Rs.) workers | per hour (Rs.)
Skiiled 65 45 50 50
Semi-skilled | 20 30 30 35
Unskilled 15 15 20 10

Standard output: 2,000 units; Actual output: 1,800 units
Abnormal tdle time 2 hours in the week

Calculate:

(i) Labour Cost Variance

(if) Labour Efftciency Variance
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B (_i”) Lb}b_oar fc”e Time Variance

estig HOMEWORK SUM Date:
The standard labour employment and the actual labour engaged in a week for a

Job are us under

Skilled Unskilled Semi-skilled
workers workers workers

Standard no. of workers in 32 12 6

the gang 28 18 4

Actual no. of workers 3 2 1

empioyed 4 3 2

Standard wage rate per hour

Actual wage rate per hour

During the 40 hours working week, the gang produced 1,800 standard labour
hours of work. Caiculate.

{a) Labour Cost Varianece

(b) Labour Rate Variance

(c) Labour Efficiency Variance

(d) Labour Mix Variance
(e) Labour Yield Variance

Question 8 HOMEWORK SUM Date:
The standard and actual figures of a firm are as under:-
Standard time for the job 1,000 hours
Standard rate per hour Rs.0.50

Actual time taken 200 hours

Actual wages paid Rs.360

Compute the variances.

Question 9

The following information has been provided by a company
Number of units produced and sold 6,000
Standard labour rate per hour Rs. 8
Standard hours required for 6,000 units -
Actual hours required 17,094 hours

Labour efficiency 105.3%
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Lahour rate variance Rs. 68,376 (A)
You are required to calculate:

(DActual labour rate per hour

(i) Standard hours required for 8,000 units

(iii) Labour Efficiency variance

(iv) Standard labour cost per unit

(v) Actual labour cost per unit.

uestion 10 HOMEWORK SUM
Badrinath Ltd, manufuctures NXE by mixing three raw materlals. For every
bateh of 100 kg of NXE, 125 kg. of raw malerials ave used. In April, 2012, 60
hatches were prepared to praduce an output of 5,800 kg. of NXE. The standard
and actual particulars for April, 2012, are as follows:
Raw Standard Actual Quantity of
Materiais Raw
Mix % | Price per kg (Rs.) | Mix % | Price per kg (Rs.) Materials
. Purchased
A 50 20 G0 21 5000
B 30 10 ) 20 8 2000
C 20 5 20 6 1200
Caleulate all varianees. Also’ caleulate material price varience at the time of
purchase of raw material?

Question 11 HOMEWORK SUM Date:
Laila Ltd. had prepared the following estimation for the month of April:
Quantity Rate (Rz.)| Amount (Rs.)
Material-A 800 Kg 45.00 36,000
Material-B 600 kg. 30.00 18,000
Skilled labour 1,000 hours | 37.50 37,500
Unskilled labour | 800 hours | 22.00 17,600
Normal loss was expected to 10% of total input materiais and an idle labour time
of 5% of expected labours was also estimated. At the end of the month the
following information has been collected from the cost aceounting department:
The company has produced 1480 kg. finished product by using the followings:
Quantity Rate (Rs.) | Amouat (Rs)
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Material-A 800 Ky 43.00 38,700
Material-B 650 Ry. 32.50 21,125
Skilled labour 1,200 hours | 35.50 42,600
Unskilled labour | 860 hours | 23.00 19,780

You are required to calculate:

i) Material Cost Variance;

it) Material Price Variance:

iii} Material Mix Yariance;

iv). Material Yield Variance;

v) Labour Cost Variance;
vi)Labour Efficiency Variance and
| vii) Labour Yleld Variance

Question 12 HOMEWORK SUM DATE:

RDX Construction Limited has entered into a big contract at an agreed price of
Rs 15000.000 subject to an escalation clause for material and lubour as spent
out on the contraet and corresponding details are as follows:

Material Standard Actual
Quantity Rate per Ton | Quantity Rate per Ton
(Tong) (Rs) (Tons) (Rs)

A 3000 1000 3400 1100

B E 2%00 800 | 2800 700 =

C 500 4000 600 3500

D 100 30000 50 31500

Labour Hours Hourly rate Hours Hourly rate

L1 60000 15 56000 18

12 40000 30 38000 | 35

You are required to:
Caleulate the following variances and verify them
(@)Material Cost Variance

(b) Material Price Variance

{¢) Material Usage Variance
(d) Labour Cost Variance

(e) Labour Rate Variance

(f) Labour Efficiency Variance.
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Question 1

Caleulate efficiency and activity ratio from the following dato:
Capacity ratio 75%

Budgeted output 6,000 units
Actual output 5,000 units
Standard Time per unit

Question 2 HOMEWORK SUM Date:

Kukko Co. Ltd munufuctures twe products viz, X and Y and sefls them through
two divigions. East and West. For the purpose of Sales Budget to Budget
Committee, following information has been made available for the year 2014-15

Product Budyeted Sales Actual Sales

East Division

West Division

East Division

West Division

X

400 units ot
Rs. 9

800 units at
s 9

500 units at
Rz 9

800 units at
Rs 9

llf

300 units at
Rs. 21

500 units ot
Rs. 21

200 units at
Rs. 21

500 units at
Rs. 21

Adequate market studies reveal that product X is popular but under priced. It is
expected that if the price of X is inereased by Rs. 1, it will find « ready market. On

 the other hand, ¥ is overpriced and if the price of ¥ is reduced by Rs. 1 it will have
more demand in the market. The company management has agreed for the
aforesaid price changes. On the basis of these price changes and the reports of
salesmen, following estimates have heen prepared by the Divisional Maragers:
Percentage increase in sales over budgeted sales

Product

East Division

West Division

X

+ 10%

+ 5%

Y

+ 20%

+ 10%

With the help of intensive advertisement campaigr, following additional sales
(over and above the above mentloned estimated sales by Divisional Mangers) are

possible:

hY

J 155
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Product East Division | West Division
X B0 units 70 units
Y 40 units 50 units

estimates and also show the Budgeted Sales and Actual Sales of 2014-15

You are required to prepare Sales Budget for 2015-16 after incorporating above

-

'

Question 3

stock of finished goods at 25% of the anticipated volume of sales of the
sueceeding month. The following ave the estimated.data for two products:

Mini max (MM)| Heavy high (HH)
Budgeted Production units 1,80,000 |. 1,20,000
(Rs.) (Rs.)
Direct material cost per unit 220 ' 280
Direct iabour cost per unit 130 120
Manufacturing overhead 400,000 | 5,00,000

Raees Ltd. is drawing a production plan for its two produets Mini max (MM) and
Heavy high (HH) for the upcoming year. The company's policy is to hold closing

The estimated units to be sold in the first four months of the year 2013-14 are as

under :
HBA April May June July
Mini max 8,000 10,000 12,000 16,000
Heavy high 6,000 8,000 9,000 14,000

T

month - wise.

Prepure production budget and produetion cost budget for the first quarter in

. Questiond " | :
Following is the sales budget for the first six months of the current year in
respect of Ghungroo Lid. :

' | Month Jon Feb March April May June

Sales (units) 10,000 | 12,000 { 14,000 15,000 15,000 16,000

Finished goods inventory at the end of each month is expected t6 be 20% of

| the end of any month.

budgeted sales quanity for the following month. Finished goods inventory waus
2,700 units on January 1 of current year. There would be no work-in-progress at

N

v

. Each unit of finished product requires two types of materials as detatled below

156
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Material X: 4 Ry, @ Rs. 10/kg
Material Y: 6 kg. @ Rs. 15/kg
Material on hand on January 1 of current year was 19,000 kg, of material X and
29,000 kg. of material Y. Monthly closing stock of material is budgeted to be
equal to half of the requirements of next month’s preduction.
Budgeted direct labour hour per unit of finished product is 4 hour.
Budgeted direct lubour cost for the first quarter of the current year is *
R5.10,85,000.
Actual data for the quarter one, ended on March 31 of eurrent year is as under:
Actual production quantity 40,000 units
| Direct material cost
(Purchase cost based on materials actually issued to
I production) |
Material X: 1,65,000 kg. @ Rs. 10.20 / kg. |
Material ¥: 2,38,000 kg. @ Rs. 15.10/ ky. |
[ Actucl direct labour hours worked 32,000 hours ,
| Actual direct fubour cost: Rs.18,12,000 ‘
Required: Prepare the following budgets: '
|| () Monthly production quantity for the quarter one.
(i) Monthly raw material consumption guantity hudget from January to April

of current year. |
(1) Materials purchase quantity budget for the quarter one. |

E e = = e

Ali Buba Limited produces and sells a singfe product Sales hudget for current
ear hy a quarters is s under:
Quarters ! ! I v

No. of units to be sold 16,000 22,000 25,000 27,000
The year is expected to open with an inveatory of 6,000 units of finished products
and close with inventory of 8,000 units. Production is customarily scheduled to
provide for 70% of the current quarter's sales demand plus 30% of the following
guarter demand. The budgeted selling price per unit is Rs. 40. The standard cost
details for one unit of the product are as follows:
Varlable Cost Rs. 34.50 per unit
Fixed Overheads @Rs. 2 per hour based on a budgeted production velume of
| || 110,000 direct labour hours for the year. Fixed overheads are evenly distributed

Question s~ HOMEWORK 8UM “Date:
!

B \ B,
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through-out the year.

You are required to:

(i) Prepare Quarterly Production Budget for the year.

(i) tn which quarter of the year, company expected to achieve bread-even
polnt

Question s HOMEWORK SUM Date:
Bahuball Ltd a single product company estimated ifs sales for the next year

quarter-wise as under:
Quarter | Sales (Units)
! 30,000
il 37,500
1 41,250
v 45,000

The opening stock of finished goods is 10,000 units and the company expects to
maintain the closing stock of finished goods at 16,250 units at the end of the
year. The production pattern in each guarter is based on 80% of the sales of the
current quarter and 20% of the sales of the next quarter.

The opening stock of raw materials in the beginning of the year is 10,000 kg &
the closing stock at the end of the year is required to be maintained at 5,000 kg.
Each unit of finished output requires 2 kg. of raw materials,

The company proposes to purchase the entive annual requirement of raw
materigl in the first three quarters in the proportion and at the prices given
below:

Quarter Purchase of raw materials % to total annual Price per ky.
requtrement in quantity (Rs.) {Rs.)
! 30% 2
] 50% 3
1l 20% 4

The value of the opening stock of raw materials in the beginning of the year is
Rs. 20,000. You are required to present the following for the next year, quarter
wise :

(1) Production budget (in units).

(2) Raw material consumption budget (in quantity).

(8) Raw material purchase budget (In quantity and value),
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| Question 7

| Prepare a cash budget for three months ending on 30th June of current year
from the information given helow:-

Sales Materials Wages Overheads

(a) Months (Rs.) (Rs.) (Rs.) (Rs.)

|
|
|
f‘ February 14,000 9,600 3,000 1,700
;
|

March 15,000 9,000 3,000 1,900
April 16,000 9,200 3,200 2,000
May 17,000 10,000 3,800 2,200
June 18,000 10,400 4,000 2,300

(b) Credit items are: |
Sales / Debtors : 10% sales are on cash, 50% of the credit sules are collected next |
month and the balance in the following month

Creditors :  Materials 2 months
Wages 1/4 month
Overheads =~ 1/2 month
(¢) Cash und Bank halance on 13t April of current year is expected to be
R5.6,000
(d) Other relevant information is :
1. Plant and machinery will be installed in February of current year at a cost of
Rs.96,000. The manthly instalment of Rs.2,000 is payable from April onwards.
2. Dividend @5% on preference share capital of Rs.2,00,000 will be paid on 1st
June.
3. Advance to be received for sales of vehicles Rs.9,000 in June.
" 4, Dividends from investments amounting to Rs. 1,000 are expected to he
received in June.
5. Income Tax (advance) to be paid in June is R5.2.000.

Question 8 HOMEWORK SUM Date:
From the information given below, prepare ¢ Cash Budget of Bablu Ltd. for the
quarter Jaauary - Mareh, 2017:

Dec., 16 | Jan,17 | Feb.17 | March. 17 | April 17
a.| Sales Budget Units 80 60 85 75 80
.| 8elling price per unit Rs. 1,000 | 1,000 1,000
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¢ | Off-season discount 20% | 20% | 10% - -
d. End of Month 10 120 15 25 25
tnventory Units

e) Half the sales proceeds are collected in the month of sale and the other half
in the month following.

f) Materials amounting to Rs. 300 per unit manufactured ave purchased one
month ir advance of manufucture and pald for in cash earning 5% cash

discount on half of the material purchased,

9) Direct Labour Budget was Rs.50 per unit and variabie overheads Rs. 100 per
unit

h) Indirect Labour Budget was Rs.6,000 per month.

0} Depreciation was provided uniformly at Rs.3,000 per manth.

J) The fixed overheads budget was Rs.6,000 per month during off-season and
Rs.7,000 during the season. Out of this, the quarterly premium for fire
insurance amounting to Rs.600 was payable in the first month of each quarter.

k) Dividends for the year 2016, amounting to Rs.2,000 were expected to be
declaved in March, 2017 and payments were to be spread between March and
April.

i) A machine was sold for Rs. 10,000 in December, 2016 on 3 months Credit. The

cash balance as on January 1, 2017 is Rs.1,000.

i Q HE;II'GQ 9
. Chammak Challo Ltd. has furnished the foliowing information for the month
. ending 30th June of current year

The Standard costs of the products are as follows:

Per unit (Rs.)

Master Budget |. Actual Variance

li! Units produced and sold 80,000 72000
r Sales (Rs.) 320000 - 280000 40000 (A)

Direct material (Rs.) 80000 73600 8400 (F)
‘ Direct wages (Rs.) 120000 - 104800 15200 (F)
| Variable overheads (Rs.) 40000 - 37600 2400 (F)
l' Fixed overhead (Rs.) 40000 39200 800 (F)
j Total Cost 280000 - 255200
[
J

Direct materials (1 kg, at the rate of Rs. 1 per kg.)
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Direct wages {1 hour at the rate of Rs. 150)

T 150

Variable overheads (1 hour at the rate of Rs. 0.50)

0.50

Required:

(i) Prepare Flexible budget for the month and compare with actual result.

Actual results for the month showed that 78,400 kg. of material were used and
70,400 labour hours were recorded.

Question 10

Rotadi Ltd. is currently operating at 75% of its capacity. In the past twe years, the
levels of operations were 55% and 65% respectively. Presently, the production is
75,000 units. The compaiy 13 planning for 85% capacity level during 20X3-20X4.
The cost details are as follows:

Particulars

55% (Rs.)

65% (Rs.)

75% (Rs.)

Direct Material

11,006,000

13,600,000

15,00,000

Direct Labour

5,500,000

8,500,000

7,560,000

Factory Overheads

3,10,000

330,000

2,560,000

Selling and Distribution Overheuds

3,20,000

3,60,000

4,00,000

Administrative Overheads

1,60,000

1,60,000

1,60,000

Total

24,40,000

28,00,000

31,60,000

Profit is estimated @ 20% on sales.
The foliowing Increases in costs are expected during the year

Particulars

In perecentage

Direct Matericls

8

Direct Labour

5

Variable Factory Overkeads

5

Variable Selling Overheads

8

Fixed Factory Overheads

10

Fixed Selling Overheads

15

Administrative Overheads

10

Prepare flexible budget for the period 20X3-20X4 at 85% level of capacity Also
ascertain profit and cantribution.
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Question 11 HOMEWORK SUM Date:
Dadda Ltd. hus prepared budget for the coming year for its iwo products Bade
and Chote. :
Product Bade (Rs.) | Product Chote (Rs.)

Produetion & Sales unit 8,000 uniis 9,000 units

Raw material cost per unit | 60.00 42.00

Dirvect labour cost per unit | 30.00 18.00

Variable overhead per unit | 12,00 6.00

Fixed overhead per unit 8.00 4,00

Selling price per unit 120.00 78.00

After some marketing efforts, the sales quantity of the Product Bade& Chote can
be increased by 1,500 units and 500 units respectively but for this purpose the
variable overhead and fixed overhead will be increased by 10% and 5%

respectively for the both products.

You are requived to prepare flexible budget for both the products:

a) Before marketing efforts
h) Afrer marketing efforts.

Question 12

A department of Company Shakira attains sale of Rs. 6,00,000 at 80 per cent of
its normal capacity and its expenses are given below:

HOMEWORK SUM

‘Date:

(Rs.)
Administration eosts:
Office salaries 90,000
General expenses 2 per cent of sales
Depreciation 7,500
Rates & Taxes 8,750
Selling costs:
Salaries 8 per cent of'sales

Travelling expenses

2 per cent of sales

Sules office expenses

1 per cent of sales

General expenses

1 per cent of saies

Wages

15,000

Reni

1 per cent of sales

Cther expenses

4 per cent of sales

Draw up flexible administration, selling and distribution costs budget, operating

-

y

162
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ut 90 per cent, 100 per eent and 110 per cent of normal capacity.

Quegtion 13 HOMEWORK SUM Date; |
Vasooii Ltd, specialized in menufacturing of piston rings for motor vehlicle. it has ||
prepared budget for 8,000 units per annum at budgeted cost of Rs. 21,64,400 as
detailed below:
] (Rs.) (Rs.)
Fixed cost (Munufaeturing) 2,28,000
I Variahle costs:
Power 18,000
Repairs, ete. 16,000
Other variable cost 6,400
Direct material 8,16,000
Direct lubour 12,80,000 19,36,400
21,645,400

Considering the possible impact on sales turnover by market trends, the
company decides to prepare flexibie budget with a production target of 4,000
and 8,000 units. On behalf of the company you are required to prepare a flexinle
budget for production levels at 50% and 75%

Assuming the selling price per unit is maintained at Rs. 400 as at present,
indicate the effect on net profit. Administration, selling and distribution

overheads continue at Rs. 72,000

Question 14  HOMEWORK SUM Date:
The cost accountant of manufacturing company provides you the following
details for current year:

(Rs.) (Rs.)
Direet materials 1,75,000 | Other variahle costs| 80,000
Direct Wages 1,00,000 |  Other fixed costs 80,000
Fixed factory overheads | 1,00,000 Profit 1,15,000
Variable factory 1,00,000 Sales 750,000
During the year, the company manufactured two products A and B and the output
A B
Output (units) 2,00,000 | 1,00,000
Selling price per unit Rs.2.00 R3.3.50
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Rs.0.75
Rs.0.50

R8.0.50
Rs.0.25

Direct materials per unit
Direct wages per unit

Variable factory overhead is absorbed as a percentage of direct wages. Other
varigbie cosis have been computed as: Product A Rs. 0.25 per unit; and 8 Rs. 0.30

per unit.
During next year, it is expected that the demand for product A will fall by 25 %
and for B by 50%. It is decided to manufacture a further product C, the cost for

which are estimated as follows:

Product C
2,00,000
Rs.1.75
Rs.0.40
Rs.0.25

Qutput (units)

Selling price per unit
Direct materials per unit
Direct wages per unit

it Is anticipated that the other variable costs per unit wili be the same as for

product A.
Prepare a budget to present to the management, showing the current position
and the position for next year. Comment on the comparative resulis.

— S ———

| Question 15

| Mastani & Co Is engaged in the manufacture of specialized sub-assembiies
required for certain electronic equipments. The company estimates that in the
. forthcoming month, December, 20X2, the sales will take a pattern in the ratio of
| 3:4:2 respectively of sub-assemblies, ACB, MCB und DP.
The following is the schedule of components required for manufacture:
Component requirements
Selling price | Base board

ICog| IC12

Sub- assembly

ACB

520

1

8

4

MCB

500

1

2

10

bp

350

1

2

4

| Purchase price(Rs.) 80 20 12
The direct labour time and variable overheads requrred for each of the sub-
assemblies are:

Labour hours per sub-assembly
Grade | @rade | Variable overhead per sub-
assembly (Rs.)_
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ACB : 36

MCB 24

DP 24

Direct wuge rate per -
hour (Rs.)

The labours work 8 hours a day for 25 days a month. The apening stocks of sub-

assemblies and companents for December, 20X2 are as under:

Sub-assemblies Components

ACB 8200 Buse Board 1,600

MCE 1,200 1C08 1,200

DP 2800 C12 6,000

IC26 4,000

Fixed overhead amount to Rs. 7,57,200 for the month and a monthly profit target

of Rs. 12 lacs has been set.

The company is eager for o reduction of closing inventories for December, 20X2

of sub-ussemblies and components by 10% of quantity as compared to the

opening stock. Prepare the following hudgets for December 2012

(iy Sales budget in guantity and value.

(i) Production budget in quantity

(iif) Component usage hudget in quantity.

(iv) Component purchase budget in quantity and velue.

(v) Manpower budget showing the number of workers and the amount of
wages payable.

|
|

,. Quesiion_IB
| Hasmukh Limited is presently operating at 50% capacity and producing: 30000
units. The entire output Is sold at a price of Rs. 200 per unit. The cast structure
at the 50% level of activity is as under:

Particulars Amount (Rs.)
Direct Material 75 per unit
Direct Wages 25 per unit
Variable Overheads 25 per unit
Direet Expenses 15 per unit
Factory Expenses (25% fixed) 20 per unit
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{. _-éé“ing and Distribution Exp. (80% variable) 10 per unit
’! Office and Administrative Exp. (100% fixed) 5 per unit
|
|

‘ The company anticipates that the variable costs will go up by 10% and fixed

- costs will go up by 15%,

. You are required to prepare an Expense budget, on the basis of marginal cost
for the company at 50% and 60% leve! of activity and find out the profits at

respective ieveis.

i:: Question 17

| Lootera Ltd. manufactures two products using two types of materials and one
. grade of labour. Shown below is an extract from the company's working papers
| for the next month's hudget: -

| Product A | Product B
| | Budgeted sales (in units) 2,400 3,600

- | Budgeted materiul consumption per unit (in kgj:

| | Material-X | 5 3

| Material-¥ _ ] 4 6

| | Standard labour hours aliewed per unit of 3 5

| roduct |

Material-X and Material-Y cost Rs. 4 and Rs. 6 per kg and labours are paid Rs.
‘ 25 per hour. Overtime premium is 50% and is payable, if @ worker works for
| more than 40 hours a week. There are 180 direct workers.
| The target productivity ratio (or efficiency ratio) for the productive hours
worked by the direct workers in actually manufacturing the products is 80%. In
addition the non-productive dewn-time is budgeted at 20% of the productive
' hours worked.
There are four 5-days weeks in the budgeted period and it is anticipated that
| sales and production will oceur evenly throughout the whaole period.
It is anticipated that stock at the beginning of the period will be:

1 Product-A 400 units

| Produet-3 200 units

I Muaterial-X 1,000 Ry
| Material-Y 500 kg

I’ The anticipated closing stecks for budget period are as below:
| Product-A 4 days sules

| Product-B 5 days sales
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Muterial-X 10 days consumption
Muaterial-Y 6 days congsumption

Required:
Calculate the Material Purchase Budget and the wages Budget for the workers,
showing the quantities and values, for the next month,

Question 18

Gubhar glass Manufacturing Campany requires you to present the Master
hudget for the next year from the following information:

Sales :

Toughened Glass Rs.6,00,000

Bent Glass R8.2,00,000

Direct material cost 60% of sales

Direct wages 20 workers @ Rs. 150 per month

Factory overheads :

Indirect labour -

Works manager Rs.500 per month

Foreman Rs.400 per month

Stores and spares ‘ 2.5% on saies

Depreciation on machinery Rs. 12,600

Light and power ' Rs.3.000

Repairs and maintenance Rs.8,000

Others sundries 10% on direct wages

Administration, selling and distribution Rs.36,000 per year
expenses

Question 19 HOMEWORK SUM Date:
Hutiva Manufacturers normally produce 8,000 units of their product in a month,
in their Machine Shop. For the month of January, they had planned for a
production of 10,000 units. Owing to a sudden cancellation of a contract in the
middle of January, they could only praduce 8,000 units in January

indirect manufacturing costs are carefully planned and monitored in the
Machine Shop and the Foreman of the shop is paid & 10% of the savings as
honus when in any month the indirect manufueturing cost incurred is less than
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the budgeted provision. The Foreman hag put in a claim that he should be paid a

bonus of Rs. 88.50 for the month of January. The Works Manager wonders how
anyone can claim a bonus when the Company has lost a sizeable contract. The
relevant figures are as under:

Indirect Expenses for g Plunned for | Actual in costs
manufucturing normal month January January
(Rs) (Rs) (Rs)
Salary of foreman | 1,000 1,000 1,000
indirect labour 720 900 600
Indirect material 800 1,000 700
 Repairs & 800 650 800
Muaintenance
Power 800 875 740
Tools consumed 320 400 300
Rates and taxes 150 150 150
Depreciation 800 8C0 800
~ Insurance 100 100 100
Total 5,290 5,875 4,990

Do you agree with the Works Manager? Is the Foreman entitled to any bonus for

the performance in January? Substantiate your answer with fucts and figures.

" Quesﬂon 20

Gaitonde Limited has prepared its expense budget for 20,000 units in its factory
for the year 2017 as detuiled below:

HOMEWORK SUM

- Date:

Particulars (Rs per unit)
Direct Materials 50

Direct Labour 20

Variahle Overhead 15

Direct expenses 6

Selling Expenses (20% fixed) 15

Factory Expenses (100% {ixed) 7
Administration expenses (100% fixed) | 4
Distribution expenses (85% variable) | 12

Total 128

Prepare an expense budget for the production of 15,000 units and 18,000 units.

N

J 168
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Question 21 "~ HOMEWORK SUM " Date:

Tequila Motor Vehicle manufacturer has prepared sales budget for the next few
months, and the following draft figures are availeble:

Month No. of vehicles
Octoher 4,000
November 3,500
December 4,500
January 8,000
February 6,500

To manufacture g vehicle a standord cost of Rs. 2,85,700 is incurred and sold
through dealers at an uniform selling price of Rs. 3,85,600 to customers. Dealers
are paid 12.5% commission on selling price or sale of a vehicle,

Apart from other materials four urits of Part-X are requived to manufacture a
vehicle. it is a policy of the company to hold stocks of Part-X at the end of the
| each month to cover 40% of next month's production. 4,800 units of Part-X are
in stock! as on 1st October
| || There are 950 nos. of completed vehicles are in stock as on 1st October and it is
policy to have stacks at the end of each monih to cover 20% of the next month's
|

|

|

[

sales

You are reguired to

a) Prepare Production budget (in nos.) for the month of October, November,
December and January

(b) Prepare e Purchase budget for Part-X (in units) for the months of
October, November and December

(c) Caleulate the budgeted gross profit for the quarter Qctober ta December.

I —————————————————————————————————————————————————— e —————————

Question 22
A company ig at present working at 80% of its capacity and producing 13,500

Units per annum. It operates a flexible budgetary control system. The
following. Flgures are obtained from its budget:

(90%) {100%)
{Rs.) (Rs.)
Sales 15,00,000 16,00,000

Fixed expenses_ k 3,00,500 3,00,600”
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| ;

| | Semi-fixed expenses 97,500 1,00,500
| | variable expenses 1,45,000 1,49,500
| | units made 13,500 15,000

Labour and material costs per unit are constant under present conditions.
| Profit margin is 10%

() You are required to determine the differential cost of producing 1,500

| Units by increasing capacity to 100%.

(i) What would you recommend for an export price for these 1,500 units if
overseas prices are much lower that indigenous prices?

Solution 22

Sales at 0% capacity utilization 15,00,000
Less: Profits (10%) 1,50,000
Cost of goods sold 13,50,000
Less: Expenses (fixed, semi-fixed and variable) 5,43,000
Cost of materials and labour 8,07,000

Therefore, cost of materials and labour at 100% capacity utiization
= 8,07,000 X 100/90 = Rs.8,98,667
Differential cost analysis will be as follows : '

;ffapacfry utilization
80 % 100%

Production (units) 13,500 15,000
Materials and Labour 8,07,000 8,96,667 |
Variable expenses 1,45,000 1,48,500
Semi-variable expenses 9?,500 1,00,500

Fixed expenses 3,00,500 3,00,600

Total cost 13,50,000 14,47,267

(a)Differential cost = 14,47,267 - 13,50,000 = Rs.97,267
(b)Minimum price for export = 97,267/1,500 = Rs.64.84 per unit
At this price there is no addition to revenue. Any price above Rs.64.84 per unit

170
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may he accepted. A price below this may be considered, if other benefits
(i.e,0ther Than meve sales and revenue ) are likely to accrue. It is assumed that
ho capital investment is necessary and no export charges have to be incurred
nd that the export price will have no effect on the home market where the
product will continue to be sold at the old price, it is also assumed that
necessary precautions have been tuken to ensure that the product Is not

“dumped” hack.

i| Question 23 ;
|| As a Cost and Management Accountant of MJK Ltd., prepare a Sales Overhead |
Budget for the months of Junuary, February and March from the estimates |
given helow:
Expenses per moath: Rs.
Advertisement 2,500
Salaries of the Sales Department 5,000
Expenses of the Sales Department 1,500
Counter Salesmen’s Salaries and Dearness Allowance 6,000
Commission Salesmen’s Salaries and Dearness Allowance 8,000
Commission te counter salésmen @ 1% on their sales. Travelling salesmen’s
Commission @ 10% an theif sales and expenses @ 5% on their sales.
The sules during the period were estimated as under”

Manth Counter Sales (Rs.) | Trovelling Sulesmen Sales (Rs.)

January 80,000 10,000

February 1,20,000 15,000
March 1,40,G00 20,000
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Solution 23
Sales Overhead Budget (for the period ending...)

Estimated Sales {Rs.) 90,000 ' 135,000 1,60,000
Fixed Overhead :

Advertising

Sularies of sules department

Expenses of Sales department

Counter salesman Salaries and

Dearness Allowaneces

Variahle Overhead:

Counter Salesman Commission @

1% on Sales

Traveling Salesman Commission @

10%

Expenses

Total Saies Overhead
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CMA FOUNDATION
July 2023 Results

[PXi TOP SCORER

Divya K. 92 Aryal. 84 Ram
FarhinP. 92 KeshavS. 84 swetK.
Madhur 92 Harshad 84 Ai0KkP.

Nadia 88 Akhilesh g4 :
Shaista 88 Aaysha 84 Krishna

Adithya 88 Atharva 84 :\(;’m“
Rutuja gg Harshita 84 Manyd
Vaibhav g8 Bhavesh 84 Riya
Bhavana g6 Nitish 84 ANDMANY
Rik g6 GovindB. 84 MORE-
Prerna 86 Sana 82

Firdous g6 Zaid 82

) A 86 Shalini 82

Rishabh 86 soumik 82

Anuj 86 somyadeep 82

Mo,
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CMA FOUNDATION

July 2023 Results
MATHS o) ged0] {3}

Rahul D. 92 Keshav 78 AlokP.
ManyaK. 88 Bhavna 76 souravk.
Bhavesh 88 Shaista 76 Vadgama
sanyaK. gg Harshita 76 Komal C. 66

AyushP. 84 Vaibhav 76 .. .
Deepika 84 Divya 74 \s,::nltgab. gg
Kotni S. 82 Sameer 74 NuPurS. 66

- Anjali G. 66
Madhur 80 Farhin 72
Nadia 80 Ritik K. 72 SwetK. 64

AayshaK. 80 Misbah 72 SNDMANY _
Prerna 80 Rik 72 ;ﬁ
Aryal. 78 Somyadeep 72 -
Vicky S. 78 Riya 70 .-o
Adithya 78 Rutuja 70
Rishabh 78 Bhavana 68

Atharva 82 Sameer 74

i : -y
® Exclusive For CMA ! ® 8007777042/ 8007777043
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CMA FOUNDATION
July 2023 Results

ECO & MANAGEMENT ol gledel1{d

Ritik K. 94 Jyoti 86 Ritik
Nadia 94 Aaysha 86 Anirudh

Vicky 94 Ayush 86 Anushka
Anchal g2 Archi 86

Harshita 92 Sana 84
Manya 92 Aman 84

Priya
Aman

: Siafat
Srikant 90 Sourav 84 §
Bhavna 90 Dhwani 82 Siddharth
Rutuja 88 Jagdish 82 Priyanka
Deepika 88 Adithya 82 RVOMANY
Soumyadip 88 Vaibhav 82
Farhin 88 Alok 82
Suman gg Karan 82 -
Radhika 88 Anshh 82 iy

PinkyP. 86 Sunny 82 _;
Riya 86 Vicky 82 & |

I

1 i
& Exclusive For CMA ! ® 8007777042/ 8007777043




CMA FOUNDATION

July 2023 Results
ACCOUNTS el B-Jolo] {] .

Chaithaya 100 Nitish 80 Adithya
Atharva 88 :q:sh 78 Harshita
Ayush 88, SUi 78  Rutuja
Firdous gg Manya 78 Aryaj
Archi 86 Jagdish 78 _ ...

Dhwani 86 Aaysha 78 Abdul

Madhur 86 Rimpi 76 Zaid
Shaista 84 Khushi 76 <9I
Bhavesh 84 Shashwat 76 S'/mran
Rahul 84 Anushya 76 ANDMANY mg
Rishabh 82 Harshit 76 MORE- f
Abhishek 82 Narayan 76

Manisha g2 HariDarsan 74

Nadia 82 Vadgama 74

Rishabh 82 yyoti 74

Sanya 80 Prerna 74

® Exclusive For CMA ! ®8007777042/ 8007777043
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3 i , “' 4
. . l ] ‘ ;f . ;ﬂ
wiy “" - ;

RAHUL S. VISHALS. BHAVANIS, YASH oanLE ABHISHEK G. KIRTI PATRA

64 MARKS 64 MARKS 64 MARKS 63 MARKS 63 MARKS 63 MARKS

ih‘ P f‘i [?

EUCHIKA RA‘I’HI VANSHII&A A. SONIYA C. KANNIKA G. SHWE‘I‘.& GURAV
62 MARKS 61 MARKS 61MARKS 60 MARKS 60 MARKS
and many more ...
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“success usually comes to those who Are too busy looking for It.”
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SONIYA C. VAIDIK SAHANE DIYA PERIMGEEL LAKKIMSETTY BHAVANI SURVI ASHISH MISHRA TULSI JHA

78 MARKS 72 MARKS 70 MARKS 68 MARKS 63 MARKS 67 MARKS 67 MARKS

HiRAL MANKAD 'I'AMINI C BHARGAVI NIKHIL P. oM OARWATKAR SATYAM KUMAR ROUNAK J.

67 MARKS 67 MARKS 66 MARKS 66 MARKS 85 MARKS 65 MARKS 84 MARKS
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SHIFA SHIAKH TANNU JHA RITESH PAWAR VEDANT M. KRISHNA K. ZAINAB

64 MARKS 64 MARKS 63 MARKS 63 MARKS 62 MARKS 62 MARKS

OIS -

MIRYALA VIKAS NATRANJAN ZUVERIYA H. KANNIKA G. TAPAS M.

61MARKS 60 MARKS  BOMARKS  GOMARKS 60 MARKS
and many more...

H#AAC = CMA

“Success usually comes to those who Are too busy looking for It.”
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KESHAV SHARMA SANKET G, ANJU YADAV RUCHI KAMTHE HARSH DARJI SWATI VAISHNAVY

68 MARKS 68 MARKS 66 MARKS 66 MARKS 65 MARKS 65 MARKS

0

ANANYA RAO YASHAN SINGLA LUV SINGH TAHER KAYDA JAYMFIRODIYA

64 MARKS 63 MARKS 83 MARKS 61 MARKS 60 MARKS
and many more ...
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“Success usually comes to those who Are too busy looking for It.”
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